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KOg; gjpg;GupikAilaJ

f.ngh.j. (rh.ju)g; guPl;ir - 2016 Mk; Mz;bYk; mjd; gpd;dUk; elhj;jg;gLk; guPl;irfSf;fhd 

tpdhj;jhs; fl;likg;Gk; Kd;khjpup tpdhf;fSk;

,yq;ifg; guPl;irj; jpizf;fsk;

Kjw; gjpg;G - 2016

Ma;T mgptpUj;jpf; fpis

Njrpa kjpg;gPl;bw;Fk; guPl;rpj;jYf;Fkhd Nrit

,yq;if guPl;irj; jpizf;fsk;

epjp mDruiz

vjpu;fhy mwpit ikakhff; nfhz;L ghlrhiy fy;tpKiwikia 

khw;wpaikf;Fk; nraw;wpl;lk; (TSEP-WP)

gjpg;G : ,yq;if guPl;irj; jpizf;fsk;
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guPl;ir Mizahsu; ehafj;jpd; nra;jp

	 mwpT kpf;f r%fj;jpDs; mwpthdJ kpfTk; tpiuthf khw;wkiltJld;> G+Nfhs 

kakhf;fypd; %yk; me;j khw;wkhdJ vkJ ehl;bDs;Sk; mt;thNw gue;J tUfpd;wJ. 

mk;khw;wj;ij vjpu;fhy re;jjpapdUf;Fg; ngw;Wf; nfhLg;gjw;fhf ghlrhiyf; fiyj;jpl;lj;jpNy 

fhyj;jpd; Njitf;Nfw;g khw;wk; nra;ag;gl Ntz;bAs;sJ.

	 ghlrhiyf; fiyj;jpl;lkhdJ fy;tp mikr;R> Njrpa fy;tp Mizf;FO kw;Wk; Njrpa 

fy;tp epWtdfj;jpdJ rpghuprpd; mbg;gilapy; 2015 Mk; Mz;bypUe;J ,ilepiy juq;fspy; (6-

11) ghlj;jpl;lk; jpUj;jg;gl;Ls;sJ. mt;thW jpUj;jg;gl;l ghlj;jpl;lj;jpw;fika ,Wjp kjpg;gPl;L 

KiwAk; khw;wkilaTs;sJ. mjw;;fika 2016 Mk; Mz;Lk; mjd; gpd;dUk; eilngwTs;s 

f.ngh.j (rh.ju)g; guPl;irapNy rpy ghlq;fSf;fhd tpdhj;jhs; fl;likg;gpy; rpw;rpy khw;wq;fs; 

nra;ag;gl;Ls;sd. me;j khw;wq;fs; cs;slf;fg;gl;l tpdhj;jhs; fl;likg;Gk;> Kd;khjpup 

tpdhj;jhs;fSk; cs;slf;fg;gl;Lj; jahupf;fg;gl;Ls;s ,f; ife;E}y; vjpu;fhyj;jpy; guPl;irf;Fj; 

Njhw;wTs;s guPl;rhu;j;jpfSf;F kpfTk; JizGuptjhf mikAk;.

	 ,e;j mwpTiug;G E}ypd; gFjp I ,y; guPl;ir gw;wpa nghJj;jfty;fSk; gFjp II ,y; 
xt;nthU ghlj;Jf;FKupa tpdhj;jhs;fspd; fl;likg;Gk; jd;ikAk; gFjp III ,y; xt;nthU 
ghlq;fSf;Fkhd tpdhj;jhs;fspy; cs;slf;fg;gl;Ls;s gy;NtW tifahd Kd;khjpup 

tpdhf;fs; cs;slf;fg;gl;Ls;sd. tpdhj;jhs; fl;likg;G khw;wkile;j ghlq;fSf;Fk; Gjpjhf 

mwpKfg;gLj;jg;gl;l ghlq;fSf;Fk; khj;jpuNk Kd;khjpup tpdhj;jhs;fs; cs;slf;fg;gl;Ls;sd. 

,jd; %yk; 2016 Mk; Mz;Lk; mjd; gpd;dUk; eilngwTs;s f.ngh.j (rh.ju)g; 

guPl;irapd; tpdhj;jhs; njhlu;ghff; $ba tpsf;fj;ijg; ngw;Wf;nfhs;s KbAk;. mjw;Nfw;g 

mjpgu;fSk; me;je;jg; ghlq;fisf; fw;gpf;Fk; Mrpupau;fSk; jkJ khztu;fisg; guPl;irf;F 

Maj;jg;gLj;Jk;NghJ ,J kpfj; JizGuptjhf mikAk; vd vjpu;ghu;f;fpd;Nwd;.

	 ,q;F cs;slf;fg;gl;Ls;s tpdhj;jhs; fl;likg;G> Kd;khjpup tpdhj;jhs;fs; 

vd;gtw;iwj; jahupf;Fk;NghJ xj;Jiog;ig ey;fpa fy;tpaikr;rpd; nrayhsu; cl;gl 

gjtpepiy mYtyu;fSf;;Fk; Njrpa fy;tp epWtfj;jpd; gzpg;ghsu; ehafk; cs;spl;l gjtpepiy 

mYtyu;fSf;;Fk; fy;tp ntspaPl;Lj; jpizf;fs Mizahsu; ehafk; cl;gl gjtpepiy 

mYtyu;fSf;;Fk; Kd;khjpup tpdhj;jhs;fisj; jahupg;gjw;F xj;Jiog;G ey;fpa gy;fiyf;fof 

Nguhrpupau;fSf;Fk; tpupTiuahsu;fSf;Fk; Mrpupau;fSf;Fk; Vida tsthsu;fSf;Fk; 

,yq;if guPl;irj; jpizf;fs Ma;T mgptpUj;jpf; fpis gjtpepiy mYtyfu;fSf;;Fk; 

nraw;FOtpdUf;Fk; mr;rfjpgjp cs;spl;l nraw;FOtpdUf;Fk; ,g;gzpia nrt;tNd epiwT 

nra;tjw;F epjp mDruiz toq;fpa vjpu;fhy mwpit ikakhff; nfhz;L ghlrhiyf; 

fy;tpKiwikia khw;wpaikf;Fk; nraw;wpl;lj;jpw;Fk; (TSEP-WB) vdJ kdkhu;e;j ed;wpiaj; 
njuptpj;Jf; nfhs;fpd;Nwd;.

								        lgps;A+.vk;.vd;.N[. G~;gFkhu

								        guPl;ir Mizahsu; ehafk;

2016.05.04

,yq;if guPl;irj; jpizf;fsk;.
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topfhl;ly; 	 :	 lgps;A.vk;.vd;.N[. G~;gFkhu 

		  guPl;ir Mizahsu; ehafk;

newpg;gLj;jYk; xOq;fikg;Gk; 	 :	 fahj;up mNgFzNrfu 	

		  guPl;ir Mizahsu; 

		  (Ma;T mgptpUj;jp)

,izg;ghf;fk; 	 :	 kNdhkp nrndtpuj;d	

		  cjtpg; guPl;ir Mizahsu;

		  (Ma;T mgptpUj;jp) 

cjtp ,izg;ghf;fk; 	 :	 <. FyNrfu	

		  guPl;ir Mizahsu;

		  (rhd;wpjo; fpis)

		  Gj;jpfh ngNuuh	

		  gpujpg; guPl;ir Mizahsu;

		  (Ma;T mgptpUj;jp)

		  `rd;jh FWg;G	

		  cjtpg; guPl;ir Mizahsu;

		  (Ma;T mgptpUj;jp)

		  yrpf;f rkuNfhd;	

		  cjtpg; guPl;ir Mizahsu;

		  (Ma;T mgptpUj;jp)

		  nry;tp. espdp MyhyRe;juk;	

		  gpujpg; guPl;ir Mizahsu;

		  (rhd;wpjo; fpis)

		  v];. gpuztjhrd;	

		  cjtpg; guPl;ir Mizahsu;

		  (,ufrpa fpis - epWtdk;rhu; guPl;irfs;)

		  [PtuhzpGdpjh

		  cjtpg; guPl;ir Mizahsu;

		  (ghlrhiyg; guPl;irfs; xOq;fikg;G)

		  jpUkjp.uP. ghyrpq;fk;	

		  cjtpg; guPl;ir Mizahsu;

		  Xa;T epiy

fzpdp gf;f tbtikg;G 	 :	 nry;tp. v];. w`Pdh `h~pk;	

		  fzpdp juTg; gjpthsu;

	 :	 nry;tp. fhQ;rdh Rg;ukzpak;	

		  fzpdp juTg; gjpthsu;

Kfg;G ml;il tbtikg;G 	 :	 jpUkjp. rhfupfh mDuhjp	

		  mgptpUj;jp mYtyu;
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gFjp I
fy;tpg; nghJj; juhjug; gj;jpu (rhjhuz ju)g; guPl;ir

1. 	 guPl;ir njhlu;ghd nghJj; jfty;fs; :

1.1 	 mwpKfk; :

	 ghlrhiyf; fy;tpapNy KjyhtJ jilahf mikAk; fy;tpg; nghJj; juhju (rh.ju)g; guPl;irf;F 

Mz;L NjhWk; mz;zsthf 600> 000 guPl;rhu;j;jpfs; Njhw;Wfpd;wdu;. 11 Mz;L fhy ghlrhiyf; 

fy;tpapd; ,Wjpapy; elhj;jg;gLk; ,g;guPl;ir ghl uPjpahd xU nghJg; guPl;irahFk;. ,g;guPl;ir 

10 Mk; 11 Mk; ju ghlj;jpl;lj;jpd; mbg;gilapy;  eilngWtJld; 2015 Mk; Mz;bypUe;J 

mKyhf;fg;gl;Ls;s Gjpa ghlj;jpl;lj;jpdbg;gilapy; elhj;jg;gLk; KjyhtJ guPl;ir 2016 Mk; 

Mz;L bnrk;gu; khjk; eilngWk;. ,g;guPl;ir rpq;fsk;> jkpo;> Mq;fpyk; Mfpa Kk;nkhopfspYk; 

eilngWk;. ,U nkhopfspy; fy;tp fw;Fk; ghlrhiyg; guPl;rhu;j;jpfSf;Fr; nry;YgbahFk;. guPl;ir 

rl;ljpl;lq;fs; njhlu;ghd tpsf;fk; 1.4 ge;jpapy; jug;gl;Ls;sJ.

1.2 	 guPl;irf;F tpz;zg;gpj;jy; :

	 fy;tp mikr;rpdhy; Vw;Wf;nfhs;sg;gl;l mbg;gilj; jifikfisg; G+uzg;gLj;jp ,j; 

jpizf;fsj;jpy; gjpT nra;Js;s ghlrhiyfspy; juk; 11 ,d; ,Wjp tiu fy;tp fw;Ws;s khztu;fs; 

,g;guPl;irf;F ghlrhiyg; guPl;rhu;j;jpfshff; fUjg;gLtu;. mt;thW gjpT nra;Js;s> fl;lzk; 

mwtpLk; jdpahu; ghlrhiyfspypUe;J Njhw;Wk; guPl;rhu;j;jpfs; jtpu;e;j Vida ghlrhiyfspypUe;J 

Kjyhk; ,uz;lhk; jlitahfj; Njhw;Wk; guPl;rhu;j;jpfs; jdpg;gl;l guPl;rhu;j;jpfshff; fUjg;gLtu;. 

mtu;fs; guPl;irf; fl;lzk; nrYj;j Ntz;Lk;. ghlrhiy khztuhf ,Uf;Fk;NghNj jdpg;gl;l 

guPl;rhu;j;jpfshfg; guPl;irf;F tpz;zg;gpg;Nghupd; guPl;ir jil nra;ag;gLk;.

1.3	 ghlq;fisj; Nju;e;njLj;jy; :

	 fy;tp mikr;rpdhy; ntspaplg;gl;Ls;s ,y 2006/09 ck;  2006.03.07 jpfjpAk; nfhz;l ',ilepiy 

juq;fspy; (6-11) Gjpa fiyj; jpl;lj;ij mKy;gLj;jy;" vDk; Rw;WepUgj;;jpw;Fk; mjpy; 

jpUj;jq;fisr; Nru;g;gjw;fhf ntspaplg;gl;l gpd;tUk; Rw;WepUgq;fSf;F mika f.ngh.j (rh.ju)

g; guPl;ir eilngWk;.

* 	 ',ilepiyj; juq;fspy; (6-11) Gjpa fiyj; jpl;lj;ij mKy;gLj;jy;" ,q;F ntspaplg;gl;Ls;s

	 2007/06 ck;  2007.03.07 Mk; jpfjpAk; nfhz;l Rw;WepUgk; 

	 2008/12 ck;  2008.04.21 Mk; jpfjpAk; nfhz;l Rw;WepUgk; 

	 2008/12 (i) ck;  2008.09.15 Mk; jpfjpAk; nfhz;l Rw;WepUgk;

* 	 '2015 Mk; Mz;bypUe;J nfhupad;> rPd nkhop> kw;Wk; u~pad; nkhop ,ilepiyj; juq;fshfpa 

(10-11) ,w;F mwpKfg;gLj;jg;gl;Ls;sJ" ,q;F ntspaplg;gl;Ls;s

	 10/2015 ck;  2015.03.12 Mk; jpfjpAk; nfhz;l Rw;WepUgk; 

* 	 ',ilepiyf; fiyj; jpl;l kWrPuikg;G 2015 ,ypUe;J" ,q;F ntspaplg;gl;Ls;s
	 16/2014 ck;  2014.05.16 Mk; jpfjpAk; nfhz;l Rw;WepUgk; 

	 (i)/16/2014/ ck;  2016.04.01 Mk; jpfjpAk; nfhz;l Rw;WepUgk;

	 Nkw;Fwpj;j Rw;WepUgq;fSf;Nfw;g f.ngh.j (rh.ju)g; guPl;irf;Fj; Njhw;Wk; ghlrhiyg; 

guPl;rhu;j;jpnahUtu; Gjpa fiyj;jpl;lj;jpd; mbg;gilapy; vy;yh khztu;fSk; fw;f Ntz;ba 

6 ghlq;fSk; %d;W njhFjpfshfj; njhFf;fg;gl;Ls;s ghlj; njhFjpfs; xt;nthd;wpypUe;Jk; 

xU ghltPjk; %d;W ghlq;fSkhf nkhj;jk; 9 ghlq;fSf;Fj; Njhw;w Ntz;Lk;. mg;ghlq;fs; 

gpd;tUkhW.

1.3.1 	vy;yh khztu;fSk; fw;f Ntz;ba ghlq;fs; :

	 1.	 rkak; (ngsj;jk; / irtnewp / fj;Njhypf;f rkak; / fpwp];jtk; / ,];yhk;)

	 2.	 rpq;fs nkhopAk; ,yf;fpaKk; / jkpo; nkhopAk; ,yf;fpaKk;

	 3.	 fzpjk;

	 4.	 Mq;fpyk;

	 5.	 tuyhW

	 6.	 tpQ;Qhdk;
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1.3.2	Kjyhk; ghlj; njhFjp :

	 1.	 Gtpapay;

	 2.	 Fbapaw; fy;tp

	 3.	 Kaw;rpahz;ikf; fw;if

4.	 gz;ila nkhopfSk; etPd nkhopfSk; (ghsp / rk;];fpUjk; / gpnuQ;R / N[u;kd; / 
	 p̀e;jp 	/ [g;ghd; / muG / nfhupad;  / rPd nkhop / u~pad;)

	 5.	 ,uz;lhk; nkhopahf (rpq;fsk; / jkpo;)
	 6. 	tzpfKk; fzf;fPl;Lf; fy;tpAk;

1.3.3	,uz;lhk; ghlj; njhFjp :

	 1. 	rq;fPjk; (fPioj;Nja / Nkiyj;Nja / fu;ehlfk;)
	 2.	 rpj;jpuk;

	 3.	 eldk; (RNjr / gujk;)
	 4.	 ehlfKk; muq;fpaYk; (rpq;fsk; / jkpo; / Mq;fpyk;)

	 5.	 *   ,yf;fpa eak; (rpq;fsk; / jkpo; / Mq;fpyk; / muG)

		  *   ,J mofpay; ghlkhff; fUjg;gl khl;lhJ.

1.3.4	%d;whk; ghlj; njhFjp :

	 1.	 jfty; njhlu;ghly; njhopDl;tpay;

	 2.	 tptrhaKk; czTj; njhopDl;gtpaYk;

	 3.	 ePUapupdtsj; njhopDl;gtpay;

	 4.	 Ez;fiy

	 5.	 kidg; nghUspay;

	 6.	 RfhjhuKk; clw;fy;tpAk;

	 7.	 njhlu;ghly; kw;Wk; Clff; fw;if 

	 8.	 tbtikg;Gk; epUkhzj; njhopDl;gtpaYk; 

	 9.	 tbtikg;Gk; ,ae;jpuj; njhopDl;gtpaYk; 

	 10.	tbtikg;Gk; kpd;> ,yj;jpudpay; njhopDl;gtpaYk;

	 11.	kpd; Mtzg;gLj;jYk; RUf;nfOj;Jk; (rpq;fsk;)

	 12.	kpd; Mtzg;gLj;jYk; RUf;nfOj;Jk; (jkpo;)

	 13.	kpd; Mtzg;gLj;jYk; RUf;nfOj;Jk; (Mq;fpyk;)

ftdpf;f Ntz;bait :

* 	 ghlq;fisj; Nju;e;njLf;Fk;NghJ jha;nkhopg; ghlq;fs; ,uz;bDs; xU ghlj;ij khj;jpuNk 

Nju;e;njLf;f KbAk;. Kjyhk; ghlj; njhFjpg; ghlnkhd;whf ,uz;lhk; nkhopiaj; 

Nju;e;njLf;Fk;NghJ nkhopg; ghlj;jpw;Fupa ,uz;lhk; nkhopia njupT nra;a KbahJ. 

	

	 c-k; : rpq;fs nkhop%yk; guPl;irf;Fj; Njhw;Wk; guPl;rhu;j;jp ,uz;lhk; nkhopahf rpq;fs 

nkhopiaj; Nju;e;njLf;f KbahJ.

*	 tpz;zg;gq;fs; Vw;Wf; nfhs;sg;gl;l gpd; tpz;zg;gpj;j ghlq;fis khw;w ,lkspf;fg;gl 

khl;lhJ.

1.3.5	ghlq;fSk; ghl vz;fSk; :

	 Fwpj;j ghlq;fspd; gl;baYk; ghl vz;fSk; fPNo jug;gl;Ls;sd. guPl;irf;F 

tpz;zg;gpf;Fk;NghJ milg;gpDs; jug;gl;Ls;s ghl ,yf;fj;ijNa gd;gLj;j Ntz;Lk;.

vy;yh khztu;fSk; fw;f Ntz;ba ghlq;fs;

•	 rkak;

	 (11)	 ngsj;jk;

	 (12)	 irtnewp	

	 (14)	 fj;Njhypf;f rkak;

	 (15)	 fpwp];jtk;

	 (16)	 ,];yhk;

•	 nkhopAk; ,yf;fpaKk;

	 (21)	 rpq;fs nkhopAk; ,yf;fpaKk;

	 (22)	 jkpo; nkhopAk; ,yf;fpaKk;
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•	 (31)	 Mq;fpyk;

•	 (32)	 fzpjk;

•	 (33)	 tuyhW

•	 (34)	 tpQ;Qhdk;

•	 Kjyhk; ghlj; njhFjp

	 (60)	 tzpfKk; fzf;fPl;Lf; fy;tpAk;

	 (61)	 Gtpapay;

	 (62)	 Fbapaw; fy;tp

	 (63)	 Kaw;rpahz;ikf; fw;if

	 (64)	 ,uz;lhk; nkhop - (rpq;fsk;)

	 (65)	 ,uz;lhk; nkhop - (jkpo;)

	 (66) 	ghsp

	 (67)	 rk;];fpUjk;

	 (68)	 gpnuQ;R

	 (69)	 N[u;kd;

	 (70)	 `pe;jp

	 (71)	 [g;ghd;

	 (72)	 muG

	 (73)	 nfhupad;

	 (74)	 rPdnkhop

	 (75)	 u~pad;

•	 ,uz;lhk; ghlj; njhFjp

	 (40)	 rq;fPjk; (fPioj; Nja)

	 (41)	 rq;fPjk; (Nkiyj; Nja)

	 (42)	 rq;fPjk; (fu;ehlfk;)

	 (43)	 rpj;jpuk;

	 (44)	 eldk; (RNjr)

	 (45)	 eldk; (gujk;)

	 (46)	 ,yf;fpa eak; Mq;fpyk;

	 (47)	 ,yf;fpa eak; rpq;fsk;

	 (48)	 ,yf;fpa eak; jkpo;

	 (49)	 ,yf;fpa eak; muG

	 (50)	 ehlfKk; muq;fpaYk; (rpq;fsk;)

	 (51)	 ehlfKk; muq;fpaYk; (jkpo;)

	 (52)	 ehlfKk; muq;fpaYk; (Mq;fpyk;)

•	 %d;whk; ghlj; njhFjp

	 (80)	 jfty; njhlu;ghly; njhopDl;gtpay;

	 (81)	 tptrhaKk; czTj; njhopDl;gtpaYk;

	 (82)	 ePUapupdtsj; njhopDl;gtpay;

	 (84)	 Ez;fiy

	 (85)	 kidg; nghUspay;

	 (86)	 RfhjhuKk; clw;fy;tpAk;

	 (87)	 njhlu;ghly; Clff; fw;if 

	 (88)	 tbtikg;Gk; epUkhzj; njhopDl;gtpaYk; 

	 (89)	 tbtikg;Gk; ,ae;jpuj; njhopDl;gtpaYk; 

	 (90)	 tbtikg;Gk; kpd;> ,yj;jpudpay; njhopDl;gtpaYk;

	 (92)	 kpd; Mtzg;gLj;jYk; RUf;nfOj;Jk; (rpq;fsk;)

	 (93)	 kpd; Mtzg;gLj;jYk; RUf;nfOj;Jk; (jkpo;)

	 (94)	 kpd; Mtzg;gLj;jYk; RUf;nfOj;Jk; (Mq;fpyk;)
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1.4	 ,U nkhopfs; %yk; Njhw;Wjy; - ghlrhiy tpz;zg;gjhupfs; :

	 ,U nkhopfs; %yk; Njhw;Wk; ghlrhiy tpz;zg;gjhupfSf;F fy;tp mikr;rpdhy; 2008/12 
ck;  2008.04.21 Mk; jpfjpAk; nfhz;l ',ilepiy juq;fspy; (6-11) Gjpa fiyj; jpl;lj;ij 

mKy;gLj;jy;"> 2008/12 (i) ck;  2008.09.15 Mk; jpfjpAk; nfhz;l ',ilepiy juq;fspy; (6-11) 

Gjpa fiyj; jpl;lj;ij mKy;gLj;jy;"fSf;fhd Rw;wwpf;if nry;YgbahFk;.

	 ,jw;fika ghlrhiy tpz;zg;gjhupfs; gpd;tUk; ghlq;fSf;F khj;jpuk; Mq;fpy nkhopapk; 

Njhw;w KbAk;.

	 fl;lha njupTnra;a Ntz;ba ghlq;fspd; fPo;

		  i.  	 fzpjk;

		  ii.   	 tpQ;Qhdk;

	 njhFjpg; ghlq;fspd; 

		  i.	 Gtpapay;

		  ii.   	 Fbapaw; fy;tp

		  iii. 	 Kaw;rpahz;ikf; fw;if

		  iv.  	 rq;fPjk; (Nkiyj;Nja)

		  v.   	 jfty; njhlu;ghly; njhopDl;gtpay;

		  vi.  	 RfhjhuKk; clw;fy;tpAk;

		  vii.	 tzpfKk; fzf;fPl;Lf; fy;tpAk;

	 fl;lha ghlq;fSs; NkNy Fwpg;gplg;gl;l 2 ghlq;fSf;Fk; njhFjpg; ghlq;fspd; fPo; jug;gl;Ls;s 

xU njhFjpapypUe;J xU ghlk; tPjk; 03 ghlq;fSf;Fk;> Mff;$Ljyhf 05 ghlq;fSf;F khj;jpuk; 

Mq;fpy nkhop%yk; Njhw;Wtjw;F tpz;zg;gpf;fyhk;. ghlrhiy tpz;zg;gjhupfs; ghlrhiyapy; rpy 

ghlq;fis Mq;fpy nkhop%yk; fw;w NghjpYk;> f.ngh.j (rh.ju)g; guPl;irf;F tpz;zg;gpf;Fk;NghJ 

khztdpd; tpUg;gj;jpw;Nfw;g mjw;F Fiwe;j vz;zpifapyhd ghlq;fSf;fhapDk; Mq;fpy 

nkhop%yk; tpz;zg;gpf;fyhk;. ,jw;Nfw;g guPl;ir tpz;zg;gg;gbtj;ij epug;Gk;NghJ xt;nthU 

ghlj;jpw;Fk; Njhw;Wk; nkhopia ntt;Ntwhff; Fwpg;gpl Ntz;Lk;. tpz;zg;gk; Vw;Wf; nfhz;ljd; 

gpd;du; vf;fhuzq; nfhz;Lk; ghlq;fspd; nkhopfis khw;w ,lk; mspf;fg;glkhl;lhJ.

1.5	 Msilahsk; (milahs ml;il) :

	 guPl;irf;Fj; Njhw;Wk; guPl;rhu;j;jpfs; ghlj;jpw;Fj; Njhw;Wk; xt;nthU re;ju;g;gj;jpYk; jkJ 

Msilahsj;ij cWjpg;gLj;j gpd;tUk; milahs ml;ilfSs; xd;iwr; rku;g;gpj;jy; Ntz;Lk;. 

	 i.  	Ml;fisg; gjpT nra;Ak; jpizf;fsj;jpdhy; toq;fg;gl;l Njrpa milahs ml;il

	 ii.   	nry;YgbahFk; ntspehl;L gaz mDkjpg;gj;jpuk;

	 guPl;irf;F Kd;dNu Msilahs ml;iliag; ngw;Wf; nfhLf;f vy;yh mjpgu;fSk; eltbf;if 

Nkw;nfhs;s Ntz;Lk;. jdpg;gl;l guPl;rhu;j;jpfSf;F Msilahs ml;il / ntspehl;L gaz 

mDkjpg; gj;jpuk; Vw;Wf; nfhs;sg;gLk;.

1.6	 tpz;zg;gg; gbtk; :

	 ghlrhiy tpz;zg;gjhupfs; jkJ ghlrhiy mjpg&lhf tpz;zg;gpf;f Ntz;Lk;. tpz;zg;gj;jpy; 

Fwpg;gplg;gl;Ls;s vy;yhj; jfty;fSk; rupahditAk; cz;ikahditAk; vd tpz;zg;gg; 

gbtk; mDg;g Kd; tpz;zg;gjhup %yk; mjpgu; cWjpg;gLj;jpf; nfhs;s Ntz;Lk;. tpz;zg;gg; 

gbtq;fspy; gpioahd jfty;fs; jug;gl;bUf;Fkhapd; mtw;iwj; jpUj;Jtjw;fhf mjpgu; my;yJ 

mtupd; mjpfhuk; ngw;w gpujpepjp xUtiu ,t; mYtyfj;jpw;F miof;f NeupLk;. jdpg;gl;l 

tpz;zg;gjhupfs; gj;jpupif mwptpj;jYf;Nfw;g tpz;zg;gg;gbtj;ijj; jahupj;J mDg;g Ntz;Lk;.
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1.7	 mDkjpg; gj;jpuk; :

	 ghlrhiy tpz;zg;gjhupfs; njhlu;ghf Fwpj;j ghlrhiy mjpgUf;Fk; jdpg;gl;l tpz;zg;gjhupfs; 

njhlu;ghf mtu;fs; tpz;zg;gg;gbtj;jpy; Fwpg;gplg;gl;Ls;s Kftupf;Fk; guPl;ir Muk;gkhtjw;F 

,uz;L thuq;fSf;F Kd;du; mDkjpg; gj;jpuq;fs; jghy; %yk; mDg;gp itf;fg;gLk;.

	 ghlrhiy tpz;zg;gjhupfspd; mDkjpg;gj;jpuq;fs; ghlrhiyf;F fpilj;jTld; mjpy; fzpdpahy; 

gjpf;fg;gl;Ls;s tplaq;fisr; rupghu;f;FkhW tpz;zg;gjhupfSf;F mwpTWj;jy; Ntz;Lk;. 

mDkjpg;gj;jpuj;jpYs;s jfty;fspy; VNjDk; khw;wq;fs; nra;aj; Njitahapd; ghlrhiy 

tpz;zg;gjhupfs; njhlu;ghf Fwpj;j mjpgUk;> jdpg;gl;l tpz;zg;gjhupfs; njhlu;gpy; Fwpj;j 

tpz;zg;gjhupAk; mJgw;wp cldbahf ,yq;if guPl;irj; jpizf;fsj;jpd; ghlrhiy guPl;irfs; 

kw;Wk; xOq;fikg;G fpisf;F mwptpf;f Ntz;Lk;. jpUj;jq;fs; Muk;g tpz;zg;gg; gbtj;jpw;Nfw;gNt 

nra;ag;gLk;.

1.8	 guPl;ir rl;ljpl;lq;fs; :

	 guPl;irfs; Mizahsu; ehafj;jpdhy; guPl;irfs; njhlu;ghf ntspaplg;gl;Ls;s rl;ljpl;lq;fSk; 

,ilapilNa ntspaplg;gLk; rl;ljpl;lq;fSk; ,g; guPl;irapd; rfy tplaq;fs; njhlu;ghfTk; 

nry;YgbahFk;.

1.9	 ghu;itf; FiwghL / Nfl;ly; FiwghL / NtW tpNrl NjitfisAila tpz;zg;gjhupfs; :

	 ghlrhiynahd;wpypUe;J ghu;itf; FiwghLila / Nfl;ly; FiwghLila / NtW tpNrl 

NjitfisAila tpz;zg;gjhupfs; guPl;irf;Fj; Njhw;Wthu;fshapd; mtu;fSf;fhf jdpahdnjhU 

tpz;zg;gg;gbtk; jahupf;f Ntz;Lk;. mjd; ,lJ gf;f Nky; %iyapy; 'ghu;itf; FiwghLila 

/ Nfl;ly; FiwghLila / NtW tpNrl NjitfisAila tpz;zg;gjhupfs;" vd rptg;G 

ikapdhy; njspthfj; njupAk;gb vOjg;gl Ntz;Lk;. mt;thNw jdpg;gl;l tpz;zg;gjhupfSk; 

jkJ tpz;zg;gbtj;jpy; Fwpg;gpl Ntz;Lk;. mt;thwhd tpz;zg;gjhupfSf;F ,uj;kyhid FUlu; 

ghlrhiy / jq;fhiy FUlu; nrtplu; tpNrl guPl;ir epiyak; kw;Wk; NtW nghUj;jkhd 

guPl;ir epiyaq;fs; mikf;fg;gLk;. mt;thwhd guPl;ir epiyaq;fSf;Fr; nry;y vjpu;ghu;f;fg;gLk; 

tpz;zg;gjhupfs; njhlu;ghf tpNrl Ntz;LNfhs; tpLtpf;fg;gl Ntz;Lk;.

1.10	 juj;ijj; jPu;khdpj;jy; :

	 ngWNgWfis ntspapLk;NghJ tpz;zg;gjhupfs; ngw;Wf; nfhz;l Gs;spfspd; mbg;gilapy; 

gpd;tUkhW juq;fs; toq;fg;gLk;.

	

Gs;sp tPr;R juk;

75   -   100
65   -     74
50   -     64
35   -     49
00   -     34

A
B
C
S
W

Distinction
Very good Pass
Credit Pass
Ordinary Pass
Weak

-

-

-

-

-

tpNrl jpwikr; rpj;jp

mjp jpwikr; rpj;jp

jpwikr; rpj;jp

rhjhuz rpj;jp

gytPdk;

1.11	 ghlrhiy kl;lf; fzpg;gPl;L Ntiyj;jpl;lk; :

	 ghlrhiy kl;lf; fzpg;gPl;L Ntiyj;jpl;lj;jpd;gb ngWk; Nju;r;rp kl;lq;fs; f.ngh.j (rh.ju)g; 

ngWNgw;W ml;ltizapy; jdpahd epuypy; gpd;tUk; tpjj;jpy; cs;slf;fg;gLk;.

	

ghlrhiy kl;lf; 

fzpg;gPL
Nju;r;rp kl;lk;

9, 10
8

6, 7
4, 5

1, 2, 3

mjp cau; Nju;r;rp kl;lk;

cau; Nju;r;rp kl;lk;

jpwikr; Nju;r;rp kl;lk;

mz;kpj;j Nju;r;rp kl;lk;

Nju;r;rp kl;lk; milag;gltpy;iy

-
-
-
-
-

(Excellent Level Competency)
(Higher Level Competency)
(Credit Level Competency)
(Near Competency)
(Not reached to Competency Level)
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gFjp II 

f.ngh.j. (rh.ju)g; guPl;ir 2016 Mk; Mz;bYk; mjd; gpd;dUk; eilngwTs;s guPl;irf;fhd 

tpdhj;jhs; fl;likg;G

 
fl;lha ghlq;fs; 

ghlKk; ghl vz;Zk;

tpdhj;jhs; ˚ tpdhj;jhs; ˚˚

N
e
uk
; 

(k
z
pj
;j
pa
hy

k
;)

* 
t
pd
hf
;f
s
pd
; 
j
z
;i
k

t
pi
l
a
s
pf
;f
 

N
t
z
;b
a
 
t
pd
hf
;f
s
pd
; 

v
z
;z
pf
;i
f
 

t
pd
hj
;j
hs

; 
˚ 
,
w
;f
hd

 

G
s
;s
pf
s
;

N
e
uk
; 
(k
z
pj
;j
pa
hy

k
;) tpilaspf;f Ntz;ba tpdhf;fspd; 

vz;zpf;ifAk; mtw;wpd; jd;ikAk;

t
pd
hj
;j
hs

; 
˚˚
 ,
w
;f
hd

 

G
s
;s
pf
s
;

fl;lhakhdJ njupT nra;af;$baJ

v
z
;z
pf
;i
f
 

*j
d
;i
k

G
s
;s
p

v
z
;z
pf
;i
f
 

*j
d
;i
k

G
s
;s
p

11 ngsj;jk; 1 1 40 40 2 1 2 20 4/6 3 40 60

12 irtnewp 1 1 40 40 2 2 2,3 30 3/5 3 30 60

14 fj;Njhypf;f rkak; 1 1 40 40 2 1 2 20 4/6 3 40 60

15 fpwp];jtk; 1 1 40 40 2 1 2 20 4/6 3 40 60

16 ,];yhk; 1 1 40 40 2 1 2 20 4/6 3 40 60

21 rpq;fs nkhopAk; ,yf;fpaKk; 1 1 40 40 2 5 3,4,5 80 80

22 jkpo; nkhopAk; ,yf;fpaKk; 1 1 40 40 2 5 3,4,5 80 80

31 Mq;fpy nkhop 1 1,2,5 8 40 2 8 2,5 60 60

32 fzpjk; 2 2,3 25 + 5 100 3 5/6 + 5/6 # 2, 3 100 100

33 tuyhW 1 1 40 80 3 1 2,3 30 4/6 + 1/2 3,4 90 120

34 tpQ;Qhdk; 1 1 40 80 3 4 3 60 3/5 3,4 60 120

ghlKk; ghl vz;Zk;

tpdhj;jhs; ˚˚˚

N
e
uk
; 

(k
z
pj
;j
pa
hy

k
;) tpilaspf;f Ntz;ba tpdhf;fspd; vz;zpf;ifAk; mtw;wpd; 

jd;ikAk;
tpdhj;jhs; 

˚˚˚ ,w;fhd 
Gs;spfs;

fl;lhakhdJ njupT nra;af;$baJ

vz;zpf;if *jd;ik Gs;sp vz;zpf;if *jd;ik Gs;sp

21 rpq;fs nkhopAk; ,yf;fpaKk; 02 4 2,3,4 70 1/3 5 10 80

22 jkpo; nkhopAk; ,yf;fpaKk; 02 4 2,3,4 70 1/3 5 10 80

				  
				    * tpdh tiffs;
	 1.	 gy;Nju;T tif 	 4.	 gFjp fl;likg;G tif

	 2.	 NtW Gwtakhd	 5.	 fl;Liu tif

	 3.	 fl;likg;G tif	 6.	 nra;Kiw tif

                            #  fl;likf;fg;glhj tpdhf;fSk; cz;L.
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f.ngh.j. (rh.ju)g; guPl;ir 2016 Mk; Mz;bYk; mjd; gpd;dUk; eilngwTs;s guPl;irf;fhd 

tpdhj;jhs; fl;likg;G

KjyhtJ njhFjpg; ghlq;fs;	

ghlKk; ghl vz;Zk;

tpdhj;jhs; ˚ tpdhj;jhs; ˚˚

N
e
uk
; 

(k
z
pj
;j
pa
hy

k
;)

* 
t
pd
hf
;f
s
pd
; 

j
z
;i
k

t
pi
l
a
s
pf
;f
 

N
t
z
;b
a
 
t
pd
hf
;f
s
pd
; 

v
z
;z
pf
;i
f
 

t
pd
hj
;j
hs

; 
˚ 
,
w
;f
hd

 

G
s
;s
pf
s
;

N
e
uk
; 

(k
z
pj
;j
pa
hy

k
;)

tpilaspf;f Ntz;ba tpdhf;fspd; 

vz;zpf;ifAk; mtw;wpd; jd;ikAk;

t
pd
hj
;j
hs

; 
˚˚
 ,
w
;f
hd

 

G
s
;s
pf
s
;

fl;lhakhdJ njupT nra;af;$baJ

v
z
;z
pf
;i
f
 

*j
d
;i
k

G
s
;s
p

v
z
;z
pf
;i
f
 

*j
d
;i
k

G
s
;s
p

60  tzpfKk; fzf;fPl;Lf; fy;tpAk; 1 1 40 40 2 1 2 20 2/3 + 2/3 3 40 60

61  Gtpapay; 1 1,2 40 40 2 1 2 20 4/7 3 40 60

62 Fbapaw; fy;tp 1 1 40 40 02 1 2 20 4/6 3 40 60

63 Kaw;rpahz;ikf; fw;if 1 1 40 40 2 1 2 20 4/6 3 40 60

64 ,uz;lhk; nkhop rpq;fsk; 1 1 40 40 2 2 5 30 ½ + ½ 3,5 30 60

65 ,uz;lhk; nkhop jkpo; 1 1 40 40 2 2 5 30 ½ + ½ 3,5 30 60

gz;il nkhopfSk; etPd nkhopfSk; (xU tpdhj;jhs; khj;jpuk;)

ghlKk; ghl vz;Zk;

N
e
uk
; 

(k
z
pj
;j
pa
hy

k
;) tpilaspf;f Ntz;ba tpdhf;fspd; vz;zpf;ifAk; mtw;wpd; 

jd;ikAk;

tpdhj;jhs;fhd 

nkhj;jg; Gs;spfs;
fl;lhakhdJ njupT nra;af;$baJ

vz;zpf;if *jd;ik Gs;sp vz;zpf;if *jd;ik Gs;sp

66 ghsp 03 07 1, 2, 3 100 100

67 rk;];fpUjk; 03 2 1, 2, 3 40 3/5 2, 3, 5 100 100

68 gpnuQ;R 03 4 1, 3, 5 80 2/4 2 20 100

69 N[u;kd; 03 3 1, 2 70 2/4 3 30 100

70 `pe;jp 03 3 1, 2 40 3/5 3, 5 60 100

71 [g;ghd; 03 2 1 40 3/5 2, 3, 5 60 100

72 muG 03 3 1,5 60 2/4 3, 5 40 100

73 nfhupad; 03 3 1, 3, 5 60 2/4 3, 5 40 100

74 rPd nkhop 03 3 1, 5 60 2/4 3, 5 40 100

75 u~pad; 03 3 1, 5 70 2/4 3, 5 30 100

				    * tpdh tiffs;
	 1.	 gy;Nju;T tif 	 4.	 gFjp fl;likg;G tif

	 2.	 NtW Gwtakhd	 5.	 fl;Liu tif

	 3.	 fl;likg;G tif	 6.	 nra;Kiw tif
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f.ngh.j. (rh.ju)g; guPl;ir 2016 Mk; Mz;bYk; mjd; gpd;dUk; eilngwTs;s guPl;irf;fhd 

tpdhj;jhs; fl;likg;G

,uz;lhk; njhFjp ghlq;fs;

				  

ghlKk; ghl vz;Zk;

tpdhj;jhs; ˚ tpdhj;jhs; ˚˚

N
e
uk
; 
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z
pj
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k
;)

* 
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;f
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; 
j
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k
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N
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z
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t
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s
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; 

v
z
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f
 

t
pd
hj
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; 
˚ 
,
w
;f
hd

 

G
s
;s
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s
;

N
e
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;

 
(k
z
pj
;j
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k
;)

tpilaspf;f Ntz;ba tpdhf;fspd; 

vz;zpf;ifAk; mtw;wpd; jd;ikAk;

t
pd
hj
;j
hs

; 
˚˚
 ,
w
;f
hd

 

G
s
;s
pf
s
;

fl;lhakhdJ njupT nra;af;$baJ

v
z
;z
pf
;i
f
 

*j
d
;i
k

G
s
;s
p

v
z
;z
pf
;i
f
 

*j
d
;i
k

G
s
;s
p

40 rq;fPjk; (fPioj;Nja) 1 1 40 40 2 1 2 12 4/6 3 48 60

41 rq;fPjk; (Nkiyj;Nja) 1 1 40 40 2 1 2 12 2/3 + 2/3 3 48 60

42 rq;fPjk; (fu;ehlfk;) 1 1 40 40 2 1 2 12 4/6 3 48 60

43 rpj;jpuk; 1 1,2 40 40 2 1 6 30 30

44 eldk; (Njrpa) 1 1 40 40 2 1 2 12 4/6 3 48 60

45 eldk; (gujk;) 1 1 40 40 2 1 2 12 4/6 3 48 60

46 ,yf;fpa eak; Mq;fpyk; ** 3 1 3 40 4/14 5 60 100

47 ,yf;fpa eak; rpq;fsk; ** 3 3 3,5 70 2/4 5 30 100

48 ,yf;fpa eak; jkpo; ** 3 3 3,5 70 2/4 5 30 100

49 ,yf;fpa eak; muG ** 3 3 3,5 70 2/4 5 30 100

50 ehlfKk; muq;fpaYk; (rpq;fsk;) 1 1 40 40 2 1 2 12 4/6 3 48 60

51 ehlfKk; muq;fpaYk; (jkpo;) 1 1 40 40 2 1 2 12 4/6 3 48 60

52 ehlfKk; muq;fpaYk; (Mq;fpyk;) 1 1 40 40 2 1 2 12 4/6 3 48 60

	

ghlKk; ghl vz;Zk;

tpdhj;jhs; ˚˚˚

Neuk; 

(kzpj;jpahyk;)

tpilaspf;f Ntz;ba tpdhf;fspd; vz;zpf;ifAk; mtw;wpd; 

jd;ikAk; tpdhj;jhs; 

˚˚˚ ,w;fhd 
Gs;spfs;

fl;lhakhdJ njupT nra;af;$baJ

vz;zpf;if *jd;ik Gs;sp vz;zpf;if *jd;ik Gs;sp

43 rpj;jpuk; 03 1/12 6 30 30

				    * tpdh tiffs;
	 1.	 gy;Nju;T tif 	 4.	 gFjp fl;likg;G tif

	 2.	 NtW Gwtakhd	 5.	 fl;Liu tif

	 3.	 fl;likg;G tif	 6.	 nra;Kiw tif

                            ** xU tpdhj;jhs; khj;jpuk;	
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f.ngh.j. (rh.ju)g; guPl;ir 2016 Mk; Mz;bYk; mjd; gpd;dUk; eilngwTs;s guPl;irf;fhd 

tpdhj;jhs; fl;likg;G

%d;whk; njhFjpg; ghlq;fs;

ghlKk; ghl vz;Zk;

tpdhj;jhs; ˚ tpdhj;jhs; ˚˚
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tpilaspf;f Ntz;ba 

tpdhf;fspd; vz;zpf;ifAk; 

mtw;wpd; jd;ikAk;

t
pd
hj
;j
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; 
˚˚
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hd
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fl;lhakhdJ 
njupT 

nra;af;$baJ
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v
z
;z
pf
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d
;i
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G
s
;s
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80  jfty; njhlu;ghly; njhopDl;gtpay; 1 1 40 40 2 1 2 20 4/6 3 40 60

81  tptrhaKk; czTj; njhopDl;gtpay; 1 1 40 40 2 1 2 20 4/6 3 40 60

82  ePUapupdtsj; njhopDl;gtpay; 1 1 40 40 2 1 2 20 4/6 3 40 60

84  Ez;fiy 1 1 40 40 2 1 2 20 4/6 3 40 60

85  kidg; nghUspay;  1 1 40 40 2 1 2 20 4/6 3 40 60

86  RfhjhuKk; clw;fy;tpAk; 1 1 40 40 2 1 2 20 4/6 3 40 60

87  njhlu;ghly; Clff; fw;if 1 1 40 40 2 1 2 20 4/6 3 40 60

88  tbtikg;Gk; epUkhzj; njhopDl;gtpaYk; 1 1 40 40 2 1 3 20 4/6 3 40 60

89  tbtikg;Gk; ,ae;jpuj; njhopDl;gtpaYk; 1 1 40 40 2 1 3 20 4/6 3 40 60

90  tbtikg;Gk; kpd;> ,yj;jpudpay; njhopDl;gtpaYk; 1 1 40 40 2 1 3 20 4/6 3 40 60

92  kpd; Mtzg;gLj;jYk; RUf;nfOj;Jk; (rpq;fsk;) 1 1 40 40 2 1 2 20 4/6 3 40 60

93  kpd; Mtzg;gLj;jYk; RUf;nfOj;Jk; (jkpo;) 1 1 40 40 2 1 2 20 4/6 3 40 60

94  kpd; Mtzg;gLj;jYk; RUf;nfOj;Jk; (Mq;fpyk;) 1 1 40 40 2 1 2 20 4/6 3 40 60
 

				    * tpdh tiffs;
	 1.	 gy;Nju;T tif 	 4.	 gFjp fl;likg;G tif

	 2.	 NtW Gwtakhd	 5.	 fl;Liu tif

	 3.	 fl;likg;G tif	 6.	 nra;Kiw tif
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gFjp III

Kd; khjpup tpdhf;fs;

		  jw;NghJ khztupd; militf; kjpg;gpLtjw;fhf ikag;gLj;jg;gl;l guPl;ir Kiwapy; 

Kf;fpakhf fl;Liur; NrhjidfSk; Gwtar; NrhjidfSk; gad;gLj;jg;gLfpd;wd. vdpDk; 

fl;Liur; Nrhjidfspy; fhzg;gLfpd;w rpy FiwghLfs; fhuzkhf guPl;irj; JiwhadJ 

gbg;gbahf fl;Liu NrhjidfspypUe;J  Gwtakhd guPl;irfs; my;yJ fl;likg;G tpdhf;fshf 

khwpAs;sd. tpilj; jhs;fis Gs;spapLk;NghJ xj;j jd;ikiag; Ngz KbAkhifahy; 

kjpg;gPl;bd;NghJ Gwtakhd NrhjidfSf;F Kf;fpaj;Jtk; mspf;fg;gLfpd;wJ.

		  Nkw;Fwpg;gpl;Ls;s fhuzq;fspdhy; f.ngh.j (rh.ju)g; guPl;irapd;NghJ Gwtakhd 

tpdhf;fisj; jahupf;ifapy; $ba ftdk; nrYj;jg;gLfpd;wJ. tpdhj;jhs;fisj; jahupf;Fk;NghJ 

mwpit khj;jpuk; mbg;gilahff; nfhs;shJ mjdpYk; mg;ghy; nrd;W cau; cs Mw;wy;fis 

mstpLk; tifapyhd tpdhf;fSk; jahupf;fg;gLfpd;wd.

		  fw;wy; - fw;gpj;jy; fzpg;gPl;L nraw;ghLfs; tFg;giwapy; eilKiwg;gLj;jg;gLfpd;wikahy; 

tpdhj;jhs;fisj; jahupf;Fk;NghJ ,it gw;wp ftdk; nrYj;jp khztupd; mgptpUj;jpaile;j 

Nju;r;rp kl;lq;fisAk; Ez;zwptpd; $Wfshd fpufpj;jy;> gpuNahfpj;jy;> gFj;jy;> njhFj;jy;> 

kjpg;gPL Nghd;w cau; cs Mw;wy;fs; tpUj;jpaile;Js;sikia mstpLk; tifapYk; tpdhf;fisj; 

jahupf;fg;gLk; tpdhf;fspy; $ba ftdk; nrYj;jg;gLfpd;wJ. ngUk;ghYk; nra;Kiwia 

mbg;gilahff; nfhz;L jahupf;fg;gLfpd;w ,t;tpdhf;fspy; gpur;rpid jPu;j;jy;> ju;f;fpj;jy;> 

nkhopahs;if fUj;Jf;fisj; njspthf ntsptply; Nghd;w Mw;wy;fs; mstplg;gLfpd;wd. 

Kf;fpakhfg; ghlj; Nju;r;rpfis mgptpUj;jp nra;tjd; %yk;> rpe;jpf;Fk; Mw;wYk; r%f Mw;wYk; 

tpUj;jpaile;Js;sdthntd;W mstplTk; $ba mstpyhd tpdhf;fs; jahupf;fg;gLfpd;wd.

		  ,jw;Nfw;g gFjp III ,y;> Gjpa fiyj;jpl;lj;jpd; vy;yhg; ghlq;fspdJk; tpdhj;jhs;fspd; 
fl;likg;G> Gs;sp toq;Fk; KiwapYk; cs;slq;FtJld; jw;NghJ eilKiwg;gLj;jg;gLk; 

tpdhj;jhspd; fl;likg;gpy; jpUj;jk; nra;ag;gl;Ls;s Gjpjhf mwpKfQ;nra;ag;gl;Ls;s ghlq;fSf;Fk; 

khj;jpuk; Kd;khjpup tpdhj;jhs; cs;slf;fg;gl;bUg;gJld; mit xU khjpup tpdhj;jhs; my;y. 

vdNt tpdhj;jhs; jahupf;Fk;NghJ tpdhf;fspy; cs;slq;fpAs;s cggFjpfspd; vz;zpf;if> 

Gs;spfs; xJf;fg;gl;Ls;s tpjk; Mfpad tpdhf;fs; jahupf;Fk;NghJ mbg;gilahff; nfhz;L 

ghlg;gFjpf;Fk; re;ju;g;gj;jpw;Fk; Vw;g NtWgLk;.

		  ,q;F Fwpg;gplg;gl;Ls;s Kd;khjpup tpdhf;fSf;F Nkyjpfkhf Gwtar; Nrhjidfs;> 

fl;Liur; Nrhjidfs; Mfpatw;Wf;fhfg; gad;gLj;jg;gLfpd;w gf;fk; 11 ,y; jug;gl;Ls;s tpdh 

tiffs; cl;gl NtW tif tpdhf;fisAk; f.ngh.j (rh.ju) tpdhj;jhs;fspy; Nru;f;f guPl;ir 

Mizahsu; ehafj;jpw;F cupik cz;L.
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Gwta Nrhjidfs; (Objective Test)

toq;fy; tif

(Supply Type)
njupjy; tif

(Selection Type)

,UNju;T tif

(Two AlternativeType)
,izf;Fk; tif

(Matching Type)
gy;Nju;T tif

(MCQ Type)

tpdh tif - (Question Type)

kpfr;rpwe;j tpil tif - (Best Answer Type)

vjpu;kiwahd tif - (Negative Type)

nghJ tpil tif - (Common Response Type)

Nrhb nrhw;nwhlu; tif - (Double Statement Type)

Kbtw;w $w;W tif - (In complete Type)

gy tpil tif - (Multiple Response Type)

$l;L Jyq;fy; tif - (Combined Response Type)

gpujpaPl;L tif - (Substitution Type)

$w;Wk; fhuzKk; tif - (Assertion & Reason Type)

fl;Liu Nrhjidfs; (Essay Tests)

fl;Liutif tpdhf;fs;

(Essay Type Questions)
fl;likg;Gf; fl;Liutif tpdhf;fs;

(Structured Essay Type Questions)

%ba Jyq;fs;

tif

(Controlled Questions 
Type)

toq;Fk; 

jfty; %yk; 

fl;likf;Fk; 

tif

nray;Kiw 

fl;likf;Fk; 

tif

khjpup %yk; 

fl;likf;Fk; 

tif

jpwe;j Jyq;fy; 

tif

(Open Resonse Type)

f. Nt 	: 	NkNy Fwpg;gplg;gl;Ls;s tpdh tiffs; gw;wpa tpguq;fs; ,yq;ifg; guPl;irj;  

jpizf;fsj;jpdhy; ntspaplg;gl;Ls;s ,y NETS/RD/OL/01 ck; 2001.06.04 Mk; jpfjpiaAKila  

f.ngh.j (rh.ju)g; guPl;ir 2001 ,Yk; mjd; gpd;dUk; elhj;jg;gLk; guPl;irfSf;fhd mwpTWj;jy; 

vDk; ifNal;by; mlq;fpAs;sd.
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fl;lha ghlq;fs;

12 	 - 	 irtnewp

14 	 - 	 fj;Njhypf;f rkak;

15 	 -	 fpwp];jtk;

16 	 - 	 ,];yhk;

22 	 - 	 jkpo; nkhopAk; ,yf;fpaKk;

31 	 - 	 Mq;fpy nkhopAk; ,yf;fpaKk;

32 	 - 	 fzpjk;

33 	 - 	 tuyhW 

34 	 - 	 tpQ;Qhdk;
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^12&  irtnewp

tpdhj;jhs; fl;likg;G

tpdhj;jhs; I	 -	 Neuk; :- 01 kzpj;jpahyk;			 

				   40 gy;Nju;T tpdhf;fs; nfhz;lJ.  vy;yh tpdhf;fSf;Fk; tpilaspj;jy; 

fl;lhakhFk;. xU tpdhTf;F 01 Gs;sp tPjk; nkhj;jg; Gs;spfs; 40 MFk;.

tpdhj;jhs; II	 -	 Neuk; :- 2 kzpj;jpahyq;fs;. nkhj;jg; Gs;spfs; 60 MFk;. 

				   Kjyhk;> ,uz;lhk; tpdhf;fs; fl;lhakhdit. Kjyhk; tpdh 10 FWtpil 

tpdhf;fisf; nfhz;lJ. xU tpdhtpw;F 02 Gs;spfs; tPjk; nkhj;jg; Gs;spfs; 

20 MFk;. ,uz;lhk; tpdh Njthuk;> nghopg;G vd;gd njhlu;ghd tpdhthFk;. 

mjw;fhd Gs;spfs; 10 MFk;. Vida fl;likg;G tif tpdhf;fs; 5 ,y; 3 ,w;F 

tpilaspf;f Ntz;Lk;.  7 Mk; tpdhTf;F ehd;F jiyg;Gfs; toq;fg;gLtJld; 

mjpy; ,uz;Lf;F rpW Fwpg;G vOjg;gly; Ntz;Lk;. xt;nthU tpdhTf;Fk; 10 

Gs;spfs; tPjk; nkhj;jg; Gs;spfs; 30 MFk;. 

,Wjpg; Gs;sp fzpj;jy;	: 	tpdhj;jhs; I		 = 	 40  
		  tpdhj;jhs; II	 = 	 60  
		  ,Wjpg; Gs;sp		 =        100

Muk;gj;jpypUe;j tpdhj;jhs; fl;likg;Gf;F mikaNt tpdhf;fs; jahupf;fg;gLk;. 7 Mk; tpdh 

khj;jpuk; gpd;tUkhW mikAk;.

7 MtJ tpdh njhlu;ghd khjpup tpdh

*	 gpd;tUk; jiyg;GfSs; ,uz;bw;F khj;jpuk; rpWFwpg;G vOJf.

i.	 kNfhw;rtk;

ii.	 rupiaj; njhz;Lfs;

iii.	 md;djhdk;

iv.	 tPl;by; irtk;					       	 (5 x 2 = 10 Gs;spfs;)
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^14&  fj;Njhypf;f rkak;

tpdhj;jhs; fl;likg;G

tpdhj;jhs; I - Neuk; :- 01 kzpj;jpahyk;   

    40 gy;Nju;T tpdhf;fs; nfhz;lJ. vy;yh tpdhf;fSf;Fk; tpilaspj;jy; 

fl;lhakhFk;. xU tpdhTf;F 01 Gs;sp tPjk; nkhj;jg; Gs;spfs; 40 MFk;.

tpdhj;jhs; II - Neuk; :- 2 kzpj;jpahyq;fs;. nkhj;jg; Gs;spfs; 60 MFk;.

    Kjyhk; tpdh fl;lhakhdJld; 10 gFjpfs; nfhz;l FWtpil tpdhf;fisf; 

nfhz;bUf;Fk;. xU gFjpf;F 02 Gs;spfs; tPjk; nkhj;jg; Gs;spfs; 20 MFk;. 

Vida fl;likg;G tif tpdhf;fs; 6 ,y; 4 ,w;F tpilaspf;f Ntz;Lk;.      

7 Mk; tpdhTf;F ehd;F jiyg;Gfs; toq;fg;gLtJld; mjpy; ,uz;Lf;F rpW 

Fwpg;G vOjg;gly; Ntz;Lk;. xt;nthU tpdhTf;Fk; 10 Gs;spfs; tPjk; nkhj;jg; 

Gs;spfs; 40 MFk;.

,Wjpg; Gs;sp fzpj;jy; :  tpdhj;jhs; I  =  40  
  tpdhj;jhs; II =  60  
  ,Wjpg; Gs;sp  =        100

 

Muk;gj;jpypUe;j tpdhj;jhs; fl;likg;Gf;F mikaNt tpdhf;fs; jahupf;fg;gLk;. 7 Mk; tpdh 

khj;jpuk; gpd;tUkhW mikAk;.

7 MtJ tpdh njhlu;ghd khjpup tpdh

* gpd;tUk; jiyg;GfSs; ,uz;bw;F khj;jpuk; rpWFwpg;G vOJf.

  i. jpUj;J+ju; gzp

  ii. tzf;fj;Jf;Fupa ahNfhNk nfhd;rhy;nt]; mbfshu;

  iii. Jwtw tho;f;if

  iv. kupad;id gf;jpapd; ,iwapay; gpd;dzp

  tpdhj;jhs; fl;likg;G

^14& fj;Njhypf;f rkak;

(5 x 2 = 10 Gs;spfs;)
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^15&  fpwp];jtk;

tpdhj;jhs; fl;likg;G

tpdhj;jhs; I - Neuk; :- 01 kzpj;jpahyk;   

    40 gy;Nju;T tpdhf;fs; nfhz;lJ. vy;yh tpdhf;fSf;Fk; tpilaspj;jy; 

fl;lhakhFk;. xU tpdhTf;F 01 Gs;sp tPjk; nkhj;jg; Gs;spfs; 40 MFk;.

tpdhj;jhs; II - Neuk; :- 2 kzpj;jpahyq;fs;. nkhj;jg; Gs;spfs; 60 MFk;.

    Kjyhk; tpdh fl;lhakhdJld; 10 gFjpfs; nfhz;l FWtpil tpdhf;fisf; 

nfhz;bUf;Fk;. xU gFjpf;F 02 Gs;spfs; tPjk; nkhj;jg; Gs;spfs; 20 MFk;. 

Vida fl;likg;G tif tpdhf;fs; 6 ,y; 4 ,w;F tpilaspf;f Ntz;Lk;.     

7 Mk; tpdhTf;F ehd;F jiyg;Gfs; toq;fg;gLtJld; mjpy; ,uz;Lf;F rpW 

Fwpg;G vOjg;gly; Ntz;Lk;. xt;nthU tpdhTf;Fk; 10 Gs;spfs; tPjk; nkhj;jg; 

Gs;spfs; 40 MFk;.

,Wjpg; Gs;sp fzpj;jy; :  tpdhj;jhs;  I =  40  
  tpdhj;jhs; II =  60  
  ,Wjpg; Gs;sp  =        100

Muk;gj;jpypUe;j tpdhj;jhs; fl;likg;Gf;F mikaNt tpdhf;fs; jahupf;fg;gLk;. 7 Mk; tpdh 

khj;jpuk; gpd;tUkhW mikAk;.

7 MtJ tpdh njhlu;ghd khjpup tpdh

* gpd;tUk; jiyg;GfSs; ,uz;bw;F khj;jpuk; rpWFwpg;G vOJf.

  i. nfj;rkzpj; Njhl;lj;jpy; NaRtpd; nrgk;

  ii. ey;y Mau;

  iii. ,iwaurpd; tsu;r;rp

  iv. Mjp fpwp];jt rigapd; Kd;khjpupif

  tpdhj;jhs; fl;likg;G

^15& fpwp];jtk;

(5 x 2 = 10 Gs;spfs;)
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^16& ,];yhk;

f.ngh.j. (rh.ju)g; guPl;ir - 2016 Mk; Mz;bYk; mjd; gpd;dUk;  eilngwTs;s guPl;irf;fhd tpdhj;jhs; fl;likg;G - fl;lha ghlq;fs;

- 15 -

^16&  ,];yhk;

tpdhj;jhs; fl;likg;G

tpdhj;jhs; I - Neuk; :- 01 kzpj;jpahyk;   

    40 gy;Nju;T tpdhf;fs; nfhz;lJ. vy;yh tpdhf;fSf;Fk; tpilaspj;jy; 

fl;lhakhFk;. xU tpdhTf;F 01 Gs;sp tPjk; nkhj;jg; Gs;spfs; 40 MFk;.

tpdhj;jhs; II - Neuk; :- 2 kzpj;jpahyq;fs;. nkhj;jg; Gs;spfs; 60 MFk;.

    Kjyhk; tpdh fl;lhakhdJld; 10 gFjpfs; nfhz;l FWtpil tpdhf;fisf; 

nfhz;bUf;Fk;. xU gFjpf;F 02 Gs;spfs; tPjk; nkhj;jg; Gs;spfs; 20 MFk;. 

Vida fl;likg;G tif tpdhf;fs; 6 ,y; 4 ,w;F tpilaspf;f Ntz;Lk;.     

7 Mk; tpdhTf;F ehd;F jiyg;Gfs; toq;fg;gLtJld; mjpy; ,uz;Lf;F rpW 

Fwpg;G vOjg;gly; Ntz;Lk;. xt;nthU tpdhTf;Fk; 10 Gs;spfs; tPjk; nkhj;jg; 

Gs;spfs; 40 MFk;.

,Wjpg; Gs;sp fzpj;jy; :  tpdhj;jhs; I  =  40  
  tpdhj;jhs; II =  60  
  ,Wjpg; Gs;sp  =        100

Muk;gj;jpypUe;j tpdhj;jhs; fl;likg;Gf;F mikaNt tpdhf;fs; jahupf;fg;gLk;. 7 Mk; tpdh 

khj;jpuk; gpd;tUkhW mikAk;.

7 MtJ tpdh njhlu;ghd khjpup tpdh

* gpd;tUk; jiyg;GfSs; ,uz;bw;F khj;jpuk; rpWFwpg;G vOJf.

  i. nfj;rkzpj; Njhl;lj;jpy; NaRtpd; nrgk;

  ii. ey;y Mau;

  iii. ,iwaurpd; tsu;r;rp

  iv. Mjp fpwp];jt rigapd; Kd;khjpupif

  tpdhj;jhs; fl;likg;G

(i)	 ,];yhk; ciog;Gf;F toq;fpAs;s Kf;fpaj;Jtk;

(ii)	 m[;dgp k`;ukp

(iii)	 <[hg; - fG+y;

(iv)	 fyPgh cku; (wop) mtu;fspd; gzpfs; (5 x 2 = 10 Gs;spfs;)
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^22&  jkpo; nkhopAk; ,yf;fpaKk; 

tpdhj;jhs; fl;likg;G

tpdhj;jhs; I - Neuk; :- 1 kzpj;jpahyk;

  40 gy;Nju;T tpdhf;fs; mlq;Fk;. vy;yh tpdhf;fSf;Fk; tpilaspj;jy; 

fl;lhakhFk;. xU tpdhTf;F 01 Gs;sp tPjk; nkhj;jg; Gs;spfs; 40 MFk;.

tpdhj;jhs; II - Neuk; 2 kzpj;jpahyk;. 5 tpdhf;fisf; nfhz;lJ. nkhj;jg; Gs;spfs; 80 MFk;.  

vy;yh tpdhf;fSf;Fk; tpilaspj;jy; Ntz;Lk;. 

tpdh 1 : 10 FWtpil tpdhf;fisf; nfhz;lJ. xU tpdhTf;F 2 Gs;spfs; 
tPjk; nkhj;jg; Gs;spfs; 20 MFk;.

tpdh 2 : fl;Liu vOJjy; : 25 Gs;spfs; MFk;. (topfhl;lw; Fwpg;GfSldhd 

ehd;F fUg;nghUs;fSs; xd;wpidj; njupT nra;jy; Ntz;Lk;)

tpdh 3 : RUf;fk; vOJjy; : 10 Gs;spfs;
tpdh 4 : fpufpj;jy;  : 10 Gs;spfs;
tpdh 5 : eilKiwj; NjitfSf;fhd vOj;jhf;fq;fs; : 15 Gs;spfs;

  
tpdhj;jhs; III - Neuk; 2 kzpj;jpahyk;. 7 tpdhf;fisf; nfhz;lJ. nkhj;jg; Gs;spfs; 80.

  1>2>3>4 Mfpa tpdhf;fs; fl;lhakhdit. tpdhf;fs; 5>6>7 ,y; xd;wpidj; njupT 

nra;jy; Ntz;Lk;.

tpdh 1 : FWtpil tpdhf;fs; 10. xU tpdhTf;F 2 Gs;spfs; tPjk; nkhj;jk; 

  - 20 Gs;spfs;.

tpdh 2 : tpjpf;fg;gl;l ghlE}ypypUe;J njupTnra;ag;gl;l nra;As;/   
ciueilg;gFjpfs; njhlu;ghd ,t;tpuz;L tpdhf;fis cs;slf;fpa 

5 gFjpfisf; nfhz;lJ. xU tpdhTf;F ,uz;L Gs;spfs; tPjk; 

nkhj;jg; Gs;spfs; 20 MFk;.

tpdh 3 : ,uz;L tpUg;G tpdhf;fspy; xd;Wf;F kl;Lk; tpil vOj Ntz;Lk;.  

- 15 Gs;spfs;.

tpdh 4 : ,uz;L tpUg;G tpdhf;fspy; xd;Wf;F kl;Lk; tpil vOj Ntz;Lk;.  

- 15 Gs;spfs;.

tpdh 5,6,7 : %d;W tpUg;G tpdhf;fspy; xd;Wf;F kl;Lk; tpil vOj Ntz;Lk;.

 - 10 Gs;spfs;.

,Wjpg; Gs;sp fzpj;jy; :  tpdhg;gj;jpuk; I =  40  
  tpdhg;gj;jpuk; II =  80 
  tpdhg;gj;jpuk; III =  80  
  ,Wjpg; Gs;sp  =       200 ÷ 2  =  100            

tpdhj;jhs;

tpdhj;jhs;

tpdhj;jhs;
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^22&  jkpo; nkhopAk; ,yf;fpaKk; 

tpdhj;jhs; I

ftdpf;f Ntz;bait :

✽	 vy;yh tpdhf;fSf;Fk; tpil vOJf. 

✽	 1  njhlf;fk; 40 tiuAs;s tpdh xt;nthd;wpYk; (1), (2), (3), (4)  vd ,yf;fkplg;gl;l tpilfspy; 
rupahd my;yJ kpfg; nghUj;jkhd tpiliaj; njupT nra;f.

●	 jbj;j vOj;jpy; mike;j  nrhy; gw;wpa tpdhTf;Fg; nghUj;jkhd tpiliaj; njupT nra;f.

1. 'fohmf;fhy; gs;spAs; itj;jw;why;...|| ,q;F gs;sp vd;gJ

 (1) Nfhtpy; (2) gs;spf;$lk; (3) epj;jpiu (4) gLf;if

2. \\faputKk; jhkiuAk; fko; godf; FUehl;by; fye;J tho ...|| - ,q;F godk; vd;gJ

 (1) tay; (2) ngha;if (3) Kd;tpid (4) mUtp

3. flTis ek;g kWg;gtd; ehj;jpfd;. ehj;jpfd; vd;gjd; vjpu;f;fUj;J

 (1) me;jfd; (2) me;jzd; (3) Mj;jpfd; (4) iel;bfd;

4. 'Fw;wk; ghu;f;fpy; Rw;wkpy;iy". Fw;wk; vd;gjd; vjpu;g;gjk;

 (1) Rw;wk; (2) Fzk; (3) eyk; (4) Fiw

5. \\ghzd; rPwpahio kPl;bdhd;|| - ghzd; vd;gjd; vjpu;g;ghw;nrhy;

 (1) Njtuhl;b (2) ghbdp (3) mzq;F (4) Fwj;jp

●	 gpd;tUk; tpdh xt;nthd;Wf;Fk; nghUj;jkhd tpiliaj; njupT nra;f.

6. \\,g;nghOJ ,q;F fpisNkw; (climate) rupapy;iy|| climate vd;gjw;Fupa jkpo;r;nrhy;

 (1) thdpiy (2) fhyepiy (3) gUtfhyk; (4) ntg;gepiy

7. $l;lj;ijf; Fwpf;Fk; kuGr; nrhw;fSs; nghUj;jkw;wJ>

 (1) fUk;G - nfhy;iy   (2) kh - Njhg;G 

 (3) Njapiy - Nrhiy   (4) kuk; - fhL

8. nrhw;fspd; nghUisr; nra;As; tbtpy; jpul;bj;jUk; E}y;

 (1) mfuhjp (2) epfz;L (3) gpuge;jk; (4) fiyf;fsQ;rpak;

9. %q;fpy;> rptg;G> ,sik vd;Dk; gy nghUs;fisf; Fwpf;Fk; xU nrhy;

 (1) Nra; (2) Nta; (3) nrk;ik (4) jhak;

10. Fjpiuf;F tlit Nghy> Gypf;F

 (1) ngil (2) gpiz (3) gpzh (4) Nghj;J

11. cw;rhf%l;Ljy; vd;gijf; Fwpf;Fk; kuGj;njhlu;

 (1) jl;bg;ghu;j;jy; (2) jl;bf;nfhLj;jy; (3) jl;bg;NgRjy; (4) jl;bf;fopj;jy;
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12. 'fhJ nfhLj;jy;" vd;w kuGj;njhlupd; nghUs;

 (1) Vkhw;Wjy;   (2) Nfhs; nrhy;Yjy; 

 (3) mtjhdpj;Jf; Nfl;ly;  (4) ,ufrpak; $Wjy;

13. mwpQu; gyu; $b thjpLk; fsk;

 (1) gl;bkz;lgk; (2) tpthjk; (3) Ma;tuq;fk; (4) fUj;juq;fk;

14. ,isj;j fhyj;jpy; cjTtjw;fhf itf;fg;gLk; Nrkg;nghUs;

 (1) gJkepjp (2) Xk;gil (3) ifk;kUe;J (4) va;g;gpy; itg;G

15. mg+u;tkhf eilngWk; epfo;itf; Fwpf;fg; nghUj;jkhd ctikj;njhlu;

 (1) fub fhu;j;jpifg; gpiw fz;lJ Nghy (2) ahid Kd; g+id Nghy

 (3) Njba g+z;L fhypy; mfg;gl;lJ Nghy (4) Mz;bfs; klk; fl;baJ Nghy

16. nra;j jtiw kPz;Lk; nra;ahjpUf;f xU Kiw Vw;gl;l mDgtk; cjTk; vd;gij tpsf;Fk; gonkhop

 (1) gl;l fhypNy gLk; nfl;l FbNa nfLk;. (2) ey;y khl;Lf;F xU #L.

 (3) #L fz;l g+id mLg;gq;fiu ehlhJ. (4) njhl;bw; gof;fk; RLfhL kl;Lk;.

17. gpd;tUtdtw;Ws; NtWgl;l nghUisf; nfhz;l gonkhopr; Nrhb 

 (1) xd;Wgl;lhy; cz;L tho;T.

  mlk;gd; nfhbAk; jpuz;lhy; kpLf;F.

 (2) cau caug; gwe;jhYk; Cu;f;FUtp gUe;jhFkh?

  fq;ifapy; %o;fpdhYk; fhf;if md;dkhFkh?

 (3) miyNkhJk; NghNj jiyKOF.

  mizfle;j nts;sk; mOjhYk; tuhJ.

 (4) MFq; fha; gpQ;rpNy njupAk;.

  thOk; gps;isia kz; tpisahl;by; njupAk;.

18. xUtd; gpwg;gpNyNa Mw;wy; ngw;wtd; vd;gjid tpsf;fg; nghUj;jkhd mUQ;nrhw;nwhlu;

 (1) <j;Jtf;Fk; ,d;gKilNahd; (2) xy;fhg; ngUk; GfOilNahd;

 (3) fUtpNy jpUTilNahd;  (4) jkf;nfd thohj; jifikAilNahd;

19. gpd;tUtdtw;Ws; vjpu;g;nghUl; nrhw;fshy; mike;j ,iznkhop

 (1) mf;fk; gf;fk; (2) Fw;wk; Fiw (3) #JthJ (4) Mjpme;jk;

20. ney; tay; gr;irg;gNry; vdf; fhl;rpaspj;jJ. \gr;irg;gNry;| vd;gJ

 (1) mLf;Fj; njhlu;   (2) ,iznkhop 

 (3) ,ul;ilf;fpstp   (4) mLf;fpLf;Fj; njhlu;

●	 gpd;tUk; tpdh xt;nthd;wpw;Fk; kpfr; rupahd tpiliaj; njupT nra;f.

21. mfr;Rl;lhf mikAk; nrhy;

 (1) mtd; (2) mk;kdpjd; (3) vtd; (4) may;

22. nkhop ,Wjpapy; tuhj vOj;Jf;fis khj;jpuk; nfhz;l njhFjp

 (1) u;> s;> o; (2) a;> s;> y; (3) Q;> e;> o; (4) w;> g;> q;
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23. \ehL Xq;fl;Lk;| ,jpy; tUk; Xq;fl;Lk; vd;gJ

 (1) Fwpg;Gtpid (2) Vty;tpid (3) vjpu;kiwtpid (4) tpaq;Nfhs;tpid

24. cldpiy nka;k;kaf;fk; ,lk;ngw;w nrhy;

 (1) nrhe;jk; (2) jz;zPu; (3) ntl;fk; (4) euk;G

25. gd;ik tpFjp ngw;W tuj;jf;f nrhy;

 (1) ePu; (2) khup (3) epwk; (4) Fspu;

26. ehd; nfhOk;Gf;Fg; NghapUe;Njd;.

 cdJ tPl;bw;F tuKbatpy;iy. 

 - Nkw;gb ,Uthf;fpaq;fisAk; ,Nj xOq;fpy; ,izg;gjw;Fg; nghUj;jkhd ,izg;gpilr; nrhy;

 (1) vdpDk; (2) Mifahy; (3) Vnddpy; (4) MdhYk;

27. 'nky;nydg; ghAk; mUtp

 fy;iyAk; CLUtpg; ghAk;"

 ,q;F ,Ujlit ,lk;ngw;Ws;s ghAk; vd;Dk; nrhy;> KiwNa

 (1) tpidnar;rk;> tpidKw;W  (2) nganur;rk;> tpidKw;W

 (3) tpidKw;W> tpidnar;rk;  (4) tpidKw;W> nganur;rk;

28. mfutupirapy; mikahj njhFjp

 (1) rl;b> rhb> rPak;> rpl;L  (2) fpsp> fPiu> $il> nfhil

 (3) jhfk;> jPik> Jd;gk;> nja;tk; (4) ehfk;> ePl;rp> nea;jy;> iee;jhd;

●	 nghUj;jkw;w cjhuzk; ,lk;ngw;w nrhw;nwhFjpiaj; njupT nra;f.

29. (1) tpidKw;W :- gbj;jhd;> te;jhd;>nrd;whd;

 (2) Vty; tpid :- gb> Ngh> nry; 

 (3) tpaq;Nfhs; tpid :- tho;f> jUf> thopa

 (4) gpwtpid :- gbg;gpj;jhd;> vOjpdhd;> tUtpj;jhd;

30. (1) ,ay;G Gzu;r;rp  :- nghd;kzp> kzpkhiy> ghyhil

 (2) Njhd;wy; tpfhug; Gzu;r;rp :- gyhtpiy> fy;tpf;fly;> gidNahiy

 (3) jpupjy; tpfhug; Gzu;r;rp :- flw;Gwk;> kl;Flk;> flw;fiu

 (4) nfLjy; tpfhug; Gzu;r;rp :- ePythdk;> ahNohir> tl;lepyh

●	 Gs;spf; Nfhbl;l ,lj;ij epug;Gtjw;F kpfg; nghUj;jkhd tpiliaj; njupT nra;f. 

31. ifJ nra;ag;gl;l kfdpd; tpguk; vJTk; njupahikahy; je;ijahu; ePjpkd;wj;jpy; ....................................  
 rku;g;gpj;jhu;.

 (1) gpbahiz (2) Nfhupf;if (3) Ml;nfhzu;TkD (4) miog;ghiz

32. jkpo;nkhopj;jpdg; Nghl;bfSf;fhd ......................... fy;tpaikr;rpdhy; ghlrhiyfSf;F tpepNahfpf;fg;gl;lJ.

 (1) tpQ;Qhgdk; (2) tu;j;jkhdp (3) Rw;WepUgk; (4) nts;isawpf;if

33. ,isg;ghwpa mur Copau;fs; khjhkhjk; ................................... ngWfpd;wdu;.

 (1) khdpak;   (2) Xa;t+jpak; 

 (3) Ntjdk;   (4) rd;khdk;

•	 jug;gl;l ghliy mbg;gilahf;f nfhz;L> gpd;tUk; tpdhf;fSf;F tpiljUf.

  fpsu;r;rpnrAk; njhz;lu;fspd; czu;r;rp nts;sk;

   nfLtopapy; nry;yhky; jLj;J ed;F

  tsu;r;rp ngwr; nra;fpd;w jiytd; NghNy

   tUnts;sg; ngUf;fidj;Jk; gho;glhky;

  msg;gupa ed;ik nra;aj; jLj;J epw;Fk;

   mizf;fl;bd; moifg;ghu;.....||
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34. fiy epfo;r;rpfis NkilNaw;Wtjw;FKd; rupgpio ghu;j;Jj; jpUj;Jk; nraw;ghL ..................................... 

 vdg;gLk; 

 (1) nts;Nshl;lk; (2) xj;jpif (3) muq;Nfw;wk;  (4) NkilNaw;wk;

●	 thf;fpaq;fspd; Kw;gFjpf;Fg; nghUj;jkhd Kbf;Fk; gFjpiaj; njupT nra;f.

35. Milj; njhopw;rhiyf;Fs; njhopyhsu;fs; ..................................................

 (1) xt;nthd;whfr; nrd;wdu;.  (2) xt;nthd;whfr; nrd;whu;.

 (3) xt;nthUtdhfr; nrd;wdu;. (4) xt;nthUtuhfr; nrd;wdu;.

36. nts;sk;Nghy khztu; $l;lk; ..................................................

 (1) jpuz;ldu; (2) jpuz;lJ. (3) jpuz;lhu;fs; (4) jpuz;ld.

●	 jug;gl;l ghliy mbg;gilahff; nfhz;L> gpd;tUk; tpdhf;fSf;F tpiljUf.

  'fpsu;r;rpnrAk; njhz;lu;fspd; czu;r;rp nts;sk;

   nfLtopapy; nry;yhky; jLj;J ed;F

  tsu;r;rp ngwr; nra;fpd;w jiytd; NghNy

   tUnts;sg; ngUf;fidj;Jk; gho;glhky;

  msg;gupa ed;ik nra;aj; jLj;J epw;Fk;

   mizf;fl;bd; moifg;ghu;.....||

37. ,g;ghlypD}lhf ftpQu; nrhy;y te;j fUj;J ahJ?

 (1) njhz;lu;fspd; fpsu;r;rp  (2) nts;sg;ngUf;F

 (3) mizf;fl;bd; rpwg;G   (4) jiytdpd; gzp 

38. \czu;r;rp nts;sk;| vd;gjpy; mike;Js;s mzp

 (1) cUtfk; (2) ctik (3) rpNyil (4) jw;Fwpg;Ngw;wk; 

39. ,g;ghlypd; fUj;Jf;Fg; nghUe;jhj $w;iwj; njupT nra;f. 
 (1) njhz;lu;fs; fpsu;r;rp nra;thu;fs; 

 (2) jiytd;> njhz;lu;fspd; tsu;r;rpf;F toptFg;gtd;. 
 (3) nts;sg; ngUf;if mizf; fl;Lf;fs; jLf;fpd;wd. 

 (4) jiytd;> njhz;lu;fs; fpsu;r;rp nra;a toptFg;gtd;.

●	 fPNo rpy thf;fpaq;fs; xOq;fpd;wpf; fhzg;gLfpd;wd. mtw;iw xOq;Fngw itj;jhy; fl;Lf;Nfhg;ghd 

ge;jpnahd;W mikAk;. mt;thW ge;jpaikg;gjw;F kpfg; nghUj;jkhd itg;G Kiwiaj; njupT nra;f. 

40. m. ,f;fhyj;jpy; ey;y gpurq;f rf;jptha;e;jtu;fis ehtyu; vd;W nrhy;tjpw; gpionahd;Wk; ,y;iy. 

 M. ve;jr; re;ju;g;gj;jpYk; nfhLj;j tp~aj;ijf; Fwpj;Jj; njspthfg; NgRk; Mw;wYilatiu  

 thf;fp vd;W nrhy;thu;fs;.

 , gz;ilf; fhyj;jpy; ftpghLk; Mw;wYilahiuAk; ehtynud;W toq;fpdu;.

 < thf;tp vd;w tlnrhy;ypd; jpupNg mJ.

 c  mjidNa \ehtyu;| vd;W jkpopw; $wyhk;.

 (1) m> ,> c> <> M (2) M> <> c> ,> m (3) M> ,> <> M> c (4) ,> <> M> m> c

* * 
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^22&  jkpo; nkhopAk; ,yf;fpaKk; 

tpdhj;jhs; II

ftdpf;f Ntz;bait:

✽	 vy;yh tpdhf;fSf;Fk; tpil vOJf. tpilfisj; njspthd ifnaOj;jpy; vOJf. 

✽	 ,t;tpdhj;jhSf;Fupa Gs;spfs; 80 MFk;.

1. RUf;fkhd tpil vOJf.

 (i) gpd;tUk; njhliur; re;jp gpupj;J vOJf. 

  ',UtUk; khwpg;Gf; fpja nka;jpdu;"

 (ii) 'fay;tpop Xu; vOJtpidQiuf; ifg;gpbj;jhs;" 

  m. vOJtpidQu; vd;gjw;F epfuhf jkpopy; toq;Fk; NtnwhU nrhy;iyf; Fwpg;gpLf.

  M. \ifg;gpbj;jy;| vd;w kuGj; njhlupd; nghUs; ahJ?

 (iii) \cL| vd;w nrhy;> ngauhfTk; tpidahfTk; tuj;jf;fjhfj; jdpj;jdp thf;fpaq;fs;  

 vOJf.

 (iv) gpd;tUk; Ngr;Rtof;Fj; njhliu vOj;Jtof;Fj; njhluhf khw;wp vOJf.

  'vdf;F xz;Lk; Ntz;lhk;. ehd; tuapy;iy"

 (v) 'ehd; fbjk; vOjpNdd;" ,jidr; nrag;ghl;L tpid thf;fpakhf khw;wp vOJf. 

 (vi) \fhyhtjp| vd;w nrhy;ypd; fUj;Jg; Gyg;gLkhW mr;nrhy;iy xU thf;fpaj;jpy;   

 mikj;Jf; fhl;Lf. 

 (vii) gpd;tUk; thf;fpaj;ij kaf;fk; ePf;fp vOJf.

  'gpurpj;jp ngw;w ,yq;ifapd; jkpo; vOj;jhsu;fs; jkpohuha;;r;rp kfhehl;by; fye;J   

 nfhz;ldu;"

 (viii) Gzu;j;jp vOJf.

  gid + Xiy
  Nju; + Cu;e;jJ

 (ix) Fkhu; ed;F fw;wtu;

  Fkhu; jkpo;nkhop fw;gpg;gjpy; rpwe;jtu;

  - Nkw;gb jdpthf;fpaq;fisf; $l;Lthf;fpakhf;Ff.

 (x) gpd;tUk; thf;fpaj;jpd; vOtha;> gadpiyfisf; Fwpg;gpLf.

  'Gytupd; re;jjpahu; fy;yhjtuhapd; Xiyr;Rtbfs; guz;kPNjWk;"

        (20 Gs;spfs;)



- 22 -

f.ngh.j.(rh.ju)g; guPl;ir - 2016 ,Yk; mjd; gpd;dUk; eilngWk; guPl;irf;fhd tpdhj;jhs; fl;likg;Gk; khjpup tpdhf;fSk; - jkpo;nkhopAk; ,yf;fpaKk;

- 22 -

f.ngh.j.(rh.ju)g; guPl;ir - 2016 ,Yk; mjd; gpd;dUk; eilngWk; guPl;irf;fhd tpdhj;jhs; fl;likg;Gk; khjpup tpdhf;fSk; - jkpo;nkhopAk; ,yf;fpaKk;

2. gpd;tUtdtw;Ws; xd;iwj; njupTnra;J> Vwj;jho 250 nrhw;fspy; mikAkhW tpil vOJf. ePq;fs; 

njupT nra;j tplaj;Jf;Fg; nghUj;jkhd jiyaq;fk; ,Lf. 

(i) fy;tp vd;gJ mbg;gil cupikfSs; xd;whFk;. ,yq;ifapy; ,ytrf; fy;tp eilKiwapy; 

,Ue;jhYk; fzprkhd rpWtu;fs; fy;tpiag; ngwKbahj epiy fhzg;gLfpd;wJ. mt;thW mtu;fs; 

fy;tpiag; ngwKbahky; ,Ug;gjw;fhd fhuzq;fis vLj;Jf; fhl;bAk; mf;FiwghLfis 

ePf;Ftjw;F vj;jifa eltbf;iffs; Nkw;nfhs;sg;glNtz;Lk; vd;w tplaq;fis cs;slf;fpAk; 

xU tpsf;ff; fl;Liu.

(ii) xU ehl;bd; mgptpUj;jp me;ehl;bYs;s tsq;fspy; khj;jpuk; jq;fpapUf;ftpy;iy. ekJ ehl;by; 

tsq;fSf;Ff; Fiwtpy;iy. Mdhy; ehL mgptpUj;jp mile;Jtpltpy;iy. ,dKuz;ghLfs; 

epyTtNj ehl;bd; mgptpUj;jpf;Fg; ngupa jilahf mikfpwJ. vdNt ,d Kuz;ghL jPu;f;fg;gl 

Ntz;baJ mj;jpahtrpakhdJ vd;gij typAWj;JtjhAk; mjw;F Nkw;nfhs;s Ntz;ba 

eltbf;iffis tpsf;FtjhAk; mikAk; xU Nkilg; Ngr;R.

(iii) ntspehl;L Ntiytha;g;G %yNk gy;NtW mD$yq;fisg; ngw;Wf;nfhs;sKbAk; vdf; fUJk; 

xUtUf;Fk;> vkJ ehl;L tsq;fisg; gad;gLj;jpr; Ranjhopiy Nkw;nfhs;tNj NkyhdJ 

vdf;fUJk; kw;nwhUtUf;Fk; ,ilapyhd Xu; ciuahly;.

(iv) uQ;rdp twpa ngw;Nwhupd; xNu gps;is. fy;tpapy; mtSf;fpUe;j Mw;wiy mwpe;j ngw;Nwhu; jkJ 

tWik epiyapYk; mtis Kd;Ndw;w Ntz;Lk; vd;w Mirahy; efu;g;Gw ghlrhiynahd;wpy; 

mtisr; Nru;j;jhu;fs;. mq;F mts; rfkhztu;fshy; xJf;fg;gLfpwhs;. mts; mjidg; 

nghUl;gLj;jhJ ed;F fw;W tho;tpy; cau;epiy milfpwhs; vd;gijf; fUthff; nfhz;l xU 

rpWfij.

           (25 Gs;spfs;)

3.  fPNo jug;gl;Ls;s ciug;gFjpapd; RUf;fj;ij 40-45 nrhw;fspy; mikaf; $bathW vOJf.

  gyJsp ngU nts;sk; MtJ Nghy; rpwpJ rpwpjhf mwpe;Jnfhs;sg;ngWk; fUj;Jf;fs; xd;W 

Nru;e;Nj epuk;gpa mwpthfpwJ. gioa fUj;Jf;fSk; Gjpa fUj;Jf;fSk; xd;Wgl;Lj; jpUj;jkhfj; 

njhlu;GWjypNy mwptpd; tsu;r;rp nghWj;jpUf;fpwJ. Mjyhy; mwptpd; tsu;r;rpf;nfd mikf;fg;gLk; 

ghlq;fs;> nghUs;fs; Kjypait khztu;fspd; Kd;dwpNthL xd;Wgl Ntz;Lk;. md;wpAk; 

fw;gpf;fg;gLgit gbg;gbahfTk; tpsf;fkhfTk; mika Ntz;Lk;. Kd;fUj;Jf;fs; tpsf;fkhf 

,y;yhjtplj;J> mit gpd;tUgtw;NwhL ed;F xw;WikAwh. ,q;qdk; xw;WikAwhj nghUs;fspy; 

khztu;f;Ff; ftu;r;rpapuhJ. ftu;r;rpapy;iyahapd; cs;sk; nghUspy; gjpahJ. kw;Wk; mwpT tsu;r;rpf;F 

epidT Mw;wy; ,d;wpaikahjJ. Mjypd; fw;gpf;Fk; nghUs;fs;  kwthky; ,Uj;jw;Fupa tpjpfisf; 

ifahsNtz;Lk;. fw;Fk; nghUs;fspy; Cf;fKk; cs;sf; fpsu;r;rpAk; jd; Kaw;rpAk; cz;lhFkhW 

kpFjpahf Kad;W Ntiy nra;Ak;gb J}z;l Ntz;Lk;. nghUs;fis mtutu; epiyf;F Vw;wthW ed;F 

rpe;jpf;Fk;gbAk;> mtw;Ws; xw;Wik Ntw;Wik fz;L jPu;khdpf;Fk;gbAk; khztiu Vtp> Mrpupau; xU 

topfhl;baha; kl;Lk; epd;W cjtp Gupa Ntz;Lk;. fhyr; RUf;fk; fUjp MrpupaNu vy;yhtw;iwAk; 

$wptpLjy; $lhJ. jd; Kaw;rpapd;wpf; fw;gpf;fg;gLk; khztDf;Fk;> cly; ciog;gpd;wp Cl;b 

tsu;f;fg;gLk; xUtDf;Fk; Ntw;Wikapy;iy. ,sikapNy mwptpdhy; tpisAk; ew;gad;fis khztu; 

ed;FzUkhW nra;Jtpl;lhy;> gad; fhzg;gLk; nghUs;fspy; mthTk; Kaw;rpAk; Njhd;wpf; fhupa 

ntw;wpahjy; ,ay;gd;Nwh? ,q;qdk; khztdJ mwpT tsu;r;rpf;F cupad vd;W fhzf;fplf;Fk; 

gw;gy KiwfisAk; jkpohrpupau;fSk; Nkw;nfhs;syhk;.   

           (10 Gs;spfs;)
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4.  gpd;tUk; ciueilg; gFjpia thrpj;J mjd;fPo;j; jug;gl;Ls;s tpdhf;fSf;F tpil vOJf.

 ,yf;fpaq;fs; nkj;j tsUfpw Nky;ehl;by; me;ehl;Lj; jpwdha;thsu; mt;tpyf;fpaq;fis 

,Utifahfg; gpupg;gu;; ,d;gk; jUk; ,yf;fpak; vd;Wk;> gad;jUk; ,yf;fpak; vd;Wk; ,U 

tifg;gLj;Jtu;. Mdhy;> ek;Kila ehl;ilg; nghWj;jkl;by; ,d;gk; jUk; xNu Fwpf;NfhSf;fhf 

,yf;fpak; Mf;fg;gLtjpy;iy. tho;f;iff;Fg; gad;gLtNj ,yf;fpaj;jpd; Kf;fpa Fwpf;NfhshFk;. 

ePjp E}y;fSk; tho;f;iff;Fg; gad;gLfpd;wd vd;whYk; ePjpE}y;fspypUe;J ,yf;fpak; khWgLfpd;w 

,lk; xd;W cz;L. ePjpE}y; jpUj;Jfpd;w Mrhidg;Nghy; Neupilahf mwpTiu toq;Fk;. 

mjidf; Nfl;gtu; ,d;gk; ngWk; Nehf;fk; nfhz;ltuhf ,Ug;gpd; ePjp E}y; mtuplk; nry;yhJ. 

,yf;fpaNkhntdpy; tho;f;iff;Fj; Njitahd mwpTiufis toq;FtnjdpDk;> mJ Mrhd; 

Ntiyiar; nra;fpd;wJ vd;W fz;Lnfhs;s KbahkNyNa mjidr; nra;JtpLfpwJ. ,yf;fpa 

,d;gk;> ru;f;fiu jltpa khj;jpiuNghy; fw;Nghu; cl;GFe;J ew;gaid tpistpf;fpd;wJ. 

m. Nkdhl;Lj; jpwdha;thsu;fs; ,yf;fpaj;ij vt;thW tifg;gLj;Jfpd;wdu;?

M. ek;Kila ehl;by; ,yf;fpak; gilf;fg;gLtjd;; gpujhd Nehf;fk; ahJ?

,. \ePjp E}y;fs; ,yf;fpa tif xd;iwr; rhu;e;jdthFk;.| ,f;$w;W Nkw;gb ge;jpapd; MrpupaUf;F 

cld;ghlhdjh?

<. ,yf;fpaq;fs; kf;fSf;fhd mwpTiuia vt;thW toq;Ffpd;wd?

c. \ru;f;fiu jltpa khj;jpiu| vd;w ctik%yk; ek;ehl;L ,yf;fpaj;jpd; jd;ik vt;thW 

czu;j;jg;gLfpwJ?

           (10 Gs;spfs;)

5.   ckJ fpuhkj;jpy; trpf;fpd;w fzprkhd njhif khztu;fs;> efu;g;Gwg; ghlrhiyfspy; fy;tp 

fw;fpd;wdu;. MapDk; NgUe;Jr; Nrit Fiwthff; fhzg;gLtjhy; mtu;fs; Neuj;jpw;Fg;  

ghlrhiyf;Fr; rKfkspf;f KbahJ ,lu;g;gLfpd;wdu;. vdNt ,f;Fiwghl;il ePf;FKfkhf 

khztu;fSf;fhd tpNrl NgUe;Jr; Nrit xd;iw xOq;Fnra;J jUkhW typAWj;jp gpuhe;jpa 

Nghf;Ftuj;Jr;rigj; jiytUf;F 100 nrhw;fspy; xU fbjk; vOJf.

my;yJ

  fe;jGuk; kfhtpj;jpahyak; mjd; tuyhw;wpy; Kjd; Kiwahf ,t;tUlk; f.ngh.j (rh.ju)g; guPl;irapy; 

E}W tPj rpj;jpiag; ngw;Wf; nfhz;lik Fwpg;gplj;jf;fjhFk;. rpj;jpaile;j khztu;fs; midtUk; 

f.ngh.j (c.juk;) gbg;gjw;F jFjp ngw;wpUe;jdu;. ,jidg; ghuhl;LKfkhf ghlrhiyapy; ,lk;ngw;w 

tpohtpy; fye;Jnfhz;l gj;jpupif epUguhf ck;ikf; fUjp> gpd;tUk; mk;rq;fisf; fUj;jpw; 

nfhz;L 100 nrhw;fspy; gj;jpupifr; nra;jp xd;W vOJf.

  ●	 fhyk;

  ●	 gpujk mjpjp

  ●	 gq;Fgw;wpa VidNahu;

  ●	 epfo;r;rpfs;  

           (15 Gs;spfs;)

❋	❋ ❋
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^22&  jkpo; nkhopAk; ,yf;fpaKk; 
tpdhj;jhs; III

ftdpf;f Ntz;bit : 

✽	 mwpTWj;jy;fSf;Nfw;g Ie;J tpdhf;fSf;F khj;jpuk; tpil vOJf. 

✽	 1, 2, 3, 4 Mfpa tpdhf;fSf;Fk; 5, 6, 7 Mk; tpdhf;fspy; ahNjDk; xU tpdhTf;Fk; tpil vOJf.

✽	 ,t;tpdhj;jhSf;Fupa Gs;spfs; 80 MFk;.

1. RUf;fkhd tpil vOJf. 

 (i) \ePtpu; ItPUk; xUtPuha; mfyplj;ij neLq;fhyk; mspj;jpu; vd;whs;|

  m. ItPu; vdf; Fwpg;gplg;gLgtu;fs; ahtu;?

  M. ,f;$w;iwf; $wpatu; ahu;?

 (ii) \\mw;iwj; jpq;fs; mt;ntz; epytpy; 

  ve;ijA KilNak; vk; Fd;Wk; gpwu;;nfhshu;"

  m. ,q;F ve;ij vdf; Fwpg;gplg;gLgtu; ahu;?

  M. jpq;fs; vd;gJ Fwpj;J epw;Fk; nghUs; ahJ?

 (iii) 'tpyq; fpaw;if apiynadpy; ahnkyhk;

  tpUk;G kl;bdpy; tpz;Zw yhFNk"

  m. tpyq;fpaw;if vdf; fUjg;gLtJ ahJ?

  M. ,q;F tpz;Zwy; vd;gJ vjidf; Fwpf;fpd;wJ?

 (iv) ',e;jf; fk;gpa+l;lUk; mg;gbj;jhd;. ml;ra ,Ujaf; fiyapy; ifNju;e;jjhf ,Ue;jJ."

  m. ml;ra ,Ujaf; fiy vd;why; vd;d?

  M. 'ifNju;jy;" vd;gjd; nghUs; ahJ?

 (v) 'gl;b ngUf NtZk; jk;gpuhNd"

  'Nkop ngUf NtZk; jk;gpuhNd"

  m. gl;bngUFjy;

  M. NkopngUFjy;

  vDk; njhlu;fs; Gyg;gLj;Jtd ahit?

 (vi) 'Mbf; Flj;jilAk; MLk; NghNjapiuAk;...." 

  m. ,g;ghlypy; fhsNkfg; Gytuhy; xg;gplg;gLgit vit?

  M. ,g;ghlypy; gad;gLj;jg;gl;Ls;s mzp ahJ?

 (vii) \muTau;j;NjhDld; kW#J Mb ePu; ntd;w te;ehs;...|

  m. ,q;F \muTau;j;Njhd;| vdf; Fwpg;gpLtJ ahiu?

  M. Nkw;gb ghj;jpuk; ,lk;ngWk; ,jpfhrk; vJ?

 (viii) m. jj;ijtpLJ}J vd;w gpuge;jj;ij vOjpatu; ahu;?

  M. \jj;ij| vd;w nrhy;ypd; nghUs; ahJ?
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 (ix) 'fzf;fha upy;yhj CUk; gpzf;fWf;Fk;

  %j;Njhiu ,y;yh mitf;fsDk;...."

  m. \fzf;fhau;| vd;w nrhy;ypd; nghUs; ahJ?

  M. %j;Njhuplk; vjpu;ghu;f;fg;gLk; flik ahJ?

 (x) 'mkpo;jk; ,iatjhapDk; ,dpnjdj;

  jkpau; cz;lYk; ,yNu...." 

  m. jkpau; vd;gjd; nghUs; ahJ?

  M. ,e;j mbfs; czu;j;jpepw;Fk; cau;gz;G vJ? 

           (20 Gs;spfs;)

2. gpd;tUk; nra;Al;gFjpfisAk; ciueilg;gFjpfisAk; thrpj;J mtw;wpd;fPNo jug;gl;Ls;s 

tpdhf;fSf;F tpil vOJf. 

i.  Xu; jl;bNy nghd;Dk; Xu; jl;bNy ney;Yk; xf;ftpw;Fk;

 fhu; jl;ba gQ;r fhyj;jpNy jq;fs; fhupag;Ngu;

 Mu; jl;bDk; jl;L thuhkNy md;d jhdj;Jf;F

 khu;jl;ba Jiu khy; rPjf; fhjp tNuhjaNd.

m. gQ;rfhyj;jpd; jd;ik vt;thW vLj;Jf;fhl;lg;gLfpwJ.?

M. rPjf;fhjpapd; ts;sd;ik vt;thW tpsf;fg;gLfpwJ?

ii. glnuyhk; gilj;jhis goptsu;f;FQ;

  nrtpypiaj; jd; gho;j;j ghtpf;

 FlupNy neLq;fhyk; fple;Njw;F  

  Kapu;g;ghuq; Fiwe;J Nja

 Tlu; vyhk; Kapupyh ntdj; Njhd;W

  Kyfj;Nj nahUj;jp ad;Nw

 aplupy;yh Kfj;jhis awpe;jpiyNa 

  ype;epd;wh nsd;id aPd;whs;.

m. ,g;ghly; ,lk;ngWk; re;ju;g;gj;jpid tpsf;Ff.

M.  ifNfapNkw; gujd; nfhz;l ntWg;Gzu;r;rp vt;thW ntspg;gLfpwJ?

iii. jr;rd; nra;j rpWkh itak; 

 Cu;e;J ,d;Gwhmu; MapDk; ifapd;

 <u;j;J ,d;GW}ck; ,isNahu; Nghy;

 cw;W ,d;GNwvk; MapDk; ew;Nwu;g;

 ngha;if Cud; Nfz;ik

 nra;J ,d;Gw;wndk; nrwpe;jd tisNa.

m. ,g;ghlypy; jiytpapd; vj;jifa kdepiy rpj;jpupf;fg;gLfpd;wJ?

M. mijg; Gyg;gLj;Jtjw;Ff; ifahz;l ctikapd; nghUj;jg;ghl;il tpsf;Ff.
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iv. md;wpypUe;J Gifapiyf; fd;Wf;F ghj;jp fl;LtJ Nghy fzpg;nghwpj; jsj;ij %d;W gFjpfshfg; 

gpupj;J xU gFjpapy; ehDk;> ,d;ndhU gFjpapy; kidtpAk;> kPjpapy; mutpe;jDkhfg; gapu; 

nra;Njhk;. vq;fs; gilg;Gfis ,e;j tug;Gf;Fs; itj;Jf; nfhz;Nlhk;. ,jw;Fg; gpwF xU 

xOq;FKiw te;jJ. Muk;gj;jpy; vdf;F fk;gpa+l;lUld; Vw;gl;l gpzf;F ePq;fp xU ,zf;fk; 

Vw;gl;lJ. mJ jd;dplKs;s #l;Rkj;ij vy;yhk; nky;y nky;y mtpo;j;Jtplj; njhlq;fpaJ.

m. \ghj;jp fl;LtJ| vd;w ctikia Mrpupau; fzpg;nghwpNahL vt;thW njhlu;GgLj;Jfpd;whu;.

M. fzpg;nghwpNahL ,zf;fk; Vw;gl;lJ vd;gjd; %yk; czu;j;jg;gLtJ ahJ?

v. r%fj;jpYs;s gyu; jj;jk; ,ay;Gf;Nfw;w ,yl;rpaq;fisf; filg;gpbj;njhOFtjhNyh> 

filg;gpbj;njhOf KaYtjhNyhjhd; cyfk; ,dpik jUfpd;wJ. ,yl;rpakpy;iyNay; cyF 

,dpik juhJ. gz;gpy;yhjtDf;F mtd; ngw;w mwpTk; Jd;gkhk;. <ifapy;yhjtDf;F mtd; 

ngw;w nry;tKe;; Jd;gkhk;. gpw ew;NgWfSk; ,t;thNw> r%fj;ij cUthf;fp mjid moF 

nra;J ,d;gg; gad; fhzr; nra;fpd;w ,yl;rpak; r%fkhfpa clYf;F capuhf mike;Js;sJ. 

kdpj tu;f;fj;jpd; Njk;ghtzpAk; ,yl;rpaNk. 

 m. ,q;F Gyg;gLk; ikaf;fUj;J ahJ?

 M. 'kdpj tu;f;fj;jpd; Njk;ghtzpAk; ,yl;rpaNk" ,j;njhlu; %yk; Gyg;gLtJ ahJ?

           (20 Gs;spfs;)

3. ehtyu; vOe;jhu;; vd;w fl;Liuapy; 

 m. ehtyuJ clw;Nrhu;T 

 M. mtu; fpsu;e;njOe;j Ntfk; 

 Mfpad czu;j;jg;gLkhw;wpid tpsf;Ff.

   my;yJ

 %j;jk;kh vd;w rpWfijapy; %j;jk;kh vd;w ghj;jpuj;jpd;

 m. Njhw;wg; nghypT

 M Fztpay;G 

 vd;gd rpj;jpupf;fg;gLkhw;wpid tpsf;Ff.

           (15 Gs;spfs;)

4. jpUf;FwspYs;s \Ngijik| vd;w mjpfhuj;jpy; 

 m. Ngijaupd; ,ay;Gfs;

 M. Ngijikapd; tpisTfs; 

 vd;gd vLj;Jiuf;fg;gLkhw;iw tpsf;Ff.

   my;yJ

 fpUl;bzd; J}Jr; rUf;fj;jpy;

 m. jUkdpd; nghWik

 M. tPkdpd; ntQ;rpdk; 

 Mfpait Gyg;gLkhw;iwj; njspTWj;Jf. 

           (15 Gs;spfs;)
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• gpd;tUk; 5, 6, 7 Mfpa tpilfSs; VjhtJ xd;iwj; njupT nra;J tpil vOJf.

5. mw;iwj; jpq;fs; vd;w ehlfj;jpy;  

 m. Nghupd; nfhLik

 M. Gyg;ngau;tpd; typ

 Mfpad rpj;jpupf;fg;gl;bUf;Fkhw;wpid tpsf;Ff.

           (10 Gs;spfs;)

6. Njapiyj; Njhl;lj;jpNy vd;w ftpijapy;

 m. ftpQupd; Vf;fk; 

 M. mtuJ ftpj;jpwk;

 Mfpad ntspg;gLkhw;wpid tpsf;Ff.

           (10 Gs;spfs;)

7. Fw;whyf;FwtQ;rpapy;

 m. kiytsk;

 M. Fw;whyehjupd; rpwg;G

 vd;gd vLj;Jiuf;fg;gLkhw;wpid tpsf;Ff.

           (10 Gs;spfs;)

* * *
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(31) English Language
    Structure of the Question Paper

Paper I  –  Duration 1 hour. Total marks 40.
  Number of questions 08. All questions should be answered. Each question carries 

5 marks making a total of 40 marks. This paper consists of three tasks on Reading 
carrying 15 marks, two tasks on Vocabulary carrying 10 marks, one task on 
Grammar & Language Functions carrying 5 marks and two tasks on Writing 
carrying 10 marks making a total of 40 marks.

Paper II –  Duration 2 hours. Total marks 60.
  Number of questions 08. All questions should be answered. This paper consists 

of three tasks on Reading carrying 20 marks, one task on Vocabulary carrying 
5 marks, two tasks on Grammar & Language Functions carrying 10 marks and two 
tasks on Writing carrying 25 marks making a total of 60 marks.

Area of Testing
Paper I Paper II % of

Total
Marks

No. of
Items Marks No. of

Items Marks

A. Reading 3 15 3 20 35%
B. Vocabulary 2 10 1 5 15%
C. Grammar & Language Functions 1 5 2 10 15%
D. Writing 2 10 2 25 35%
Total 08 40 08 60 100%

The test items in the G.C.E.(O.L) English Language paper from 2016 will measure competencies 
related to Reading, Vocabulary, Grammar & Language Functions and Writing. The items will be 
based on a variety of text types (stimuli) and will be organized from easy to demanding. Testing 
techniques for each section may vary from year to year.

Calculation of Final Mark :  Paper I  =   40
 Paper II  =   60
 Final Marks =  100

The board suggested the following revisions / changes in paper I.
•	 There	should	be	a	picture	based	test	item	for	question	3.
•	 Test	6	should	be	an	item	of	Writing	using	parallel	or	guided	techniques.
•	 Test	8	should	include	a	test	item	on	free	writing	and	the	topics	should	be	very	familiar	to	

the students. The students should be able to write effectively on the given topic within the 
stipulated word limit. There can be a choice of two topics for it.

•	 In	all	test	items	in	paper	I	and	paper	II	text	types	may	vary.
The text types

Dialogues   Notes / notices   Descriptions  
Advertisements  Programmes   Invitations / messages
Posters   Stories    Reports   
Letters   Minutes   Pictures
Itinerary   Prefaces   Extracts  
Poems   Diary pages / e-mails  Biographies
Academic texts

G.C.E. (O.L.) Examination - Prototype  question for examinations from  2016 and onwards -  English
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❍ Test  1
Fill in the blanks in the following dialogue between mother and Dinu at the supermarket. Use the words given in the 
box. Write the correct letter in the blank. The first one is done for you.

a) tin     b) packet     c) pot,   

d) bar     e) tube      f) carton

            Dinu  :  Mother, we need a (1) …f… of milk and two kilos of sugar.   
Mother :  What did father ask you to bring?
Dinu  :    Well, he wants a (2) …………. of glue.
Mother :  Alright. What else is there on the list?
Dinu :      Er.. a (3) ………… of biscuits and a tub of ice cream.
Mother :  We have to get a (4)……….........…. of tea as well.
Dinu :      Mother, let’s buy a (5)…………. of curd for grandmother.
Mother :  Yes. And don’t forget to buy a (6) …………. of chocolate for your brother.

❍  Test  2 
	 Read	the	following	dialogue	and	fill	in	the	blanks.	Use	the	words	given	in	the	box.	There	is	one extra 

word. The first one is done for you .
 

Amal - Hey, Ruwan ! You look happy.
Ruwan - Yes. It’s (1) ................ birthday today. 
Amal - Happy Birthday Ruwan !
Ruwan - Thank you. 
Amal - Any special plans?
Ruwan - Yes, I’m visiting a children’s home with my parents. 
   (2) ................ are going to donate some story books to the children there. 
Amal - How kind of you!  I’m sure (3) ................ will be delighted.
Ruwan	 -	 By	the	way,	my	father	bought	(4)	................	a	flute	yesterday.		
Amal - How wonderful! Can you play (5) ................?
Ruwan - No, I’m going to learn to play it by (6) ................ . 
Amal - That would be nice!

it,  my,  me, I,  they,  myself,  we

my

   

English Language I                
Important :
* Answer all questions on this paper itself.       One hour

Q. 1

1 ×

Total 

        5 

Q. 2

1 ×

Total 

        5 
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❍ Test  3
Study	the	picture	and	fill	in	the	blanks	in	the	text	given	below.

 This is a picture of a sitting room. There is a woman, a child and two (1) ............................, in 
the picture. The woman near the (2) ............................ is sweeping the room. The child sitting on the  
(3) ............................ is playing with a (4) ............................ . There is a round (5) ............................ with 
decorative	(6)	............................	.	A		(7)	............................	of	flowers	is	there	on	it.	A	(8)	............................	
is sleeping near the sofa. The (9) ............................ behind the sofa is closed. There is a bunch of  
(10) ............................  hanging from the key hole. 

❍       Test 4
Match the extracts with the given sections of a newspaper. Write the correct letter in the blanks provided. 
The first one is done for you.

 

Sections

Good sources of iron; dark leafy vegetables, 
brown	rice,	meat	and	fish.																			(.........)

“Winter Melodies” the musical evening was 
held at BMICH on the 27th December.    
           (.........)

Applicantions are invited for the post of 
accountant in a leading import - export	firm.    
           (.........)

The 15th Junior Athletic Championship will be 
held at Sugathdasa Stadium from 4th to 6th of 
April.             (.........)

The Asian Development Bank will allocate 
US$ 3 billion for Sri Lanka for the period of 
2016 – 2018.         (.........)

Buy beautiful sarees at special prices. 
Star Handlooms Pvt (Ltd), No - 310, 
Galle Road, Colombo 04.         (.........)

Extracts

e
1.

2.

3.

4.

5.

6.

(a) SPORTS

(b) HEALTH AND WELL-BEING

(c) JOBS

(d) TEXTILE

(e ) ARTS AND MUSIC

(f)  BUSINESS AND  FINANCE

Q. 3

½ ×

Total 

        5 

Q. 4

1 ×

Total 

        5 
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❍       Test 5
Read	the	following	conversation	and	fill	in	the	blanks	in	the	summary	given	below.	
The first one is done for you.

Rashmi : Samitha, we have to work on our Science project. Are you coming to my house tomorrow?
Samitha : Yes. Please tell me how to get there.
Samitha : How are you coming? By bus or train?
Rashmi : By train. I hope to catch the 9.30 train.
Samitha : That’s a slow train. Take the 9 o’clock express train from Colombo Fort to Polgahawela. 
Rashmi :  Alright.
Samitha : Then, get off at the Gampaha station.
Rashmi : Is it the second stop?
Samitha : No. It’s the third stop. Go over the level crossing. Then turn to your left and walk straight until 

you come to a roundabout.
Rashmi : Do I have to walk far?
Samitha : No, it’s about 200 metres. Now turn left into the First Lane.
Rashmi :  And then?
Smitha : Walk past the bank and the library and take the second lane to your right.
Rashmi : Does the lane have a name?
Samitha :  Yes. It’s called School Lane. My house is the fourth one on the right.            

   One can easily reach Samitha’s house by train. If you catch the (1) express  train , you have 
to get down at Gampaha that is the (2) .............  ............. , from Colombo. You have to cross the  
(3)  .....................  ..................... , near the station and turn left. You have to walk about two hundred 
metres to come to a (4) ..................... . turn left and walk past the bank and the library. Take the  
(5)  .....................  .....................  to your right. That’s the (6)  .....................  ..................... . The fourth house 
on the right is Samitha’s house.  

❍ Test  6
You received the following note from your friend. Write a suitable response in the space provided. 
Use about  40 - 50 words.                    

Nisha,

I’m not well  and won’t be able to come to school for a few days. 
I hope to go on the school trip. Please send me the date and the 
time of departure, places to be visited, and things to be brought. 
       Randi

.............................................................................................................................................................

.............................................................................................................................................................

.............................................................................................................................................................

.............................................................................................................................................................

.............................................................................................................................................................

.............................................................................................................................................................

.............................................................................................................................................................       

.............................................................................................................................................................

.............................................................................................................................................................

.............................................................................................................................................................                            

Q. 5

1 ×

Total 

        5 

Q. 6

C
L

Total 

       5 
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❍ Test 7

Read the following text and answer the questions.

 The two boys walked slowly across the valley. Then suddenly Isuru stopped and sat down on a 
large stone. “It’s no use,” he said. “I can’t go any further. I’m absolutely exhausted!”

 Gayan looked at him for a minute. “Oh come on!” he said. “It’s not very far now. “Yes, but it’s 
uphill most of the way,” Isuru said. He pointed to the path in front of them. It went straight up the side of the 
valley. Gayan sat down too. For a while the two boys said nothing. Then Isuru pointed to some trees about 
half a mile ahead. 

 “There’s a hut among those trees, he said. “Perhaps we can spend the night there.”
I’ll go and take a look.” Gayan said. He ran down the path towards the hut and vanishing among the trees.
Isuru followed more slowly.
“What’s it like inside?” he asked when he reached the hut.
“Not bad, Gayan called back. “It feels a little damp, but there’s some wood in one corner, so we can light 
a	fire.”

The	two	boys	cleaned	out	the	hut	and	lit	a	fire.	Then	they	had	dinner.	They	were	both	tired	and	they	did	not	
talk	much.	Before	they	went	to	bed,	they	put	plenty	of	wood	on	the	fire.	Gayan	fell	asleep	almost	at	once,	
but	Isuru	lay	awake	for	a	long	time,watching	the	flames.Then	he	too	fell	asleep.
Suddenly	he	was	awake	again.	The	fire	was	nearly	out.	He	could	hear	noises	outside.	It	sounded	like	voices.	
He woke up Gayan.

“It’s only the wind,” he grumbled. “Go to sleep again!” 
But it wasn’t the wind! The voices came nearer until they were just outside the hut. The door opened and a 
light shone on their faces. “They are here!” a voice called out. A policeman was standing in the doorway. 
He addressed the two boys. “You’ve given us a lot of trouble,” he said. “We’ve looked all over the valley 
for you two!”

1. What were the names of the two boys?
  .................................................................... ....................................................................
  
2. Where did they spend the night?
 ..................................................................................................................................................   

3. What did they do before they go to bed?
  ..................................................................................................................................................

4. What did Isuru do before he fell asleep?
  ..................................................................................................................................................

5. Who found the boys?
  .................................................................................................................................................. 

Q. 7

1 ×

Total 

        5 
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❍ Test  8 

 Write a  short paragraph on one of the following. Use about 50 – 60 words. 

 (1)     Kindness to animals.
 (2)     A historical place.

 .............................................................................................................................................................
 .............................................................................................................................................................
 .............................................................................................................................................................
 .............................................................................................................................................................
 .............................................................................................................................................................
 .............................................................................................................................................................
 .............................................................................................................................................................
 .............................................................................................................................................................
                     

* * *

Q. 8

1 ×

Total 

        5 
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Important :
* Answer all questions on this paper itself.       Two hours

❍     Test 9 
The following sentences are taken from a paragraph written by a student. There is a mistake in each sentence. 
Rewrite the sentences correcting the mistake. The first one is done for you.

1. Sir Arthur Conan Doyle is a famous writer of adventure story. 
 .................................................................................................................................................................

2.	 Sherlock	Holmes	is	a	fictional	character	create	by	him.	
 .................................................................................................................................................................

3. Holmes was a detection.
 .................................................................................................................................................................

4. Dr. John Watson is the other main character in her stories.
 .................................................................................................................................................................

5. Together they solves many mysteries.
 .................................................................................................................................................................

6. Doyle’s books are much love by many readers in the world.
 .................................................................................................................................................................

Sir Arthur Conan Doyle is a famous writer of adventure stories.

 

❍ Test 10
Select a word from the box which has a similar meaning to the phrases given within brackets and wite it in 
the space given. There are  three extra words. 

investigate,     prove,     evidence,    sentence, 
arrest,				fine,				innocent,				crime,				person							

The police

 They do a number of things. When someone does something illegal, the police must  
(1)	.....................................	(try	to	find	out	what	happened).	If	they	find	persons	responsible	for	the	crime,	
they (2)  .....................................  (take them to the police station) them. At the police station, they question 
the suspects that committed the (3)  ..................................... (breaks the law), then they are charged with the 
crime they are believed to have done. The suspects must then go to court for trial.

	 In	court,	 the	persons	charged	with	 the	crime,	now	called	 the	defendants	or	accused	must	 try	 to	 
(4) .....................................  (provide facts to show something), that they did not commit the crime; in other 
words that they are (5) .....................................  (not guilty). The jury listens to all the (6)  ............................ 
(information about the crime) and then makes their decision.

English Language II

Q. 9

1 ×

Total 

        5 

Q. 10

1 ×

Total 

        5 

investigate
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❍ Test 11 

Read	the	following	paragraph	and	fill	in	the	blanks	using	the	words	given	below.

air,   that,   coal,   absorb,   such,   and,   due,   getting, 
lifestyles, unhygeinic,   motor,   in,   to,   fauna,   gases 

 With the changing (1) ............................... and industrial development, our environment is 
getting polluted day by day. The land, water, and (2) ............................... are becoming contaminated 
and	(3)	 ...............................	 for	sustaining	biological	system,	(4)	 ...............................		  is	growth	of	flora,	 
(5) ............................... , vegetation and people. Due (6) ............................... emissions of industries and  
(7) ............................... vehicles the atmosphere is (8) ............................... polluted with dangerous chemicals 
(9) ............................... the form of gases. These (10) ............................... , mainly carbon dioxide, are 
produced  (11) ............................... to burning of fuels (12) ............................... as petrol, diesel, wood 
(13) ............................... etc.
 We are burning wood (14) ............................... cutting down trees which (15) ............................... 
carbon	dioxide	in	the	process	of	producing	food.	It	causes	green	house	effect,	which	is	believed	to	be	the	
cause of a gradual warming of the surface of the Earth.

lifestyles

 
     
❍ Test 12

Given below is a conversation Pubudu had with Udara. Complete the extract from a letter Pubudu wrote to 
another friend a few weeks later mentioning about this conversation.  The first one is done for you.

Pubudu  :  Hi, Udara! Where are you going?
Udara		 :		 Hi!	I’m	on	my	way	to	the	book	fair	to	buy	a	dictionary.
Pubudu  :   Really! My uncle gave me one recently. 
Udara  :  Do you know how to use it?
Pubudu  :  Yes. My sister is helping me.
Udara  :   By the way, would you like to come with me?
Pubudu		:			I’m	sorry,	I	can’t.	I	have	volleyball	practices.
Udara		 :			Then	it’s		OK.	I’ll	bring	my	new	dictionary	to	school	tomorrow.
Pubudu		:		 	I’ll	bring	mine	too.	See	you!

I	met	Udara	a	few	weeks	ago.	He	said	that	(1)	………………................................................…………	

I	 told	 him	 that	 my	 uncle	 (2)	 ………………………………	 recently.	 Udara	 asked	 me	 if	 I	 knew	 how	 

to	use	it	and	I	told	him	that	my	sister	(3)	……………………………..	.	Then	he	invited	me	to	join	him	 

to	go	to	the	book	fair	but	I	said	I	couldn’t	because	(4)	………………………………………….....……		.	 

He	said	that	(5)	……………………………………………………………		.	I	said	that		(6)	……........……	

…………………………………………	too.

he was on his way to the book fair to buy a dictionary

 

Q. 11

½ ×

Total 

       7 

Q. 12

1 ×

Total 

       5 
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❍ Test 13
Study the two pictures given and select the sentences which describe each picture. Write the correct letter 
in the relevant column. One is done for you.

        
Picture BPicture A

a. The station is deserted.
b. The luggage barrow is empty.
c. The porter is wheeling the luggage.
d. There is a young man sitting on a bench reading a newspaper.
e. The station is crowded. 
f. Many passengers are getting off the train that has just arrived.
g. There is a dog sleeping on the platform.
h. There is a long queue of people waiting to buy tickets. 
i.	 It	seems	that	a	train	has	not	arrived	for	a	long	time.
j. The ticket collector is collecting the tickets from the passengers leaving the station. 
k. The porter is leaning against a pillar by the luggage barrow.

Picture A Picture B
a

❍ Test 14

(a)  You had a cultural show in your school recently. Write a letter to a friend abroad describing the event.
	 Include	the	following.
  •  the organizers 
  •  the purpose   
  •  the items presented  
  •  response from the audience
  •  the sponsors
 Use about 100 words.    

OR

Q. 13

½ ×

Total 

       5 
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(b)   The following bar graph shows the average rainfall of the Western Province received in 2014. 
 Study the graph and write a description about it. Use about 100 words.
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The following words may help you.

highest
equal

lower than
higher than
very little
increase
decrease
minimum
maximum

.............................................................................................................................................................

.............................................................................................................................................................

.............................................................................................................................................................

.............................................................................................................................................................

.............................................................................................................................................................

.............................................................................................................................................................

.............................................................................................................................................................

.............................................................................................................................................................

.............................................................................................................................................................

.............................................................................................................................................................

.............................................................................................................................................................

.............................................................................................................................................................

❍ Test 15 
Read the following text and answer the questions.

  Mark Twain was the pen – name of Samuel Langhorne Clemens. He spent his early boyhood in 
the little town of Hannibal in Missouri, and it was those happy days he was remembering when he wrote  
The Adventures of Tom Sawyer.
  Mark Twain left school at the age of thirteen. He went to work as an apprentice – printer, 
and later became a wandering printer in the cities of the East and West of America.
		  In	1856,	he	journeyed	down	the	Mississippi	and	became	a	pilot	on	that	great	river.	Later	he	
wrote	humorous	stories	for	papers,	and	was	a	popular	lecturer	in	the	far	West.	In	1869	he	published	
the witty travel book the Innocents Abroad, and with this success, he settled down to become a 
novelist. He married Olivia Langdon, and they lived in Hartford, Connecticut, and brought up a 
family there.
  Mark Twain wrote The Adventures of Tom Sawyer between 1873 and 1875, and his own 
children	loved	it.	It	is	a	book	that	has	been	read	and	enjoyed	by	countless	boys	and	girls	all	over	
the	world	because	of	 its	delightful	mixture	of	practical	 jokes	and	 fantasy.	 It	 rings	 true	because	 it	
is an exaggerated version of Twain’s own youth; the exciting times highlighted, and the dull ones 
ignored. For instance, the cave, full of bats, is actually situated three miles below Hannibal, and was  
well-known to the young Samuel Clemens.

Q. 14

C
L
O
M

Total 

       10 

5

10

15
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 ‘A boy’s life is not all comedy,’ Twain says of his youth. ‘Much of the tragic enters into it.’ And 
in	this	book	he	has	shown	some	of	the	horror	and	fear	felt	by	a	child	in	a	primitive	community.	Its	
great merit lies in the relationship between Tom Sawyer and his Aunt Polly, and with Huckleberry 
Finn; and in its descriptions of village life in that part of America during the middle of the nineteenth 
century.

                         Taken from the abridged 
                           McMillan edition of the 
                           Adventures of Tom Sawyer by Mark Twain

(1)  Say whether the following statements are True or False by writing T or F against them.
  i.  Samuel Langhorne Clemens was the real name of Mark Twain.   
  ii.  The Adventures of Tom Sawyer is true to life of Mark Twain as he uses his   

  childhood experiences in it.        
  iii.  After leaving school, Mark Twain started working as a  carpenter.   
  iv.  Twain's 'Innocents Abroad' was a landmark in his life as 
   a novelist.        

(½ × 4 = 2  marks)

(2)  Why has “Adventures of Tom Sawyer” been enjoyed by children all over the world?
 .......................................................................................................................................... 

   (1 mark)
(3)  Underline the correct answer. 
 ‘A boy’s life is not all comedy', means, 
	 (i)		 It	is	a	mixture	of	both	good	and	bad	times.
	 (ii)		 It	is	full	of	happiness	and	enjoyment.
 (iii)  His whole life is miserable.                  (1 mark)

(4)  The two adjectives that describe Twain's youthful days are .................................. and  ................... . 
(1 mark)

(5)  Find the words from the passage which have the same meaning as the following.
  funny   ...............................
  well known ...............................                (1 mark)

(6)  Find the words from the passage that have the opposite meaning to the following.
  failure  ...............................
  reality  ...............................                 (1 mark)

(7)  What do the following pronouns refer to.
  they   ............................... (in line 9)
  it   ............................... (in line 17)                (1 mark)

Q. 15

    

Total 

       8 

20
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❍ Test 16

        Write on one of the following. Use about 200 words.
 (a) An essay on 
  'For a greener tomorrow - say 'no' to polythene'
  You may include the following 
	 	 •			environmental	issues		 -	 non	decaying	material
   - blocking of waterways and sewage system
   - breeding grounds for mosquitoes 
   -  harmful to animals
   - emission of harmful gases when burnt 
	 	 •			practical	solutions	 -	 minimise,	reuse,	recycle	waste	material
   - reforestration

OR

 (b) Write the speech you would make at the School Assembly 'Taking care of school'.
  You may include the following : 
  - Types of school property
  -  Uses of them
  -  How to protect them
  - Duties / responsibilities as students

OR

(c) Use the following situation to create a story of your own.
 Amal – alone at home - heard a knock – puzzled
 Opened the door

OR

(d) Complete the following dialogue 
 
 Kanchana : Hey, did you see the poster at the main junction?
 Chathuri   : Oh! what's it about?   
 .................................................................................................................................................................
 .................................................................................................................................................................
 .................................................................................................................................................................
 .................................................................................................................................................................
 .................................................................................................................................................................
 .................................................................................................................................................................

G.C.E. (O.L.) Examination - Prototype  question for examinations from  2016 and onwards -  English Language



- 40 -
- 7 -

G.C.E. (O/L) Examinations - 2016 onwards - English Language

 .................................................................................................................................................................
 .................................................................................................................................................................
 .................................................................................................................................................................
 .................................................................................................................................................................
 .................................................................................................................................................................
 .................................................................................................................................................................
 .................................................................................................................................................................
 .................................................................................................................................................................
 .................................................................................................................................................................
 .................................................................................................................................................................
 .................................................................................................................................................................
 .................................................................................................................................................................
 .................................................................................................................................................................
 .................................................................................................................................................................
 .................................................................................................................................................................
 .................................................................................................................................................................
 .................................................................................................................................................................
 .................................................................................................................................................................
 .................................................................................................................................................................
 .................................................................................................................................................................
 .................................................................................................................................................................
 .................................................................................................................................................................
 .................................................................................................................................................................
 .................................................................................................................................................................
 .................................................................................................................................................................
 .................................................................................................................................................................
 .................................................................................................................................................................
 .................................................................................................................................................................
 .................................................................................................................................................................
 .................................................................................................................................................................
 .................................................................................................................................................................
 .................................................................................................................................................................
 .................................................................................................................................................................
 .................................................................................................................................................................
 .................................................................................................................................................................
 .................................................................................................................................................................

* * * 

Q. 16
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^32& fzpjk;

tpdhj;jhs; fl;likg;G

  
÷ ,J tpdhj;jhs; I, tpdhj;jhs; II vd;Dk;; ,U tpdhj;jhs;fisf; nfhz;Ls;sJ.

tpdhj;jhs; I
÷ Neuk; ,uz;L kzpj;jpahyk;.

÷ A, B vd ,U gFjpfs;. 
÷ A, B  Mfpa ,U gFjpfSk; 'mj;jpahtrpaf; fzpjf; fw;wy; vz;zf;fUf;fis"   

 mbg;gilahff; nfhz;L jahupf;fg;gLfpd;wd.

tpdhj;jhs; I ,d; %yk; ntspg;gLj;jg;gl Ntz;ba fzpj Nehf;fq;fspd; rjtPjq;fs; gpd;tUkhW.  

  mwpTk; jpwd;fSk;  50] 
  njhlu;ghly;    30]
  njhlu;Gilikfisf; fhzy; 20] 

gFjp A
 ÷ ,U Gs;spfs; tPjk; 25 FWfpa tpdhf;fs;        ^02 × 25 = 50 Gs;spfs;) 
 ÷ ,e;j 25 tpdhf;fSk;; gpd;tUkhW MW fzpjg; ghlf; fUg;nghUs;fSf;F cupait. 
  vz;fs;     04
  mstPLfs;    04
  ml;rufzpjk;    06 
  Nfj;jpufzpjk;    08 
  njhilfSk; epfo;jfTk;  02
  Gs;sptptutpay;    01 
  nkhj;jk;    25

gFjp B
 ÷ 10 Gs;spfs; tPjkhd 5 fl;likg;G tpdhf;fs;. ^10 ×  5 = 50 Gs;spfs;) 

÷ ml;rufzpjKk; Nfj;jpufzpjKk; vd;Dk; fUg;nghUs;fSf;F cupa tpdhf;fs; 

,lk;ngwkhl;lhJ.

÷ xt;nthU tpdhitAk; fl;likf;fg; gad;gLj;jg;gLk; gFjpfspd; vz;zpf;if  Fiwe;jgl;rk; 

%d;Wk; cau;e;jgl;rk; Ie;Jk; MFk;.

           tpdhj;jhs; I ,w;F nkhj;jg; Gs;spfs; = 100

tpdhj;jhs; II 
÷ Neuk; %d;W kzpj;jpahyq;fs;.

÷ A, B vd ,U gFjpfs;. 
 
gFjp A
 ÷ 10 Gs;spfs; tPjkhd 06 tpdhf;fs;. Ie;J tpdhf;fSf;F khj;jpuk; tpil vOj Ntz;Lk;.   
  ^10 ×  5 = 50 Gs;spfs;)

÷ gFjp A ,y; Nfj;jpufzpjf; fUg;nghUSf;F cupa tpdhf;fs; ,lk;ngwkhl;lhJ. 
÷ ml;rufzpjf; fUg;nghUspd; fPo; 3 tpdhf;fSk; vz;fs;> mstPLfs;> Gs;sptptutpay;> 

njhilfSk; epfo;jfTk; vd;Dk; fUg;nghUs;fspilNa njupe;njLj;j 3 fUg;nghUs;fspd;  

fPo; 3 tpdhf;fSk; ,lk;ngWk;.

÷ ehd;F tpdhf;fs;> xt;nthU tpdhtpYk; cs;s gFjpfspd; vz;zpf;if Fiwe;jgl;rk; 3 

,w;Fk; cau;e;jgl;rk; 5 ,w;Fk; kl;Lg;gLj;jg;gLkhW jahupf;fg;gLk;. Vida ,U tpdhf;fSk; 

cau;tupirapyhd Mw;wy;fis msf;Fk; fl;likg;G mw;w tpdhf;fs; MFk;. ,t;tpU 

tpdhf;fspilNa xU tpdh ml;rufzpjf; fUg;nghUspd; fPo; tUk;.
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÷ fzpj tpdhj;jhspy; cs;slq;f Ntz;ba tplaf; fUg;nghUs; rjtPjq;fSk; fzpj Nehf;fr;   

 rjtPjq;fSk; gpd;tUkhW. 
 
   tplaf; fUg;nghUs;fs;          rjtPjk; 

  vz;fs;        23%  
  mstPLfs;     15%  
  ml;rufzpjk;     20%  
  Nfj;jpufzpjk;     22%   
  njhilfSk; epfo;jfTk;   10%  
  Gs;sptpgutpay;     10%   

    Nfj;jpufzpj Nehf;fq;fs;        rjtPjk;  

  mwpTk; jpwd;fSk;   40%   

  njhlu;ghly;    20%  

  njhlu;Gilikfisf; fhzy; 20%   

  fhuzq;fisf; fhl;ly;  10%   

  gpurpdq;fisj; jPu;j;jy;.  10% 

gFjp B
 ÷ 10 Gs;spfs; tPjkhd 6 tpdhf;fs;. Ie;J tpdhf;fSf;F khj;jpuk;; tpil vOj Ntz;Lk;.  
                         ^10  ×  5 = 50 Gs;spfs;) 
 ÷ gFjp B  ,y; ml;rufzpjf; fUg;nghUSf;Fupa tpdhf;fs; ,lk;ngwkhl;lhJ>

÷ Nfj;jpufzpjf; fUg;nghUspd; fPo; 3 tpdhf;fSk; vz;fs;> mstPLfs;> Gs;sptptutpay;> 

njhilfSk; epfo;jfTk; vd;Dk; fUg;nghUs;fspilNa njupe;njLj;j 3 fUg;nghUs;fspd;; 

fPo; 3 tpdhf;fSk; ,lk;ngWk;. 
÷ ehd;F tpdhf;fs;> xt;nthU tpdhtpYk; cs;s gFjpfspd; vz;zpf;if Fiwe;jgl;rk; 3 

,w;Fk; cau;e;jgl;rk; 5 ,w;Fk; kl;Lg;gLj;jg;gLkhW jahupf;fg;gLk;. Vida ,U tpdhf;fSk; 

cau;tupirapyhd Mw;wy;fis msf;Fk; tpdhf;fs; MFk;. ,t;tpU tpdhf;fspilNa xU 

tpdh Nfj;jpufzpjf; fUg;nghUspd; fPo; tUk;.     
      tpdhj;jhs; II  ,w;fhd nkhj;jg; Gs;spfs; = 100
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tpdhj;jhs; I
 gFjp A

vy;yh tpdhf;fSf;Fk; ,j;jhspNyNa tpil vOJf.

1. xU njhiyf;fhl;rpg; nghwpapd; ngWkhdk; &. 35 000 MFk;. mjw;fhf mwtplg;gLk; jPu;itr; 

rjtPjk; 6%  vdpd;> mj;jPu;itg; gzk; vt;tsT?

2. ,q;F cs;s tiyiag; gad;gLj;jpr; nra;aj;jf;f     
jpz;kj;jpd; ngau; ahJ?       

                 

      

3. RUf;Ff :   6  
xy ×  

y 
3

  ;   ,q;F  x, y    0.  

4. jug;gl;Ls;s cUtpy; Fwpf;fg;gl;Ls;s        P

Q R S

 jfty;fSf;Nfw;g QPS^
,d; gUkidf; fhz;f.

   

 

5.  ve;j ,U mLj;JtUk; KO vz;fSf;fpilNa √  15  ,Uf;Fk;? 

6. xU ngl;bapy; ru;trkdhd 2 ePyg; NgidfSk; 5 fWg;Gg; NgidfSk; 3 rptg;Gg; NgidfSk; 

cs;sd. mtw;wpypUe;J vOkhw;whf ntspNa vLf;Fk; xU Ngid rptg;Gg; Ngidahf ,Ug;gjw;fhd 

epfo;jfT ahJ?

7. x2,  2x,  6y vd;Dk; ml;rufzpj cWg;Gfspd; nghJ klq;FfSl; rpwpaijf; fhz;f.

8. jug;gl;Ls;s tl;lj;jpd; ikak; O MFk;. x ,d;    

52° C

BA

x°

O

        
  ngWkhdj;ijf; fhz;f.              
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9. P = { x : x  MdJ xU tu;f;f vz;zhFk;. x ≤ 16}  
 njhil  P  I mjd; %yfq;fisf; nfhz;L vOJf.

10. klf;if tbtj;jpy; 72  =  49 I vOJf. 

11.  jug;gl;Ls;s tl;lj;jpd; ikak; O MFk;. ehz; AB ,d; ePsj;ijf; fhz;f. 

5 cm3 cm

A BP

O

12. xU nrt;tl;l cUisapd; Miu 7 cm ck; cauk; 20 cm ck; MFk;. mjd; tisgug;gpd; 

gug;gsitf; fhz;f. (π = 22—  
7  vdf; nfhs;f.)

13. gpd;tUk; ngUf;fy; tpUj;jpapd; nghJ tpfpjj;ijf; fhz;f.

  1, 3, 9, 27,  .  .  .

14. jug;gl;Ls;s cUtpy; AB = 10 cm vdpd;> gf;fk; AC ,d;  A

B C

130°

25°

 ePsj;ijf; fhz;f.   

15. Gs;sp (0, 2) ,D}lhfr; nry;tJk;> gbj;jpwd; 3 MfTKs;s Neu;Nfhl;bd; rkd;ghl;il vOJf.

 

16. jug;gl;Ls;s cUtpy; AP = CR, BC = QR MFk;.  

B A

P

QR

 C

 Δ ABC ck; Δ PQR  ck; xUq;fpirfpd;wd. 

     (i)   AB ,w;F ePsj;jpw; rkkhd gf;fj;ijg; ngaupLf. 

 (ii) BAĈ ,w;Fg; gUkdpw; rkkhd Nfhzk; ahJ?
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17. rkdpyp 2x − 1  <  3  ,d; jPu;Tj; njhiliar; rupahff; fhl;Lk; vz; Nfhl;ilj; njupe;njLj;J mjd; 

fPo; xU Nfhl;bid tiuf.

 −4 −3 −2 −1 +1 +2 +3 +4 +5 0
x

 −4 −3 −2 −1 +1 +2 +3 +4 +5 0
x

 

 −4 −3 −2 −1 +1 +2 +3 +4 +5 0
x

      
  

80 

160 

240 

2 0  4 6  8

J
}u
k
; 
(f
pN
y
hk
Pw
;w
u;)

Neuk; (kzpj;jpahyk;)

18. rPuhd fjpapy; nry;Yk; Nkhl;lu;fhu; xd;wpd; ,af;fj;ijf; 

nfhz;L tiuag;gl;l J}u - Neu tiuG cUtpw; 

fhl;lg;gl;Ls;sJ. Nkhl;lu; thfdj;jpd; fjpiaf; fhz;f.     
         

19. jPu;f;f :   
4 
x  +  

3 
x

  = 14    

                
   

O 

B

D

A C

    
20. ABCD vDk; ehw;gf;fyhdJ ,izfukhtjw;F 

mjd; %iytpl;lq;fs; %yk; jpUg;jpg;gLj;jNtz;ba 

Njitg;ghl;il vOJf.

 

 

   

A B

C
21. epyj;jpy; xU Gs;sp A apypUe;J xU  nfhbf; 

fk;gk; BC ,d; cr;rp C Ig; ghu;f;Fk;NghJ 

Vw;wf; Nfhzk; 40° MFk;. mjid tupg;glj;jpy; 

Fwpf;f.   

       

 

22. vy;yh nka; x ,w;Fk; x2 +  8x + 7 =  (x +  a)(x +  b)  MFkhW a, b Mfpatw;iwf; fhz;f.
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23. xU tFg;gpy; cs;s khztu; FO xd;W  

nkhj;jg; Gs;spfs; 40 Md tpdhj;jhs; xd;Wf;Fg; 

Gs;spfisg; ngw;Ws;s tpjk; ,t;tiyAU 

tiuaj;jpy; fhl;lg;gl;Ls;sJ. tpdhj;jhSf;Fj; 

Njhw;wpa khztu;fspd; vz;zpf;if ahJ?

 

24. jug;gl;Ls;s rha;rJuk; ABCD ,y; ABD̂ = 50° MFk;.      
D

CB

A

50°

 BCD̂ ,d; gUkidf; fhz;f.   

                 

 

               

            

3 cm

C D

BA

                                    
25.  jug;gl;Ls;s NfhL AB ,ypUe;J 3 cm                                  

J}uj;jpYk; Gs;sp A  ,ypUe;J 5 cm J}uj;jpYk; 

cs;s xU Gs;sp P ,d; mikitg; ngWtjw;F 

xU khztdhy; tiuag;gl;l gUk;gbg; glj;jpd; 

xU gFjp cUtpy; fhl;lg;gl;Ls;sJ. mjidg; 

g+uzg;gLj;jpg; Gs;sp P ,d; mikitf;  Fwpf;f. 

 

* * 
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tpdhj;jhs; I
 gFjp B

vy;yh tpdhf;fSf;Fk; ,j;jhspNyNa tpil vOJf.

1 .  
kdpjndhUtu; gazj;jpd;NghJ nry;y Ntz;ba J}uj;jpy; 3—  5

 Ig; Gifapujj;jpYk; vQ;rpa       

J}uj;jpy; 2—  3  Ig; NgUe;jpYk; vQ;rpa J}uj;ij ele;Jk; nrd;whu;.

 (i) Gifapujj;jpy; nrd;w gpd;du; nry;tjw;F vQ;rpapUe;j J}uk; nkhj;jj; J}uj;jpd; vd;d 

gpd;dkhFk;? 

 (ii) NgUe;jpy; nrd;w J}uk; nkhj;jj; J}uj;jpd; vd;d gpd;dkhFk;? 

 (iii) Gifapujj;jpy; nrd;w J}uj;jpw;Fk; ele;J nrd;w J}uj;jpw;FkpilNa cs;s tpfpjj;ij vspa 

tbtpy; vOJf.

 (iv) gazj;jpd; nkhj;jj; J}uk; 30 fpNyhkPw;wuhFk;. Gifapujj;jpy; nrd;w Neuk; 20 epkplq;fSf;Fk; 

Gifapujj;jpd; ruhrupf; fjpiaf; fpNyhkPw;wu; / kzpj;jpahyj;jpy; fhz;f.   

2. tpl;lk; 14 kPw;wuhd Xu; miutl;l epyg; gFjp cUtpw; fhzg;gLfpd;wJ. mjd; ePsk; 7 kPw;wu; 
MfTk; mfyk; 3 kPw;wu; MfTk; cs;s xU nrt;tfg; gFjpapy; kzy; gug;gg;gl;Ls;sJ. vQ;rpa 

gFjpapy; Gy; tsu;f;fg;gl;Ls;sJ.     

14 mA B

7 m

3 m

                 

 (i) miutl;l epyg; gFjpapd; Rw;wsT ahJ?  

 

 (ii) Gy; tsu;f;fg;gl;l epyg; gFjpapd; gug;gsT ahJ? 

 (iii) Gy; tsu;f;fg;gl;l epyg; gFjpapd; gug;gsTf;Fk; kzy; gug;gg;gl;Ls;s epyg; gFjpapd; 

gug;gsTf;FkpilNa cs;s tpfpjj;ijf; fhz;f.

 (iv) Gy; tsu;f;fg;gl;l epyg; gFjpapd; gug;gstpw;Fr; rkkhd gug;gsitf; nfhz;l xU nrt;tf 

epyg; gFjpia mjDld; Nru;f;f Ntz;bAs;sJ. mjd; Xu; vy;iy AB MfTk; miutl;lg; 

gFjp  epyj;jpw;F ntspNa ,Uf;FkhWk; mstPLfSld; gUk;gbg; glj;ij ,e;j cUtj;jpNyNa 

tiue;J fhl;Lf.
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3. (a) xU epjp epWtfk; 12% Mz;L vspa tl;bapd; fPo; flid toq;Ffpd;wJ. Nkhfd; 

me;epWtdj;jpypUe;J &. 80 000 flid 3 Mz;Lfspd; ,Wjpapy; fldpypUe;J tpLgLtjhf 

vjpu;ghu;j;J> ngw;whu;.

(i) Xu; Mz;by; nrYj;j Ntz;ba tl;bg; gzj;ijf; fhz;f. 

        

(ii) 3 Mz;Lfspd; ,Wjpapy; fldpypUe;J tpLgLtjw;Fr; nrYj;j Ntz;ba nkhj;jg; 

gzj;ijf; fhz;f. 

    

(iii) ,e;epWtdj;jpypUe;J flidg; ngwhky; NtnwhU epWtfj;jpypUe;J 4 Mz;Lfspy; 

nrYj;Jtjw;F ,f;flidg; ngw;why;> &. 32 000 tl;biar; nrYj;j Ntz;Lk;. ,e;j 

,uz;lhk; epWtfk; mwtpLk; Mz;L vspa tl;b tPjk; ahJ? 

      

   (b) 10 ehl;fspy; xU kjpiyf; fl;Ltjw;F 12 kdpju;fs; Njitg;gLfpd;wdu;. Mdhy; Kjy; 10 
ehl;fspy; 6 kdpju;fs; khj;jpuk; Ntiy nra;jdu;. NkYk;  4 ehl;fspy; kjpiyf; fl;bKbj;jy; 

Ntz;Lk;. mjw;fhf me;ehd;F ehl;fspy; vj;jid Nkyjpf kdpju;fis <LgLj;jy; 

Ntz;Lk;?  

4. 7 ru;trk ghj;jpuq;fspy; 3 ,y; rptg;Gg;gr;ir muprpAk; vQ;rpa ghj;jpuq;fspy; nts;isg;gr;ir 

muprpAk; cs;sd. 

 (i) epkyd; ,g;ghj;jpuq;fspilNa vOkhw;whf xU ghj;jpuj;ijj; njupe;njLj;J mjpypUe;J  Xu; 

muprpg; igia ntspNa vLf;fpd;whd;. mr;re;ju;g;gj;jpd; NgWfSf;Nfw;g xU g+uzkw;w ku 

tupg;glk; fPNo jug;gl;Ls;sJ. mjidg; g+uzg;gLj;Jf. 

         

4—  7

rptg;Gg; gr;irauprpg; ghj;jpuk;

epkydpd; njupT

  (ii) epkyDf;Fg; gpd;dhy; fkyhTk; Nkw;Fwpj;j ghj;jpuq;fspilNa vOkhw;whf xU ghj;jpuj;ijj; 

njupe;njLj;J mjpypUe;J Xu; muprpg; igia ntspNa vLf;fpd;w mr;re;ju;g;gj;jpw;F cupa 

NgWfis cs;slf;fp Nkw;Fwpj;j ku tupg;glj;ij tpupTgLj;Jf. 

 (iii) epkyDf;F nts;isg; gr;ir muprpAk; fkyhTf;Fr; rptg;Gg; gr;irauprpAk; fpilg;gjw;fhd 

epfo;jfitf; fhz;f. 
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 (iv) epkyd;> fkyh Mfpa ,UtUk; ghj;jpuq;fspypUe;J 

muprpia ntspNa vLg;gjw;F cupa khjpup ntsp 

nea;aupapy; fhzg;gLfpd;wJ. mt;tpUtUk; 

xNu ghj;jpuj;jpypUe;J muprpia ntspNa 

vLg;gjw;fhd epfo;r;rpia nea;aupapy; Fwpf;f. 

 (v) ,UtUk; xNu ghj;jpuj;ijj; njupT nra;tjw;fhd 

epfo;jfit nea;aupapypUe;J fhz;f.

        

                             

60°
rpj;jpuk;

rq;fPjk;

eldk;

 

5. rpj;jpuk;> eldk;> rq;fPjk;> ehlfk;> ,yf;fpak; vd;Dk; 

mofpaw; ghlq;fSf;fhf xU tFg;gpy; cs;s khztu;fs; 

gfpug;gl;Ls;s tpjk; xU g+uzkw;w tl;l tiugpdhy; 

fhl;lg;gl;Ls;sJ.  

 

    (i)    rq;fPjj;ijj; njupe;njLj;j khztu;fspd; vz;zpf;if 

rpj;jpuj;ijj; njupe;njLj;j khztu; vz;zpf;ifapd; 

miuthrpahFk;. rq;fPjj;ijj; njupe;njLj;j 

khztu;fis tifFwpf;Fk; Miur; rpiwapd; ikaf; 

Nfhzk; ahJ?

  

  (ii) ehlfj;ijj; njupe;njLj;j khztu;fis tif Fwpf;Fk; Miur;rpiwapd; ikaf; Nfhzk; 

120°MFk;. ,yf;fpaj;ijj; njupe;njLj;j khztu;fis tifFwpf;Fk; Miur;rpiwapd; ikaf; 

Nfhzj;jpd; gUkidf; fz;L mjid cupa gpuNjrj;jpy; Fwpf;f. 

 (iii) 8 khztu;fs; eldj;ijj; njupe;njLg;gpd;> tFg;gpy; cs;s khztu;fspd; vz;zpf;if ahJ?

        

 (iv) Fwpj;j ,U ghlq;fSf;F cupa khztu;fspd; vz;zpf;if Vida %d;W ghlq;fSf;F cupa 

khztu;fspd; vz;zpf;iff;Fr; rkk;. mt;tpU ghlq;fSk; ahit?

 

* *  * 
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tpdhj;jhs; II
 gFjp A

Ie;J tpdhf;fSf;F khj;jpuk; tpil vOJf.

1.    (a)  xU tPl;bd; kjpg;gpl;l tUkhdk; &. 48 000 MFk;. mjw;fhd ,iwtupahf Mz;LNjhWk; 5% 

gzk; mwtplg;gLfpwJ. xU fhyhz;bw;fhfr; nrYj;j Ntz;ba ,iw tupiaf; fhz;f. 

(b)  (i) Rdpy; &. 60 000 I 8% Mz;Lf; $l;L tl;b tPjj;ij toq;Fk; xU epWtfj;jpy; itg;Gr; 

nra;jhu;. mt;thW itg;Gr; nra;jhy;> ,U Mz;Lfspd; ,Wjpapy; mtUf;Ff; fpilf;Fk; 

nkhj;jg; gzj;ijf; fhz;f.  

 (ii) epWtfj;jpy; itg;Gr; nra;tjw;F ,Ue;j gzj;ij xU gq;fpw;F &. 1.50 tPjk; Mz;Lg; 

gq;fpyhgj;ijr; nrYj;Jk;> xU gq;fpd; re;ij tpiy &. 15 Md gq;Ffisf; nfhs;tdT 

nra;tjw;F 2 Mz;LfSf;fhf xU fk;gdpapy; KjyPL nra;ayhk;. mtUf;Ff; $l;L 

tl;bf;Fg; gzj;ij KjyPL nra;tjh my;yJ fk;gdpapy; KjyPL nra;tjh mD$ykhdJ 

vd;gijf; fhuzq;fSld; fhl;Lf. 

 (iii) Nkw;Fwpj;j gzj;ij mNj fk;gdpapy; ,U Mz;LfSf;F KjyPL nra;tjhy; mtu; 

ngWk; tUkhdr; rjtPjkhdJ fk;gdp vt;tsT gq;fpyhgj;ijr; nrYj;jpdhy; 30% Mf 

,Uf;Fk;? 

2. rhu;G y  =  x2  − 4x − 3  ,d; x ,d; rpy ngWkhdq;fis xj;j y  ,d; ngWkhdq;fs; ,lk;ngWk; Xu; 
ml;ltiz fPNo jug;gl;Ls;sJ.

 

x −1 0 1 2 3 4 5

y 2 −3 −6 −7 −6 −3 2

 (i) cfe;j Xu; mstpiliag; gad;gLj;jpr; rhu;G y  =  x2  − 4x − 3 ,d; tiuig tiuf.

 (ii) rhu;gpd; ,opTg; ngWkhdj;ij vOJf.          

 (iii) Mapil −6 < y < 0  ,y; rhu;gpd; ngWkhdk; mjpfupf;Fk; x ,d; ngWkhd Mapilia 

vOJf.

 (iv) x2  −  4x  − 3  =  0  ,d; %yq;fisf; fz;L> mjpypUe;J> √  7 ,d; ngWkhdj;ijf; fpl;ba 

Kjyhe; jrk jhdj;jpw;Fg; ngWf. 

  (v) Xu; cfe;j Neu;Nfhl;bid tiutjd;%yk; tiuG kPJ x Ms;$W y Ms;$wpd; ,Uklq;fhf 

rkkhf ,Uf;Fk; xU Gs;spapd; Ms;$Wfis vOJf. 

3.   (a)  gpd;tUk; xUq;fik rkd;ghl;Lr; Nrhbiaj; jPu;f;f.  

   3x  +  y   =  11 
   2x  − 5y  =  − 4     

  (b)  A, B vd;Dk; ,U tu;j;jf epiyaq;fspy; I];fpwPk;> Nahfl; Mfpatw;wpd; tpiyfs; KiwNa 

fPNo jug;gl;Ls;sd. 

   tu;j;jf epiyak; A :  &. 40" &. 30
   tu;j;jf epiyak; B :  &. 38" &. 35

 (i) tupir 2 × 2 Md xU jhaj;jpy; epiufspdhy; xU tu;j;jf epiyak; fhl;lg;gLkhW 

Nkw;Fwpj;j jfty;fis tifFwpf;f. mjid P  vdg; ngaupLf.
 (ii) xU tpUe;Jgrhuj;jpw;fhf 20 I];fpwPKk; 30 Nahfl;Lk; Njit. ,e;j msTfis tupir  

1 ×  2 MfTs;s xU jhaj;jpy; fhl;b> mt;tpU jhaq;fspdJ ngUf;fj;ijf; ngWf. 

 (iii) mg;ngUf;fj;ijf; nfhz;L 20 I];fpwPikAk; 30 Nahfl;ilAk; nfhs;tdT nra;jy; 

mD$ykhdjhf ,Uf;Fk; tu;j;jf epiyaj;ijf; fhuzq;fSld; vOJf.  
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A

B

L

H

4. cUtpy; H ,dhy; xU JiwKfKk;  L ,dhy; xU 
fyq;fiutpsf;fKk; fhl;lg;gl;Ls;sd. xU re;ju;g;gj;jpy; 

fg;gy; A, fg;gy; B, JiwKfk; H Mfpad xU Nfhl;by; 

cs;sd. mr;re;ju;g;gj;jpy; fg;gy; A MdJ JiwKfk; 

H ,ypUe;J 040° jpirNfhspYk; 4.5 km J}uj;jpYk; 

fyq;fiutpsf;fk;  L MdJ fg;gy; A ,ypUe;J 
110° jpirNfhspYk; 3km J}uj;jpYk; cs;sd. NkYk; 

mr;re;ju;g;gj;jpy; ABL̂ = 90°. 

 (i) cUitg; gpujpnra;J Nkw;Fwpj;j juTfis mjpy; Nru;f;f.    

 (ii) jpupNfhzfzpj ml;ltizfisg; gad;gLj;jp BHL^
,d; ngWkhdj;ijf; fhz;f. 

 

5. xU NgUe;jpy; efuk; A ,ypUe;J efuk; B ,w;F xt;nthU ehSk; nrd;w gazpfspd; vz;zpf;if 

gw;wp 30 ehl;fs; cs;s xU khjj;jpy; ngw;w jfty;fs; fPNo jug;gl;Ls;sd. 

       tFg;G Mapil (gazpfspd; vz;zpf;if)  kPbwd; (ehl;fspd; vz;zpf;if)  

5  −  9
 10 − 14
15 − 19
20− 24
25 − 29
30 − 34
35 − 39

2
5
4
6
8
3
2

 

  

 (i) jug;gl;Ls;s juTfSf;Nfw;g xU ehspy; A apypUe;J B apw;Fr; nrd;wjhf vjpu;ghu;f;fj;jf;f 
$Ljyhd gazpfspd; vz;zpf;if ahJ?  

 (ii) xU ehspy; A ,ypUe;J  B apw;Fr; nrd;w gazpfspd; vz;zpf;ifapd; ,iliaf; 

fzpf;f. 

   (iii) ,j;jifa 03 khjq;fspy; NgUe;jpy; nrd;w gazpfspy; 3—  5
 khj;jpuk; A ,ypUe;J B 

,w;Fr; nrd;wtu;fshtu;. ,k;%d;W khjq;fspYk; NgUe;jpy; nrd;w gazpfspd; vz;zpf;if 

ahJ?  

 (iv) A ,ypUe;J B ,w;Fr; nry;Yk; xU gazpapd; gazf; fl;lzk; &. 30 ck; Vida 

xU gazpapd; gazf; fl;lzk; &. 15 ck; MFk;. %d;W khjq;fspy; A ,ypUe;J  B 
,w;Fr; nry;Yk; gazpfsplkpUe;J fpilf;Fk; tUkhdkhdJ Vida gazpfsplkpUe;J 

fpilf;Fk; tUkhdj;jpd; Kk;klq;nfdf; fhl;Lf. 

6.  
A B

CED
(2x − 3) cm

(x + 3) cm

  cUtpy; cs;s ruptfk; ABCD ,y; AB = (x + 3) cm, DC = (2x − 3) cm,  BE = EC MFk;. 

ruptfj;jpd; gug;gsT 15 cm2 vdpd;>  DC apd; ePsj;ijf; fpl;ba Kjy; jrkjhdj;jpw;Ff; fhz;f. 

  (√  19  = 4.36 vdf; nfhs;f.)
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gFjp B
Ie;J tpdhf;fSf;F khj;jpuk; tpil vOJf.

7. Xu; myq;fhuj;jpw;fhff; fPjh wpgd; gl;bfis Kjy; Jz;L 20 cm MfTk; ,uz;lhk; Jz;L 25 
cm MfTk; %d;whk; Jz;L 30 cm MfTk; ,Uf;FkhW cs;s Nfhyj;jpw;F Vw;g ntl;bdhu;. 

myq;fhuj;jpw;fhff; fPjhtpw;Fj; Njitahd kpfTk; ePskhd wpgd; gl;bj;Jz;L 95 cm ePsKs;sJ.   
  

 (i) mt;tyq;fhuj;jpw;F 10 kPw;wu; ePsKs;s wpgd; gl;br; RUs; NghJkhdnjdf; fhuzq;fSld; 

fhl;Lf. 

 (ii) myq;fhuj;jpw;fhf Nkw;Fwpj;j ntl;lg;gLk; kpfTk; ePskhd wpgd; gl;bj; Jz;L Nkw;Fwpj;j 

ePskhd Jz;bd; ,Uklq;fhFk;. mt;thW ,Ug;gjw;F  10 kPw;wu; tPjk; ePsKs;s ,U wpgd; 

gl;br; RUs;fs; NghJkhditah vdf; fzpj;Jf; fhl;Lf. 

 

8. gpd;tUk; mikg;GfSf;fhf xU cm/ mm mstpil cs;s xU Neu; tpspk;igAk; ftuhaj;ijAk; 

khj;jpuk; gad;gLj;Jf. cq;fs; mikg;Gf; NfhLfisj; njspthff; fhl;Lf. 

 (i) jug;gl;Ls;s gUk;gbg; glj;jpy; cs;s mstPLfSf;Nfw;g     A     

B      C        

5 cm

8 cm
300

  Kf;Nfhzp ABC ia mikf;f. 

 (ii) A  ,ypUe;J BC apw;F xU nrq;Fj;Jf; Nfhl;bid mikj;J> 

  mJ BC Ir; re;jpf;Fk; Gs;spia D vdg; ngaupLf. 

 (iii) A, C, D  Mfpa Gs;spfspD}lhfr; nry;Yk; tl;lj;ij 

  mikf;f.     

 (iv) mt;tl;lj;jpw;F C ,y; xU njhlypia mikj;J> mJ ePl;lg;gl;l AD Ir; re;jpf;Fk; Gs;spia 
X vdg; ngaupLf.        

 (v) AXĈ = ACB̂   vdf; fhl;Lf.          

9. jug;gl;Ls;s cUtpy; BAP̂ = CAP̂ MFk;. B apy; tl;lj;jpw;F tiuag;gl;Ls;s xU njhlyp ePl;lg;gl;l 
NfhL AP I Q ,w; re;jpf;fpd;wJ. BQ = QC MFk;.    A

C

D

P
Q

B

 (i) QBP^ = a  vdpd;> BAĈ apd; gUkid a  ,d; rhu;gpy; 
  vOJf.     

 (ii) BCQ̂  = BAQ̂   vdf; fhl;Lf.            

 (iii) ABQC xU tl;l ehw;gf;fnydf; fhl;Lf. 

 (iv) BPD  Xu; ,Urkgf;f Kf;Nfhzpnadf; 

  fhl;Lf. 

    

10. xU Kf;Nfhzp ABC ,y; AB, AC Mfpa gf;fq;fspd; eLg; Gs;spfs; KiwNa P, Q MFk;. ePl;lg;gl;l 

NfhL BQ ck; A ,D}lhf PQ ,w;Fr; rkhe;jukhf tiuag;gl;Ls;s NfhLk; R ,w; re;jpf;fpd;wd.  

Nkw;Fwpj;j jfty;fis cs;slf;fpa Xu; tiue;J fhl;b> gug;gsT ABCR  =  8 gug;gsT APQ  vd 

 epWTf.      
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11. 10.5 cm MiuAs;s XU nrt;tl;l cUisj; jpz;k cNyhff; Fw;wpapd; cauk;  20 cm MFk;. 

mt;TUisia cUf;fp 25 rk jpz;k cNyhff; Nfhzq;fisr; nra;Ak;NghJ 230 cm3 cNyhfk; 

vQ;rpapUf;fpd;wJ. 

 (i)   π = 22—  
7  vdf; nfhz;L cUis tbt cNyhff; Fw;wpapd; fdtsitf; fzpf;f. 

 (ii) nra;ag;gLk; Xu; cNyhff; Nfhsj;jpd; fdtsT ahJ? 

 (iii) nra;ag;gLk; xU Nfhsj;jpd; Miu r vdpd;>  π = 3.14 vdf; fUjp klf;if ml;ltizfisg; 

gad;gLj;jp r3 ,d; ngWkhdj;ijf; fpl;ba KO vz;zpw;Fg; ngWf. 

 (iv) NkNy r3 ,w;Fg; ngw;w ngWkhdj;ijf; nfhz;L Nfhsj;jpd; Miuiaf; fzpf;f. 

12. xU tq;fpapy; fzf;if itj;jpUf;Fk; 250 egu;fspd; njhopy;fs; gw;wpa jfty;fs; gpd;tUk; ntd; 
tupg;glj;jpy;  jug;gl;Ls;sd. 

  

 

15 64  murhq;fj; njhopy; (A)

Ra njhopy; (B)

jdpahu; njhopy; (C)

fzf;F itj;jpUg;gtu;fs;

ω

250

 jdpahu; Jiwapd; njhopy;fspy; 73 egu;fSk; murhq;fj; njhopy;fspy; 120 egu;fSk; Ra 

njhopy;fspy; 63 egu;fSk; <Lgl;bUg;gpd;>

 (i) murhq;fj; njhopy;fspy; khj;jpuk; <Lgl;Ls;stu;fspd; vz;zpf;if ahJ?

 (ii) xU Ra njhopypy; khj;jpuk; <Lgl;Ls;stu;fSf;fhff; Fiwe;j tl;bf;Ff; flid toq;Ftjw;F 

tq;fp jPu;khdpj;Js;sJ. mjw;fhf tpz;zg;gpf;fj;jf;ftu;fspd; vz;zpf;if ahJ?

 (iii) ntd; tupg;glj;jpy; epow;wg;gl;Ls;s gpuNjrj;jpdhy; tifFwpf;fg;gLk; njhopy; gw;wpr; nrhw;fspy; 

tptupf;f. mjid A, B, C Mfpad rhu;ghfj; njhilf; Fwpg;gPl;bYk; vOJf. 

 (iv) ,t;tq;fpapy; fzf;F itj;jpUg;gtu;fspilNa Nkw;Fwpj;j %d;W tiffspYk; ve;jj; 

njhopypYk; <Lglhjtu;fspd; vz;zpf;ifiaf; fz;L> mJ jdpahu; njhopYld; xU Ra 

njhopypYk; <LgLgtu;fspd; vz;zpf;ifapd; ,U klq;nfdf; fhl;Lf. 

 (v) jdpahu; Jiwapd; njhopYld; xU Ra njhopypYk; <LgLtu;fs; Ranjhopy; nra;tijf; 

iftpl;lhy;> Nkw;Fwpj;j ntd; tupg;glk; khWk; tpjj;ij cupa vz; rhu;e;j jfty;fSld; 

tiue;J fhl;Lf. 

 * * * 
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(32) Mathematics

Structure of the Question Paper 

÷  The question paper consists of two papers, namely Paper I and Paper II. 
 

Paper  I
÷ The duration is two hours.
÷ Two parts named Part A and Part B. 
÷ Both Part A and Part B are based on “Essential Mathematical Learning Concepts”.

The percentages of the “Aims of Mathematics” which are required to be covered in Paper I are as 
follows.
  Knowledge and Skills 50%
  Communication  30%
  Connections  20%

Part A  
÷ 25 short questions worth two marks each.        (02 × 25 = 50 marks)
÷ These 25 questions will come under the 6 mathematics subject themes as follows.
  Numbers    04
  Measurements   04
  Algebra    06
  Geometry   08
  Sets and Probability  02
  Statistics   01
  Total number of questions 25

Part B
÷ Five structured questions worth 10 marks each.          (10 × 5 = 50 marks)
÷ Questions on the themes algebra and geometry are not included. 
÷ At least three parts and at most five parts will be used to structure each question.
                                    Total marks for Paper I  = 100

Paper II
÷ The duration is three hours.
÷ Two parts named Part A and Part B.

Part A
÷ Six questions worth 10 marks each.  Only five questions should be answered.
                (10 × 5 = 50 marks)
÷ Questions on the theme Geometry are not included in Part A.
÷ Three questions under the theme Algebra and three questions from three themes selected 
 from the themes Numbers, Measurements, Statistics and Sets and Probability are included.
÷ Four of the questions are such that each question has at least 3 parts and at most 5 parts. The 
 other two questions are unstructured and test higher order skills.  One of these two questions 
 will be under the theme Algebra.

  d
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Part B
÷ Six questions worth 10 marks each.  Only five questions should be answered.
                (10 × 5 = 50 marks)
÷ Questions on the theme Algebra are not included in Part B.
÷ Three questions under the theme Geometry and three questions from three themes selected 
 from the themes Numbers, Measurements, Statistics and Sets and Probability are included.
÷ Four of the questions are such that each question has at least 3 parts and at most 5 parts. The 
 other two questions are unstructured and test higher order skills.  One of these two questions 
 will be under the theme Geometry.
                            Total marks for Paper II   = 100

÷ The percentages of the Subject Themes and the Aims of Mathematics included in the Mathematics 
 question paper are as follows. 
 

 Subject Theme       Percentage               Aim of Mathematics    Percentage 

 Numbers  23%   Knowledge and Skills 40%   

 Measurements  15%   Communication   20%  

 Algebra  20%   Connections    20%   

 Geometry  22%   Reasoning   10%   

 Sets and Probability   10%   Problem Solving   10%  

 Statistics  10%   
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Paper  I
Part  A

Answer all questions on this paper itself. 

1. The value of a television set is Rs 35 000. If the import duty percentage charged on this item is 
 6%, how much is the import duty? 

2. What is the name of the solid that can be constructed using the net shown here? 

    

 

3. Simplify :    6  
xy ×  

y 
3

  ;  here  x, y    0' 

4. Find the magnitude of  QPS^  based on the        P

Q R S

  

 information marked on the given figure.

    

5.  Between which two consecutive whole numbers does  √		15  lie?

6.  In a box, there are 2 blue pens, 5 black pens and 3 red pens which are identical. What is the 

  probability of a pen taken randomly from this box being a red pen? 

7. Find the least common multiple of the algebraic terms x2,  2x,  6y.

8. The centre of the given circle is O. Find the value of  x.    

52° C

BA

x°

O
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9.  P = { x : x  is a square number and x ≤ 16}  

  Write down the set  P in terms of its elements.   

10. Write down  72  =  49 in logarithm form.

11.  The centre of the given circle is O.  Find the length of the chord  AB.    

5 cm3 cm

A BP

O

   

           

12. The radius of a right circular cylinder is 7 cm and its altitude is 20 cm. Find the area of its

 curved surface.  (Take  π = 22—  
7

)

13. Find the common ratio of the geometric progression given below.

  1, 3, 9, 27,  .  .  .

 
14. If AB  =10 cm in the given figure, find the length of AC.    A

B C

130°

25°

 

            

15. Write down the equation of the straight line that passes through the point (0, 2) and has a gradient 

 of 3.

16. In the given figure,  AP = CR and BC = QR.    B A

P

QR

 C

 Δ ABC and  Δ PQR are congruent. 

 (i) What is the side that is equal in length to AB?             

 (ii) What is the angle which is equal in magnitude to BAC?^

    

G.C.E.(O.L.) Examinations - Prototype questions for examinations from 2016 and onwards - Mathematics 



- 58 -
G.C.E. (O.L.) Examination - Prototype  question for examinations from  2016 and onwards -  Maths

- 58 -

17. Select the number line on which the solution set of the inequality 2x − 1 <  3 has been represented 
 accurately and underline it.

 −4 −3 −2 −1 +1 +2 +3 +4 +5 0
x

 −4 −3 −2 −1 +1 +2 +3 +4 +5 0
x

 

 −4 −3 −2 −1 +1 +2 +3 +4 +5 0
x

 

18. A distance time graph drawn by considering the motion of a 

80 

160 

240 

2 0  4 6  8D
is

ta
nc

e 
 (

K
ilo

m
et

re
s)

 

Time (Hours)

 

 vehicle travelling at a uniform speed is shown in the figure.  

 Find the speed of the vehicle.          

19. Solve :    4 
x  +  3 

x
  = 14    

20. Write down the condition that needs to be satisfied by the diagonals for quadrilateral ABCD to be a 
 parallelogram.

        

O 

B

D

A C

 

   

 

21. The angle of elevation of the top C of a flag pole BC, when observed 

A B

C
 

 from the point A on the ground is 40°. Mark this on the given figure.  

 

  

     

22. Find a and b such that x2 + 8x + 7 = (x +  a)(x + b)  for all real values of  x.
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23. This histogram illustrates how a group of students in a

5 

0
10   20   30   40

10 

15 

   
 S

tu
de

nt
s 

Marks

 class obtained marks for a question paper worth 40 

 marks in total. How many students faced this question 

 paper? 

 

24. In the given rhombus ABCD,  ABD̂ = 50°. Find the magnitude of  BCD.
^                 

   
D

CB

A

50°

 

               

                  

                        

25.  A portion of a sketch drawn by a student to obtain the

3 cm

C D

BA

location of a point P which lies at a distance of 3cm from 

the given straight line AB and 5cm from the point A, is 

shown in the figure. Complete the sketch and mark the 

location of the point  P. 

 

* * 
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Paper  I
Part  B

Answer all questions on this paper itself. 

1 . 
From the total distance a man needed to travel, he travelled 3—  

5
by train, 2—  

3
of the remaining portion 

by bus, and the rest of the distance he walked.

 (i) What fraction of the total distance remained after he had travelled by train? 

 (ii) What fraction of the total distance did he travel by bus? 

 (iii) Write down in the simplest from the ratio of the distance he travelled by train to the distance

  he walked.

 (iv) The total distance of the journey was 30 kilometres.  The time travelled by train was 20 minutes. 
Find the average speed of the train in kilometres per hour.

  

2. The figure depicts a semi-circular plot of land of diameter 14 metres. Sand has been spread on a 
 rectangular portion of this land, of length 7 metres and breadth 3 metres. Grass is grown on the
 remaining portion. (Take  π = 22—  

7
)      

14 mA B

7 m

3 m

                 

 (i) What is the perimeter of the semi-circular plot of land? 

 

 

 (ii) What is the area of the portion of land on which grass
  is grown?

 (iii) Find the ratio of the land on which grass is grown to the area of the land in which sand is 
spread.

 (iv) It is required to join to this plot of land, a rectangular plot of land of area equal to the area 
on which grass is grown.  Illustrate by drawing on the given figure, a sketch of this with the 

  measurements marked on it, such that it lies outside the semi-circular plot and has AB as one 
  of its boundaries. 
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3.(a) A financial institution provides loans at a simple interest rate of 12% per annum. Sumith obtains a 

  loan of Rs 80 000 from this institution with the intention of settling the loan at the end of 3 years.

 (i) Find the interest that has to be paid for a year.    

 (ii) Find the total amount that has to be paid to settle the loan at the end of three years. 

    (iii) Instead of obtaining the loan from this institution, if a loan is obtained from another institution 

   for the same amount, to be settled in full in four years, an interest of  Rs. 32 000 has to be paid. 

   What is the simple interest rate per annum charged by this institution? 

    

  (b) 12 men are needed to construct a wall in 10 days. However, only 6 men worked during the first 10

 days. It is required to complete the wall in another 4 days. How many more men should be

 engaged during these four days to achieve this?

 

4. Three out of seven identical vessels contain red rice while the remaining vessels contain white rice. 

 (i) Nimal randomly selects one of these vessels and takes a handful of rice. An incomplete tree

  diagram of the relevant outcomes is shown below. Complete it. 

  

4—  
7

vessel with red rice 
Nimal’s selection

  (ii) After Nimal, Kamala also randomly selects a vessel from the above mantioned vessels and takes 

a handful of rice. Extend the above tree diagram by including the relevant outcomes for this 

occasion too. 

 (iii) Find the probability of Nimal selecting a vessel with white rice and Kamala one with red rice.
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 (iv) The sample space related to Nimal and Kamala

× × ×× × × ×
× × ×× × × ×
× × ×× × × ×
× × ×× × × ×

× × ×× × × ×

× × ×× × × ×

× × ×× × × ×

red
1
 red

2
 red

3
 wh

1
 wh

2
 wh

3
wh

4
 

Nimal’s Selection 

red
1

red
2
 

red
3

wh
1

 wh
2

 wh
3

 wh
4

K
am

al
a’

s 
Se

le
ct

io
n

randomly selecting a vessel containing rice is 

shown on the grid. On this grid, mark the event 

of both of them selecting the same vessel. 

 (v) Using the grid, find the probability of both of 

them selecting the same vessel. 

 

5. The incomplete pie chart in the figure shows how the 

60°art
music

dancing
    

 students in a certain class have been divided into 

 groups for the aesthetic subjects, art, dancing, music, 

 drama and literature. 

 (i)   The number of students who selected music is 
exactly half the number of students who selected 
art.  What is the angle at the centre of the sector that 

represents those who selected music?  

  (ii) The angle at the centre of the sector that represents those who selected drama is 120°.  Find the 

  magnitude of the angle at the centre of the sector that represents those who selected literature 

and mark it in the relevant region. 

 (iii) If 8 students have selected dancing, how many students are there in the class?   

      

 (iv) The number of students who have selected two of these subjects is equal to the number
  of students who have selected the other three subjects. What are these two subjects?

* * *   
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Paper II
Part A

Answer only five questions.

1.   (a)  The assessed value of a house is 48 000 rupees.  5% is charged annually as rates for this house.

  Find the amount that needs to be paid as rates for a quarter.

 (b)  (i) Sunil can deposit 60 000 rupees in an institution that pays an annual compound interest 
   rate of 8%. Find the total amount he will receive after 2 years if he deposits the money.

  (ii) The amount that he intended to deposit in the institution can be invested for two 
   years to buy shares of market value 15 rupees per share, in a company that pays an 
   annual dividend of 1.50 rupees per share. Show with reasons whether it is more 
   advantageous for him to deposit the money at the compound interest rate or to invest in the 
   company. 

  (iii) What annual dividend should the company pay for him to receive an income of 30% 

   by investing in the above company for two years? 

2. A table containing the y values corresponding to several x values of the function y  =  x2 	−	4x −	3	is	
 given below. 

 

x −1 0 1 2 3 4 5

y 2 −3 −6 −7 −6 −3 2

  (i) Draw the graph of the function y  =  x2  − 4x − 3 by selecting a suitable scale. 

      Using the graph you drew, 

  (ii) write down the minimum value of the function. 

   (iii) write down the interval of values of x for which the function is increasing in the interval 
    −6	<	y < 0.  
  (iv) find the roots of the equation x2  −	 4x  − 3  =  0 and hence obtain the value of √		7 to the 

    nearest first decimal place.           

 (v) by drawing a suitable straight line, write down the coordinates of a point on the graph of 
    which the x coordinate is twice the y coordinate.

3.   (a)  Solve the following pair of simultaneous equations.  

   2x 	−	5y  =		−	4	
   3x  +  y   =  11 

 (b) The price of a tub of ice cream and a tub of yoghurt respectively at store A and store B are given
  below.

   Store A (  40 rupees, 30 rupees
   Store B (  38 rupees, 35 rupees

  (i) Represent the above information in a matrix of order 2 × 2, such that the columns denote 

   the stores. 

  (ii) 20 tubs of ice cream and 30 tubs of yoghurt are required for a certain function. Represent 

   these amounts by a matrix of order 1 × 2 and obtain the product of the two matrices.   

(iii) By considering this product, write down with reasons, the store from which it is more 

   advantageous to buy 20 tubs of ice cream and 30 tubs of yoghurt. 
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4. In the figure, H denotes a harbour and L denotes a

A

B

L

H

 lighthouse. At a certain instant, Ship A, Ship B and the

 harbour lie along a straight line. At that instant, Ship A
 lies on a bearing of 040° from the harbour H, at a distance 

 of 4.5 km from H, and the lighthouse L lies on a 

 bearing of 110° from Ship A, at a distance of 3 km 

 from A. Furthermore, ABL̂ = 90° at this instant.
   (i) Copy the figure and include the above 
    information in it.   

   (ii) Using the trigonometric tables, find the magnitude of BHL.^
     

 

5. The information obtained during a 30 day month, on the number of passengers who travelled each 

 day from city A to city B on a certain bus is given below. 

  Class Interval (Number of passengers) Frequency (Number of days) 

5  −  9

 10 − 14

15 − 19

20− 24

25 − 29

30 − 34

35 − 39

2

5

4

6

8

3

2

 

  (i) According to the given information, what is the maximum number of passengers that can 

    be expected to have travelled from A to B on a particular day.
  

  (ii) Calculate the mean of the number of passengers that travelled from A to B each day.

     (iii) During a period of 3 such months, exactly 3—  
5

of the passengers were those who travelled 

    from A to B.  How many passengers travelled on this bus during these three months?  

  (iv) The bus trip costs Rs. 30 for a person who travels from A to B, while it costs Rs. 15 
    for each of the other passengers.  Show that the income received during the three months from 

    those travelling from A to B is three times the income received from the other passengers.  
    

6.   A B

CED
(2x − 3) cm

(x + 3) cm

  In the trapezium  ABCD shown in the figure, AB = (x + 3) cm, DC = (2x − 3) cm  and  BE = EC. 
If the area of the trapezium is 15 cm2, find the length of DC to the nearest first decimal place.

  (Take √		19 = 4.36)
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Part B

Answer only five questions.

7. Sumana cuts pieces of ribbon for a decoration according to a pattern, such that the first piece
 is 20 cm long, the second piece is 25 cm long and the third piece is 30 cm long.  The longest piece 

 of ribbon she requires for the decoration is of length 95 cm. 
 (i)  Show with reasons that a roll of ribbon of length 10 m is sufficient for this decoration. 

 (ii) For another decoration, the length of the longest piece of ribbon cut as above, is twice the length of 
the above longest piece. Show by computing, whether two rolls of ribbon of length 10 m each are 
sufficient for this. 

8. Use only a straight edge with a cm/mm scale and a pair of compasses to do the following constructions.

 Draw your construction lines clearly.       A     

B      C        

5 cm

8 cm
300

    (i) Construct the triangle ABC according to the measurements  

   shown in the given sketch.    

 (ii) Construct a perpendicular from A to BC and name the point it

   meets BC as D. 

 (iii) Construct the circle that passes through the points A, C
  and D.      

 (iv) Construct the tangent to this circle at the point C, and name the point at which it meets AD
  produced as X.   

 (v) Show that AXĈ = ACB.^
         

9. In the given figure, BAP̂ = CAP.
^

  The tangent drawn to the circle at B, meets AP produced at Q . 

Furthermore,  BQ = QC'   A

C

D

P
Q

B

     (i) If QBP^
= a, write down the magnitude of  BAĈ in terms of a.

  (ii) Show that BCQ̂  = BAQ ^
'            

 (iii) Show that ABQC is a cyclic quadrilateral. 

 (iv) Show that BPD is an isosceles triangle.     

10. The midpoints of the sides AB and AC of the triangle ABC are P and Q respectively. BQ produced 

 and the straight line through A drawn parallel to PQ meet at R. Draw a figure with this information 

marked on it and  prove that, area of  ABCR =  8 × area of  APQ.
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11. The height of a solid right circular cylindrical metal block of radius 10.5 cm is 20 cm. When this 

cylinder was heated and 25 identical solid metal spheres were made, 230 cm3 of metal was left over. 

 (i) Taking π = 22—  
7

, calculate the volume of the cylindrical metal block. 

 (ii) What is the volume of one of the spheres that was made? 

 (iii) If the radius of one of the spheres that was made is denoted by r,  by assuming that  π = 3.14 
  and using the logarithms table, find the value of r3 to the nearest whole number.

 (iv) By using the value obtained above for r3, find the radius of the sphere. 

12. Information  on the  job types of 250 account holders of a certain bank are given in the following 

 Venn diagram. 

  

15 64Government Sector Jobs (A) 

Self Employed (B) 

Private Sector Jobs (C) 

Account Holders

ω

250

 There are 73 persons working in the private sector, 120 persons working in the government sector 

and 63 persons who are self employed. 

 (i) How many persons work only in the government sector? 

 (ii) The bank has decided to give loans at a low interest rate to those who are only self employed. 
  How many persons can apply for this loan?

 (iii) Describe in words the job types of those represented by the shaded region. Express this region
  using set notation too in terms of A, B and C. 

 (iv) Find the number of persons who do not engage in a job of any one of the above three types 
  and show that this number is twice the number of persons who while working in the private 
  sector are also self employed.

 (v) Show with the relevant numerical information included in the diagram, how the above Venn 
  diagram changes, if the persons who while working in the private sector are also self employed, 
  give up  being self employed. 

 * * * 
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^33&  tuyhW

tpdhj;jhs; fl;likg;G

tpdhj;jhs; I -  Neuk; : 1 kzpj;jpahyk;.  nkhj;jg;Gs;spfs; 80
 40 gy;Nju;T tpdhf;fisf; nfhz;lJ. vy;yh tpdhf;fSf;Fk; tpilaspj;jy; Ntz;Lk;. 

10 Mk; juj;jpy; 50%" 11 Mk; juj;jpy; 50% vDk; mbg;gilapy; tpdhf;fisf; 

nfhz;bUg;gJld; mjpy;> 80% ,yq;if tuyhW njhlu;ghd Nju;r;rpfSf;Fk;         

20% cyf tuyhW njhlu;ghd Nju;r;rpfSf;Fk; xJf;fPL nra;;ag;gLk;. xU tpdhTf;F 

02 Gs;spfs; tPjk; nkhj;jg; Gs;spfs; 80 MFk;.

tpdhj;jhs; II -  Neuk; : 3 kzpj;jpahyq;fs;.  nkhj;jg;Gs;spfs; 120
 ,J I, II kw;Wk; III  vDk; %d;W gFjpfisf; nfhz;lJ.  

  gFjp I
Kjyhk; tpdh fl;lhakhdJ. mJ m> M vDk; ,uz;L gFjpfisf; nfhz;lJ. 

gFjp m -  Njrg;glk; Fwpj;jy; - 18 Gs;spfs;.

gFjp M - tuyhw;W epfo;TfisAk;> cUf;;fisAk; mbg;gilahff; nfhz;l 03  

 njhFjpfshf 12 FW tpdhf;fisf; nfhz;lJ. - 12 Gs;spfs;

  gFjp II 
fl;likg;G> gFjpf; fl;likg;G> fl;Liu tif vd 6 tpdhf;fisf; nfhz;lJ. 

,tw;Ws; 4 tpdhf;fSf;F tpilaspj;jy; Ntz;Lk;. ,t; 6 tpdhf;fSk; cupa 

Nju;r;rp kl;lq;fSf;fika xJf;fPL nra;ag;gl;L Neu ml;ltizapYs;s ghlNtis 

vz;zpf;iff;F Vw;g gpd;tUk; ghl myFfspdbg;gilapy; jahupf;fg;gLk;.

juk; 10  - 1, 2, 3, 4, 5, 6, 7, 8, 10
  juk; 11  - 2, 3, 4, 5, 6             18 × 4  =  72 Gs;spfs;  

  gFjp III 
fl;likg;G> gFjpf; fl;likg;G> fl;Liu tif vd 2 tpdhf;fisf; nfhz;lJ. 

,tw;Ws; 1 tpdhtpw;Ftpilaspj;jy; Ntz;Lk;. ,t; 2 tpdhf;fSk; cupa Nju;r;rp 

kl;lq;fSf;fika xJf;fPL nra;ag;gl;L Neu ml;ltizapYs;s ghlNtis 

vz;zpf;iff;F Vw;g gpd;tUk; ghl myFfspdbg;gilapy; jahupf;fg;gLk;.

  juk; 10  -  9
  juk; 11  -  1" 7" 8       18 × 1 =  18 Gs;spfs;

,Wjpg; Gs;sp fzpj;jy; :  tpdhj;jhs; I  =  80  
  tpdhj;jhs; II =  120 
  ,Wjpg; Gs;sp  =       200 ÷ 2  =  100            
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^33&  tuyhW

tpdhj;jhs; I

ftdpf;f.

*  vy;yh tpdhf;fSf;Fk; tpil vOJf.

* rupahd my;yJ kpfg; nghUj;jkhd tpiliaj; njupe;njLf;f. (guPl;irapy; tpil vOJtjw;F 

gy;njupTj; jhs; toq;fg;gLk;.)

1. ,yq;ifapy; kpfg; goik tha;e;j E}yhf tpsq;FtJ

 (1) kfhtk;rk;   (2) jPgtk;rk;   (3) Nghjptk;rk;   (4) jhJtk;rk; 

2. ,yq;ifapd; tuyhw;Wf;F Kw;gl;l fhyg; gFjpf;Fupa jfty;fisf; fw;Wf;nfhs;tjw;F cjTk; 

Kf;fpaj;Jtk; tha;e;j %yhjhuk; gpd;tUtdtw;Ws; vJ?

 (1) tk;rf; fijfs;   (2) fy;yhAjq;fs;

 (3) fy;ntl;Lf;fs;    (4) fl;blq;fspd; rpijTfs;

3. ,yq;ifapd; Kd; tuyhw;Wf;fhy kdpj elj;ijfspy; mbg;gil khw;wk; Vw;gLtjw;fhd fhuzkhf 

mike;jJ.

 (1) ,Uk;Gg; ghtidapd; Muk;gk; (2) czTf;fhf tpyq;Ffis Ntl;ilahLjy;. 
 (3) tho;tplkhff; fw;Fiffisg; gad;gLj;Jjy;  (4) czit Rl;L cz;Zjy;

4. gz;ilf;fhy fy;ntl;Lf;fspy; \fkpf| vdf; Fwpg;gplg;gLgtu; 

 (1) FLk;gj;jpd;; jiytd;   (2) nfhj;jzpf; Fsq;fspd; jiytd;

 (3) Nfhj;jpuj; jiytd;    (4) fpuhkj;jpd; jiytd;     

5. ghjpfhga kd;dDila Ml;rpf; fhyj;jpy; ve;jehl;bypUe;J \kzpfs;| nfhs;tdT nra;ag;gl;ld?  

 (1) cNuhk;    (2) rPdh    (3) ,e;jpah (4) fpNuf;fk; 

6. ,yq;ifapy; Kjd;Kjyhfg; ghupa mstpyhd Fsq;fs; mikf;Fk; gzp ve;j kd;dDila 

Ml;rpf;fhyj;jpy; Muk;gpf;fg;gl;lJ?

 (1) rj;jhjp];] kd;dd;    (2) trg kd;dd;     
 (3) kfhNrd kd;dd;     (4) jhJNrd kd;dd;

7. goq;fhyj;jpy; ru;tNjr tu;j;jfj;jpd; ikakhf ,yq;if tsu;r;rpailtjw;Fg; gq;fspg;Gr; nra;j 

fhuzpfSs; Kf;fpaj;Jtk; tha;e;j fhuzpahf miktJ.  
 (1) fpof;F - Nkw;Ff; fly; tzpfg; ghijapd; ikaj;jpy; mike;jpUg;gJ.  
 (2) njd;dpe;jpahtpw;F mz;ikapy; mike;jpUg;gJ.        
 (3) ehl;ilr; #o ,aw;ifj; JiwKfq;fs; mike;jpUg;gJ.   
 (4) ,e;J rKj;jpuj;jpy; xU jPthff; fhzg;gLtJ. 

8. gpd;tUtdtw;Ws; vJ njhlu;ghf \nfjp-ml| vDk; tup mwtplg;gl;lJ?  

 (1) jdpahu; Fsq;fSf;F    (2) tPl;Lj; Njhl;lq;fSf;F

 (3) ney; tay;fSf;F     (4) Nridg;gapu;r; nra;iff;F  

9. ve;jj; JiwKfj;jpD}lhf nts;suR kuf;fpis ,yq;iff;Ff; nfhz;Ltug;gl;lJ?    

 (1) khjPj;j      (2) [k;GNfhsg; gl;lzk;   
 (3) Nfhfz;z      (4) nfhltha 
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10. 'jw;Nghija khJW Xah ePu;j;Njf;f mizapd; kilf;fjit mikg;gjw;Fg; nghUj;jkhd ,lk; 

njupT nra;ag;gl;lNghJ me;j ,lj;jpy; gz;ilf; fhyj;jpy; mikf;fg;gl;bUe;j kilf; fjT rpije;j 

epiyapy; fz;Lgpbf;fg;gl;lJ." 

 ,jd; %yk; ehk; tpsq;fpf; nfhs;Sk; kpf Kf;fpaj;Jtk; tha;e;j jftnyhd;whf miktJ> 
 (1) kilf; fjit mikg;gjw;Fj; jw;fhyj;ijg; Nghd;w nghUl;fNs gad;gLj;jg;gl;Ls;sd.    
 (2) mstPl;L Kiwfs; gz;ilf; fhyj;jpYk; etPd fhyj;jpYk; xNu tpjkhf mike;Js;sd.

 (3) gz;ilf; fhyj;jpy; ePu;g;ghrd njhopy;El;g mwpT kpf cau;thd epiyapy; fhzg;gl;Ls;sJ.

 (4) gz;ilf; fhyj;jpy; kilf;fjTf;F mUfpy; gioa ePu;j;Njf;fk; xd;W ,Ue;Js;sJ. 

11. gz;ilf; fhyj;jpy; ,Uk;igg; gpupj;njLg;gjw;F ,aw;ifahf tPRk; fhw;wpidg; gad;gLj;Jk; njhopy; 

El;gk; fhzg;gl;likf;F Mjhukhf tpsq;Fk; ,Uk;Gr; #is fz;Lgpbf;fg;gl;l ,lk; 

 (1) rkdy ntt   (2) ngufy   (3) msnfhy ntt    (4) mypfy 

12. Kjyhk; guhf;fpukghF kd;dd; jhd; gpwe;j ,lj;jpy; mikj;jjhf mwpag;gLk; J}gp   

 (1) cjfdht J}gp (2) mgafpup    (3) #j;jpfu irj;jpak; (4) njky k`hrha 

13. gz;ilf;fhy ePu;g;ghrdj; njhopy; El;gtpayhsu;fs; mKf;fj;jpd; fhuzkhf Fsf;fl;Lf;F Vw;gLk; 

Mgj;ijf; fl;Lg;gLj;Jtjw;fhfTk; ePiug; gpujhd fhy;tha;f;F jpwe;J tpLtjw;fhfTk; mikj;jJ.   

 (1) miyjhq;fp    (2) thd; fjT      (3) kilf;fjT   (4) fypq;fy; njhl;b 

14. gz;ilf; fhyj;jpy; ,yq;ifapy; tpUj;jpaile;j ntspehl;L tu;j;jfk; epytpaikf;F vLj;Jf;fhl;lhf 

tpsq;FtJ>    

 (1) ehl;bd; vy;yhg; gFjpfspYk; FbNaw;wq;fs; gutyile;jik.     
 (2) FbapUg;Gf;fis ,izf;Fk; tifapy; ghijfs; mikf;fg;gl;lik.       
 (3) gpujhd efuq;fspy; ntspehl;L tu;j;jf epiyaq;fs; epWtg;gl;bUe;jik.
 (4) Kf;fpa ejpfSf;F mUfpy; JiwKf efuq;fs; mike;jpUe;jik.  

15. gz;ilf; fhyj;jpy; 'fye;j" vd;gjd; %yk; mwpag;gl;lJ.    

 (1) J}uj;ij msg;gjw;fhd myF     (2) Neuj;ij msg;gjw;fhd myF       
 (3) ePiu msg;gjw;fhd myF     (4) epiwia msg;gjw;fhd myF 

16. nghyd;dWit ,uhrjhdp tPo;r;rpailtjw;F cldbf; fhuzpahf tpsq;FtJ.    

 (1) fypq;fUf;Fk; ghz;baUf;FkpilNa fhzg;gl;l Mjpf;fg; Nghl;b

 (2) fypq;f  khfDila gilnaLg;G    
 (3) gytPdkhd kd;du;fs; Ml;rpf;F te;jik.   
  (4) ,uh[uh[ NrhoDila gilnaLg;G  

17. Kjyhk; tpkyju;k#upa kd;dd; vjpu;Nehf;fpa rthy;fspy; xd;whf mikahjJ.    

 (1) Nghu;j;Jf;NfauplkpUe;J fz;b ,uhrjhdpiag; ghJfhf;f Neupl;lik.     
 (2) rPjhthf;if ,uhrjhdpapd; nry;thf;fpypUe;J fz;b ,uhrjhdpia tpLjiy ngwr; nra;jik.

 (3) xy;yhe;juplkpUe;J fz;b ,uhrjhdpiag; ghJfhf;f Neu;e;jik.    
 (4) fz;b ,uhrjhdpapd; nghUshjhuj;ij NkYk; tpUj;jpailar; nra;a Ntz;bapUe;jik.

• gpd;tUtdtw;Ws; fz;b ,uhrjhdp Ml;rpahsdhf tpsq;Fgtu; filg;gpbf;f Ntz;ba nfhs;iffspd; 

rupahd tpilj;njhFjp  

18.  A -  ghuk;gupaq;fisAk; tof;fhWfisAk; KiwNa filg;gpbj;jy; 
B -  jtW nra;NthUf;F kuz jz;lid tpjpj;jy;. 
C -  jyjh khspifapd; je;jjhJtpd; ghJfhtydhf tpsq;Fjy;. 
D -  midj;J tof;FfSf;Fk; jPu;g;G toq;Fjy;. 

 (1) A Ak; B Ak;  (2) B Ak; D Ak;  (3) A Ak; C Ak;   (4) C Ak; D Ak;
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19.  \kWkyu;r;rpf; fhyj;jpy; Gjpa fly;topg; ghij fz;Lgpbf;fg;gLtjw;fhd #o;epiy Vw;gl;lJ.| ,jw;Fupa 

gpujhd fhuzq;fisf; nfhz;l tpilj;njhFjp  

 A -  jpirawp fUtp> tlJUt el;rj;jpu fUtp vd;gd fz;Lgpbf;fg;gl;lik. 
B -  cyfk; cUz;il tbtkhdJ vd ep&gpf;fg;gl;lik.  

C -  khfhz mjpfhupfs; MjuT toq;fpaik.   

D -  gltiu fiyapy; Vw;gl;l mgptpUj;jpapd; %yk; cyfk; gw;wpa njspthd tpsf;fj;ijg; 

ngw;Wf;nfhz;lik.  

 (1) A, B,C  (2) B, C, D  (3) C, D, A (4) A, B, D

20.  Nghu;j;Jf;Nfau;fs; aho;g;ghz ,uhrjhdpiaf; ifg;gw;Wtjpy; ftdk; nrYj;jpaikf;Fupa fhuzpfshf 

tpsq;Fgit.  

A -  ehL KOtjpYk; thridj; jputpa tu;j;jfj;jpy; VfNghf cupikiag; ngw;Wf;nfhs;tjw;F

B -  tlgFjpapy; JiwKfnkhd;iwg; ngw;Wf;nfhs;tjw;F

C -  fj;Njhypf;f rkaj;ijg; gug;Gk; eltbf;iffSf;F aho;g;ghzg; gpuNjrj;jpy; Vw;gl;l jilfis 

ePf;Ftjw;F

D -  aho;;g;ghz - fz;b Ml;rpahsu;fSf;fpilapyhd njhlu;igj; jilnra;jy;.

 (1) A Ak; B Ak;  (2) B Ak; C Ak;  (3) C Ak; D Ak;  (4) A Ak; CAk;

• gpd;tUk; fz;Lgpbg;Gfisf; nfhz;L 21 Mk;, 22 Mk;  tpdhf;fSf;F tpilaspf;Ff.

A -  gwf;Fk; E}dhsp   B  -  ghJfhg;G tpsf;F
C -  nkf;flk; Kiw    D  -  kpAy; ,ae;jpuk;
E  -  ePuhtp ,ae;jpuk;

21. Gilitf; ifj;njhopNyhL njhlu;Gila fz;Lgpbg;Gfspd; tpilj; njhFjp

 (1) A Ak; C Ak;  (2) B Ak; E Ak;  (3) C Ak; D Ak;  (4) A Ak; D Ak;

22. epyf;fupf; ifj;njhopNyhL njhlu;Gila fz;Lgpbg;Gfspd; tpilj;njhFjp 

 (1) A Ak; C Ak;  (2) B Ak; E Ak;  (3) C Ak; D Ak;  (4) A Ak; D Ak;

23. gpupj;jhdpau;fs; ,yq;ifiaf; ifg;gw;Wtjpy; jkJ ftdj;ijr; nrYj;Jtjw;Fg; gpujhd fhuzpahf 

tpsq;fpaJ. 

(1) ,e;jpahtpy; nkhfyha Ml;rpia gytPdkilar; nra;a KbAk; vd;gjhy;  
(2) ,e;jpahitr; Rw;wpAs;s tu;j;jf tyaj;jpy; eilngWfpd;w tu;j;jf eltbf;iffis epu;tfpf;f 

,aYk; vd;gjhy; 
(3) ,e;J rKj;jpuj;jpy; eilngWfpd;w fly;Nghf;Ftuj;Jr; nraw;ghLfisf; fl;Lg;ghl;Lf;Fs; 

itj;jpUf;fyhk; vd;gjhy; 

 (4) ngUe;Njhl;lg; gapu;r;nra;iff;F Njitahd epyj;ijg; ngw;Wf;nfhs;s ,aYk; vd;gjhy;

• gpd;tUk; ml;ltizapy; jug;gl;Ls;s A njhlf;fk; J tiuapyhd jfty;fisg; gad;gLj;jp 24 Mk;>   
25 Mk; tpdhf;fSf;F tpil jUf. 

tUlk;  gpupj;jhdpa MSeu;fs; tuyhw;W egu;fs;

A    1815
B    1848
C    1803

D    gpnwlwpf; Nehu;j;
E    nuhgl; gpnusd;wpf; 
F    nlhupq;ld; gpuG 

G    Kj;Jr;rhkp

H    Gud; mg;G

J   = tpf;fpuk uh[rpq;f kd;dd;

24. fz;b ,uhrjhdpiag; gpupj;jhdpau;fs; ifg;gw;wpaikAld; njhlu;Gila jfty;fs;; mlq;fpa njhFjp

 (1) A E J (2) A F J (3) A D H (4) B E G
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25. fz;b ,uhrjhdp ifg;gw;wg;gl;l gpd;du; gpupj;jhdpaUf;F vjpuhf ,lk;ngw;w fpsu;r;rpAld; njhlu;Gila 

jfty;fspd; tpilj;njhFjp

 (1) C F H (2) B F H (3) A F H (4) B F G

• gpd;tUk; ml;ltizapy; jug;gl;Ls;s A njhlf;fk; J tiuahd jfty;fisg; gad;gLj;jp 26 Mk; , 
27Mk; tpdhf;fSf;F tpil jUf.

jiytu;fs; ntspaPLfs; ghlrhiyfs;

A   =y = MWKfehtyu; D  rurtp re;jur G nfhOk;G rh`puhf; fy;Y}up 

B  n`d;wp ];uPy; Xy;nfhl; E  K];ypk; Nerd; 
H tz;zhu; gz;iz irtg;gpufhr  

tpj;jpahrhiy

C  vk;. rP. rpj;jpnyg;ig F  cjaghD J  nfhOk;G Mde;jhf; fy;Y}up

26. ngsj;j rka kWkyu;r;rp ,af;fj;NjhL njhlu;Gila rk;gtq;fspd; tpilj;njhFjp

 (1) A D G   (2) B D J  (3) C F J   (4) B F J

27. ,e;J rka kWkyu;;r;rp ,af;fj;NjhL njhlu;Gila jfty;fspd; tpilj;njhFjp

 (1) A E H   (2) C F G   (3) B E J     (4) A F H 

• Nfhy;GW}f;> fk&d; rPu;jpUj;jf; FOtpduhy; Kd;itf;fg;gl;l rpy rPu;jpUj;j rpghu;Rfs; fPNo jug;gl;Ls;sd. 

,j;jfty;fisf; nfhz;L  28 Mk;, 29 Mk; tpdhf;fSf;F tpil jUf. 

A -  rl;lrig> rl;lep&gz rig Mfpatw;iw mikj;jy;.

B -  kiyehL> fiuNahug; gpuNjrq;fs; Mfpait ,ize;j tifapy; epu;thf mikg;nghd;iw 

mwpKfk; nra;jy;.

C -  Gjpa ePjpgupghyd Kiwnahd;iw mwpKfk; nra;jy;.

D -  ,uh[fhupa fl;lha Nrit Kiwia ,y;yhnjhopj;jy;.

E -  murpd; tu;j;jf VfNghfj; jd;ikia ,y;yhnjhopj;jy;. 

28. Nkw;Fwpj;jtw;Ws; murpay; Jiwapy; Nkw;nfhs;sg;gl;l rPu;jpUj;jq;fspd; tpilj;njhFjp 

 (1) A Ak; B Ak;  (2) A Ak; D Ak;  (3) C Ak; D Ak;   (4) D Ak; E Ak;

29. nghUshjhuj; Jiwapy; Nkw;nfhs;sg;gl;l rPu;jpUj;jq;fspd; tpilj;njhFjp  

 (1) A Ak; B Ak;  (2) C Ak; D Ak;  (3) D Ak; E Ak;   (4) A Ak; C Ak;

• ,yq;ifapy; gpupj;jhdpaupd; Ml;rpahy; Vw;gl;l tpisTfs; rpy fPNo jug;gl;Ls;sd. ,t;tpisTfis 

mbg;gilahff; nfhz;L 30 Mk;, 31 Mk; tpdhf;fSf;F tpiljUf.

A -  kj;jpa tFg;gpdu; Njhw;wk; ngwy;
B -  Vw;Wkjp tu;j;jfg; gapu;fspd; mwpKfk; 
C -  Nkiyj;Nja tof;fhWfs; gutyiljy; 
D -  njhopyhsu; tu;f;fk; Njhw;wk; ngwy;  
E -  Mq;fpyf; fy;tpapd; mwpKfk;. 

30. gpupj;jhdpau; Ml;rpahy; Vw;gl;l r%f khw;wq;fs; ,uz;bidf; Fwpf;Fk; tpilj;njhFjp  
 (1) A Ak; B Ak; (2) B Ak; C Ak;  (3) D Ak; E Ak;   (4) A Ak; D Ak;

31. ,e;ehl;by; Vw;gl;l  gz;ghl;L khw;wq;fs; ,uz;bidf; Fwpf;Fk; tpilj;njhFjp   

 (1) A Ak; C Ak;  (2) B Ak; D Ak;  (3) C Ak; E Ak;   (4) A Ak; E Ak;
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• gpd;tUk; 32Mk; > 33Mk; > 34 Mk; tpdhf;fSf;F Gs;spf;Nfhl;by; tuNtz;ba kpfg; nghUj;jkhd 

tpiliaj; njupT nra;J mjd; ,yf;fj;jpidf; Fwpg;gpLf. 
32. Nrhy;gup murpay; ahg;gpd; fPo; gpupj;jhdpa Kbapd; gpujpepjpahf epakpf;fg;gl;l mYtyu;                 ..

...................................... vd miof;fg;gl;lhu;. 

 (1) MSeu; (2) Njrhjpgjp (3) gpujk ke;jpup  (4) rghehafu;

33. 1972 Mk; Mz;L murpay; ahg;Gf;F mikthf ,yq;ifapd; KjyhtJ ngausT [dhjpgjpahf 

................................epakpf;fg;gl;lhu;.  

 (1) N[. Mu;. [atu;j;jd   (2) tpy;ypak; Nfhgy;yht

 (3) Mu;. gpNukjhr    (4) B. gP. tpN[aJq;f

34. 1978 Mk; Mz;L murpay; ahg;gpd; %yk; mwpKfg;gLj;jg;gl;l rl;lKiwf;F mikthf ,yq;ifapy; 

mikf;fg;gl;l mjpAau; rl;lepWtdkhf  ................................................... tpsq;Ffpd;wJ.

 (1) Nkd;KiwaPl;L ePjpkd;wk;  (2) cau; ePjpkd;wk;  

  (3) khtl;l ePjpkd;wk;      (4) kPAau; ePjpkd;wk;

• fPNo A, B, C, D Mfpatw;wpy; jug;gl;Ls;s Nrhbfs; xt;nthd;iwAk; thrpj;J 35Mk; , 36Mk; , 37 Mk; 

tpdhf;fSf;F tpilaspf;Ff.

A -  1. Nrhy;gup murpay; ahg;G  2. ghuhSkd;w Kiw

B -  1. murpay; fl;rp Kiw 2. ghuhSkd;w [dehafk; 

C -  1. rl;l rig 2. rl;l thf;fk;

D -  1. mbg;gil kdpj cupikfs;  2. epiwNtw;W mjpfhuKila [dhjpgjp

35. ,uz;lhtJ tplaj;jpd; ntw;wpf;F KjyhtJ tplak; fhuzkhf ,Ue;jikiag; Gyg;gLj;Jk; Nrhb>  
 (1) A    (2) B     (3) C      (4) D  

36. Kjyhtjw;Fk; ,uz;lhtjw;Fk; ,ilNa njhlu;gpd;ikiaf; fhl;Lk; Nrhb    
 (1) A      (2) B      (3) C      (4) D    

37. ,uz;lhtjpd; nraw;ghl;Lf;F KjyhtJ mj;jpahtrpak; vd;gijf; fhl;Lk; Nrhb 

 (1) A       (2) B      (3) C    (4) D   

• fPNo jug;gl;Ls;s A, B Mfpa ,U $w;Wf;fisf; nfhz;L  38 Mk; , 39 Mk; tpdhf;fSf;F tpilaspf;Ff.

  A -  Njapiyf; nfhs;fyd;fs; flypy; tPrg;gl;lik  
B - g];uPy; rpiwr;rhiy jhf;fg;gl;lik 

38. mnkupf;f Rje;jpug; NghUld; njhlu;GilaJ gw;wpa rupahd tpil

 (1) A  rupahdJ> B jtwhdJ  (2) A  jtwhdJ B rupahdJ.   
 (3) A Ak; B  Ak; rupahdit   (4) A Ak; B Ak;  jtwhdit

39. gpuhd;rpag; Gul;rpAld; njhlu;GilaJ gw;wpa rupahd tpil 

 (1) A  rupahdJ> B jtwhdJ.   (2) A  jtwhdJ B rupahdJ.  
 (3) A Ak; B  Ak; rupahdit.   (4) A Ak; B Ak;  jtwhdit.

• fPNo jug;gl;Ls;s A, B Mfpa ,U $w;Wf;fisAk; thrpj;J tpdhTf;F tpilaspf;Ff.

A -  gpuhd;rp]; Ngu;bdl;; nfhiy nra;ag;gl;lik  
B -  N[u;kdpapy; `pl;yupd; nraw;ghL

40. ,uz;lhk; cyf kfhAj;jj;jpd; Muk;gj;Jld; njhlu;GilaJ

 (1) A  rupahdJ> B jtwhdJ   (2) A  jtwhdJ B rupahdJ.  
 (3) A Ak; B  Ak; rupahdit.   (4) A Ak; B Ak;  jtwhdit.

* * 
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^33&  tuyhW
tpdhj;jhs; II

ftdpf;Ff:

*  gFjp I ,d; Kjyhk; tpdh fl;lhakhdJ. 

*  gFjp II ,ypUe;J ehd;F tpdhf;fSf;Fk;> gFjp III ,ypUe;J xU tpdhTf;Fk; tpil vOJf.

 vy;yhkhf MW tpdhdhf;fSf;F tpil vOJf.

gFjp I

1. (m) toq;fg;gl;Ls;s ,yq;ifg; GwcUtg; glj;jpy; (i) ,d; fPo;j; jug;gl;Ls;s midj;J tuyhw;W  

,lq;fisAk;> toq;fg;gl;Ls;s gFjp cyfg; Gw cUtg; glj;jpy; ^ii& ,d; fPo;j; jug;gl;Ls;s 
midj;J ,lq;fisAk; Fwpj;Jg; ngaupLf.

(i) tst fq;if> [k;GNfhsg; gl;bdk;> gy;ytq;f> kfpaq;fid> mEuhjGuk;>  rPfpupah> fe;jsha;f; 

Fsk;> fk;gis> Njt efuk;> fhyp> rpyhgk;> N`hl;ld; rkntsp ^12 Gs;spfs;&

(ii) nfhd;];jhe;jpNehgps;> ntdp];> fs;spf; Nfhl;il> gpypg;gPd; jPTfs;> Rna]; fhy;tha;> 

rpq;fg;g+u; ^06 Gs;spfs;&

(M) (i) fPNo A, B, C, D Mfpatw;wpy; jug;gl;Ls;s tuyhw;Wj; jfty;;fNshL njhlu;Gila egu;fis 

tupirf; fpukkhf ckJ tpilj;jhspy; vOJf. 

A  - kpd;Ndupj; nja;tnkd ,uhrul;il kf;fspd; ed;kjpg;igg; ngw;w kd;dd;.
B  - ,uz;lhk; ,uh[rpq;f kd;ddpd; rpiwf; ifjpahf ,Ue;J fz;b ,uhr;rpak; njhlu;ghd 

E}nyhd;iw vOjpa Mq;fpNyad;.

C  - fk;gis ,uhrjhdpf; fhyj;jpy; ,yq;ifia Mf;fpukpj;j rPd Nrdhjpgjp.

D  - gpuhd;rpag; Gul;rpf; fhyj;jpy; murpaypy; jiyapl;l gjpdhwhk; Y}ap kd;ddpd; kidtp.

   ^04 Gs;spfs;&  

 A, B Mfpa cUf;fis mbg;gilahff;nfhz;L Nfl;fg;gl;Ls;s tpdhf;fSf;Fupa tpilfis 

tupirf; fpukkhf tpilj;jhspy; vOJf.        

         

cU A

(ii) 1' cU 'A' vt;thW miof;fg;gLfpwJ?

 2' ,q;fpUe;J Ml;rp nra;j Ml;rpahsd; ahu;? 

 3' ,q;F fhzg;gLk; cyfg; gpurpj;jp ngw;w

  fiy epu;khzk; ahJ? 

 4' ,e;j ,lj;ijg; ghu;j;J ,urpj;jtu;fs; jkJ

  fUj;Jf;fisg; gjpj;Js;s Rtu; vt;thW 

miof;fg;gLfpwJ? 

   
   ^04 Gs;spfs;&  

(iii) 1' cU 'B' apy; fhzg;gLk; egu; ahu;?       

cU B

 2' ,tu; ve;j ehl;ilr; Nru;e;jtu;?

 3' ,tupd; jiyikapy; 1880 Mk; Mz;L epWtg;gl;l 
mikg;G vJ?

 4' ,tupd; jiyikapy; nfhOk;gpy; epWtg;gl;l 

ghlrhiyapd; ngau; vd;d?  

   ^04 Gs;spfs;&
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  gFjp II

2.     (i)  tuyhw;Wf;F Kw;gl;l fhy kdpjd; jdJ ,Ug;gplq;fisj; njupT nra;jNghJ ftdj;jpy; 

nfhz;l %d;W tplaq;fisf; Fwpg;gpLf.  ^03 Gs;spfs;&

 (ii) (a)  tuyhw;Wf;F Kw;gl;l fhy  kdpjd; jdJ czTj; Njitf;fhf Ntl;ilahba kpUfq;fs; 

,uz;bidg; ngaupLf. 

  (b)  mtu;fs; gad;gLj;jpa jhtu czT tiffs; ,uz;bidg; ngaupLf.  ^04 Gs;spfs;&

 (iii)  ,yq;ifapd; Kd; tuyhw;Wf; fhyj;jpy; FbapUg;Gf;fs; epWtg;gLtjpy; nry;thf;Fr; nrYj;jpa 

fhuzpfs; ,uz;bidf; Fwpg;gpl;L> tpgupf;Ff.  ^05 Gs;spfs;&

 (iv)  tuyhw;Wf; fhy ,yq;ifapy; tptrhak; Nkw;nfhs;sg;gl;l Kiwapidj; njspTgLj;Jf.  

   ^06 Gs;spfs;&

3.     (i)  gpd;tUk; xt;nthU nraw;ghl;bd; nghUl;Lk; gz;ila ,yq;ifapy; eilKiwapy; ,Ue;j 

tupKiwfs; vit vd xOq;FKiwapy; vOJf.

A  - kd;ddpd; epyj;jpy; gapu; nra;tjw;Fr; nrYj;jg;gl;l tup

B  - fhy;tha;fspy; kPd;gpbj;jypd; nghUl;L mwtplg;gl;l tup 

C  - Fsq;fspy; ePiu tptrhaj;jpw;Fg; gad;gLj;jpatu;fsplk; 

  mwtplg;gl;l tup    ^03 Gs;spfs;&

 (ii) N`hgpbfk re;ijapd; epu;thfk; gw;wp tpjpf;fg;gl;bUe;j Kf;fpa rl;lq;fs; ,uz;bidf; 

Fwpg;gpLf.   ̂ 04 Gs;spfs;&

 (iii)  gz;ila ,yq;ifapy; ifj;njhopy;fs; epytpaikia ,uz;L cjhuzq;fs; %yk; tpsf;Ff. 
^05 Gs;spfs;&

 (iv)  gz;ila kf;fspd; czT tiffspy; gy;tifj; jd;ik fhzg;gl;likia mtu;fs; gad;gLj;jpa 

czTfspd; mbg;gilapy; cjhuzq;fs; je;J njspTgLj;Jf.   ^06 Gs;spfs;&

4.     (i)  gpd;tUk; Fsq;fis epWtpa kd;du;fspd; ngau;fis xOq;F Kiwapy; vOJf. 
  A  - mga thtp   

B  - jPr thtp  
C  - fyh thtp      ^03 Gs;spfs;&

 (ii) gz;ila fhyj;jpy; ePsj;ij msg;gjw;Fg; gad;gLj;jg;gl;l msitfs; ,uz;bidf; 

Fwpg;gpLf.   ^04 Gs;spfs;&

 (iii)  vkJ Kd;Ndhu; #oiyg; ghJfhg;gjw;F Nkw;nfhz;l eiltbf;iffisr; RUf;fkhfj; 

njspTgLj;Jf.  ^05 Gs;spfs;&

 (iv)  gz;ila fhy ePu;g;ghrdj; njhopEl;gj;jpy; mikf;fg;gl;l Fsq;fs;> fhy;tha;fs; Mfpatw;iwf; 

fUj;jpw; nfhz;L mtw;wpd; rpwg;gk;rq;fis cjhuzq;fs; ,uz;bd; %yk; tpsf;Ff. 

   ^06 Gs;spfs;&

5.     (i)  ,yq;ifapd; KjyhtJ efuhf;f Afj;ijr; Nru;e;j epu;thf efuq;fs; ,uz;bidAk;> ,uz;lhk; 

efuhf;f Afj;ijr; Nru;e;j epu;thf efuk; xd;wpidAk; ngaupLf.  ^03 Gs;spfs;&

 (ii) KjyhtJ efuhf;f Afj;ijr; Nru;e;j ,Wjp epu;thf kj;jpa epiyak; tPo;r;rp miltjw;fhd 

fhuzq;fs; ,uz;bid vOJf.   ^04 Gs;spfs;&

 (iii)  ,yq;ifapd; ,uz;lhtJ efuhf;fypd; kj;jpa epiyakhf <utyak; njupT nra;ag;gl;likf;fhd 

fhuzq;fs; ,uz;bidf; Fwpg;gpl;L tpgupf;Ff. ^05 Gs;spfs;&

 (iv)  ,uz;lhk; guhf;fpukghF kd;ddhy; Nkw;nfhs;sg;gl;l murpay;> ,yf;fpag; gzpfis 

tpgupf;Ff.  ^06 Gs;spfs;&

6.     (i)  fz;b ,uhrjhdp kd;du;fisr; re;jpg;gjw;F tUif je;j Mq;fpyj; J}Jtu;fs; %tiuf; 

Fwpg;gpLf.  ^03 Gs;spfs;&
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  gFjp II

2.     (i)  tuyhw;Wf;F Kw;gl;l fhy kdpjd; jdJ ,Ug;gplq;fisj; njupT nra;jNghJ ftdj;jpy; 

nfhz;l %d;W tplaq;fisf; Fwpg;gpLf.  ^03 Gs;spfs;&

 (ii) (a)  tuyhw;Wf;F Kw;gl;l fhy  kdpjd; jdJ czTj; Njitf;fhf Ntl;ilahba kpUfq;fs; 

,uz;bidg; ngaupLf. 

  (b)  mtu;fs; gad;gLj;jpa jhtu czT tiffs; ,uz;bidg; ngaupLf.  ^04 Gs;spfs;&

 (iii)  ,yq;ifapd; Kd; tuyhw;Wf; fhyj;jpy; FbapUg;Gf;fs; epWtg;gLtjpy; nry;thf;Fr; nrYj;jpa 

fhuzpfs; ,uz;bidf; Fwpg;gpl;L> tpgupf;Ff.  ^05 Gs;spfs;&

 (iv)  tuyhw;Wf; fhy ,yq;ifapy; tptrhak; Nkw;nfhs;sg;gl;l Kiwapidj; njspTgLj;Jf.  

   ^06 Gs;spfs;&

3.     (i)  gpd;tUk; xt;nthU nraw;ghl;bd; nghUl;Lk; gz;ila ,yq;ifapy; eilKiwapy; ,Ue;j 

tupKiwfs; vit vd xOq;FKiwapy; vOJf.

A  - kd;ddpd; epyj;jpy; gapu; nra;tjw;Fr; nrYj;jg;gl;l tup

B  - fhy;tha;fspy; kPd;gpbj;jypd; nghUl;L mwtplg;gl;l tup 

C  - Fsq;fspy; ePiu tptrhaj;jpw;Fg; gad;gLj;jpatu;fsplk; 

  mwtplg;gl;l tup    ^03 Gs;spfs;&

 (ii) N`hgpbfk re;ijapd; epu;thfk; gw;wp tpjpf;fg;gl;bUe;j Kf;fpa rl;lq;fs; ,uz;bidf; 

Fwpg;gpLf.   ̂ 04 Gs;spfs;&

 (iii)  gz;ila ,yq;ifapy; ifj;njhopy;fs; epytpaikia ,uz;L cjhuzq;fs; %yk; tpsf;Ff. 
^05 Gs;spfs;&

 (iv)  gz;ila kf;fspd; czT tiffspy; gy;tifj; jd;ik fhzg;gl;likia mtu;fs; gad;gLj;jpa 

czTfspd; mbg;gilapy; cjhuzq;fs; je;J njspTgLj;Jf.   ^06 Gs;spfs;&

4.     (i)  gpd;tUk; Fsq;fis epWtpa kd;du;fspd; ngau;fis xOq;F Kiwapy; vOJf. 
  A  - mga thtp   

B  - jPr thtp  
C  - fyh thtp      ^03 Gs;spfs;&

 (ii) gz;ila fhyj;jpy; ePsj;ij msg;gjw;Fg; gad;gLj;jg;gl;l msitfs; ,uz;bidf; 

Fwpg;gpLf.   ^04 Gs;spfs;&

 (iii)  vkJ Kd;Ndhu; #oiyg; ghJfhg;gjw;F Nkw;nfhz;l eiltbf;iffisr; RUf;fkhfj; 

njspTgLj;Jf.  ^05 Gs;spfs;&

 (iv)  gz;ila fhy ePu;g;ghrdj; njhopEl;gj;jpy; mikf;fg;gl;l Fsq;fs;> fhy;tha;fs; Mfpatw;iwf; 

fUj;jpw; nfhz;L mtw;wpd; rpwg;gk;rq;fis cjhuzq;fs; ,uz;bd; %yk; tpsf;Ff. 

   ^06 Gs;spfs;&

5.     (i)  ,yq;ifapd; KjyhtJ efuhf;f Afj;ijr; Nru;e;j epu;thf efuq;fs; ,uz;bidAk;> ,uz;lhk; 

efuhf;f Afj;ijr; Nru;e;j epu;thf efuk; xd;wpidAk; ngaupLf.  ^03 Gs;spfs;&

 (ii) KjyhtJ efuhf;f Afj;ijr; Nru;e;j ,Wjp epu;thf kj;jpa epiyak; tPo;r;rp miltjw;fhd 

fhuzq;fs; ,uz;bid vOJf.   ^04 Gs;spfs;&

 (iii)  ,yq;ifapd; ,uz;lhtJ efuhf;fypd; kj;jpa epiyakhf <utyak; njupT nra;ag;gl;likf;fhd 

fhuzq;fs; ,uz;bidf; Fwpg;gpl;L tpgupf;Ff. ^05 Gs;spfs;&

 (iv)  ,uz;lhk; guhf;fpukghF kd;ddhy; Nkw;nfhs;sg;gl;l murpay;> ,yf;fpag; gzpfis 

tpgupf;Ff.  ^06 Gs;spfs;&

6.     (i)  fz;b ,uhrjhdp kd;du;fisr; re;jpg;gjw;F tUif je;j Mq;fpyj; J}Jtu;fs; %tiuf; 

Fwpg;gpLf.  ^03 Gs;spfs;&
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 (ii) 1803 Mk; Mz;L Mq;fpNyauhy; Nkw;nfhs;sg;gl;l fz;b ,uhrjhdp kPjhd Mf;fpukpg;G 

Njhy;tpaile;jikf;fhd fhuzq;fs; ,uz;bid vOJf.  ^04 Gs;spfs;&

 (iii)  1818 Mk; Mz;L eilngw;w Rje;jpug; Nghuhl;lj;jpw;fhd fhuzq;fs; ,uz;bidj; 

njspTgLj;Jf.  ^05 Gs;spfs;&

 (iv)  1848 Mk; Mz;L Mq;fpy vjpu;g;Gf; fpsu;r;rpf;Ff; Nfhy;GW}f; fkud; rPu;jpUj;jq;fs; vt;thW 

fhuzkhfpaJ vd;gjid %d;W cjhuzq;fSld; vLj;Jf;fhl;Lf.  ^06 Gs;spfs;&

7.     (i)  fPNo A, B, C apy; jug;gl;Ls;s mikg;Gf;fs; epWtg;gl;l ahg;G rPu;j;jpUj;jq;fis xOq;FKiwapy; 

vOJf. ^03 Gs;spfs;&
  A  - rl;lthf;ff; fofk;  

B  - mur fofk;   
C  - ,U rigfisf; nfhz;l ghuhSkd;wk;  

 (ii) nlhd%u; murpay; rPu;j;jpUj;jj;jpw;F ,zq;f gpupj;jhdpa mur cj;jpNahfj;ju;fspd; fPopUe;j 

Jiwfs; ,uz;bidAk;> ,yq;if mikr;ru;fspd; fPopUe;j Jiwfs; ,uz;bidAk; vOJf. 
   ^04 Gs;spfs;&

 (iii)  ngUe;Njhl;lg; gapu;r;nra;ifapd; tpisthf ,e;ehl;L r%fj;jpy; Vw;gl;l khw;wq;fs; ,uz;bidj; 

njspTgLj;Jf.   ^05 Gs;spfs;&

 (iv)  1931 Mk; Mz;bd; gpd;du; ,e;ehl;bd; new;gapu;r;nra;ifia Kd;Ndw;Wtjpy; Nkw;nfhs;sg;gl;l 

eltbf;iffs; ,uz;bidr; RUf;fkhfj; njspTgLj;Jf. ^06 Gs;spfs;&

 

gFjp III
8.     (i)  gpupj;jhdpahtpy; Muk;gpf;fg;gl;l ifj;njhopy; Gul;rpf;F mbg;gilahf mike;j %d;W gpujhd 

ifj;njhopy;fisf; Fwpg;gpLf.   ^03 Gs;spfs;&

 (ii) gpupj;jhdpahtpy; Muk;gpj;j ifj;njhopy; Gul;rp 19 Mk; E}w;whz;by; INuhg;ghtpd; Vida 

ehLfspYk; guTtjw;fhd fhuzq;fs; ,uz;bidj; jUf.   ^04 Gs;spfs;&

 (iii)  ifj;njhopy; Gul;rpapd; tpisthfg; Nghf;Ftuj;Jj; Jiwapy; Vw;gl;l Kd;Ndw;wj;ij ,uz;L 

tplaq;fspd; mbg;gilapy; tpsf;Ff. ^05 Gs;spfs;&

 (iv)  ifj;njhopy; Gul;rpapd; tpisthf 
  (a) murpay;     (b)   nghUshjhuk;
  Mfpa Jiwfspy; cyfshtpa uPjpapy; Vw;gl;l khw;wq;fs; xt;nthd;wpidf; Fwpg;gpl;L 

tpsf;Ff.  ^06 Gs;spfs;&

9. (i) fPNo A, B, C vd;gjpy; nfhLf;fg;gl;Ls;s jfty;fSf;F mika tpilfis xOq;FKiwapy; 

vOJf.

A  - rpwpa ehLfis xd;wpizj;J N[u;kdpia cUthf;fpatu;.  
B  - Kjyhk; cyf Aj;jj;jpy; Njhy;tpAw;w N[u;kdpiaj; jz;bj;j cld;gbf;if.

C  - Kjyhk; cyf Aj;jj;jpd; gpd;du; N[u;kdpapy; Njhw;wk; ngw;w Gjpa murpay; Kiw.

   ^03 Gs;spfs;&

 (ii)  fPNo A, B, C, D vd;gjpy; nfhLf;fg;gl;Ls;s tplaq;fSf;Fg; nghUj;jkhd tpilfis 

xOq;FKiwapy; vOJf. 

A  - 1870 Mk; Mz;by; N[u;kdpahy; gyte;jkhf ifg;gw;wg;gl;l gpuhd;Rf;F cupa epyf;fup> 

,Uk;Gtsg; gpuNjrk;   
B  - Kjyhk; cyf Aj;jj;jpd; gpd;du; rkhjhdj;ijg; NgZk; nghUl;L Vw;gLj;jg;gl;l mikg;G  
C  - mnkupf;f If;fpaehL ,uz;lhk; cyf kfh Aj;jj;jpy; ,iztjw;fhd cldbf; fhuzk;

D  - ,uz;lhk; cyf kfh Aj;jj;jpd; ,Wjpapy; ag;ghd; ruzilaj; jPu;khdpj;jikf;fhd 

fhuzk;    ^04 Gs;spfs;&

 (iii)  'cyfpy; ghupa mopit Vw;gLj;jpa gaq;fu Aj;jk; ,uz;lhk; cyf kfh Aj;jkhFk;." ,f;$w;wpid 

,uz;L fhuzq;fis Kd;itj;Jj; njspTgLj;Jf.  ^05 Gs;spfs;&

 (iv)  ,uz;lhk; cyf kfh Aj;jj;jpd; gpd;du; cyf murpay; khw;wkile;j tpjj;ij cjhuzq;fSld; 

tpsf;Ff.   ^06 Gs;spfs;&

* * *
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(34) tpQ;Qhdk;

tpdhj;jhs; fl;likg;G

tpdhj;jhs; I  -  Neuk; 01kzpj;jpahyk;.  

  40 gy;Nju;T tpdhf;fisf; nfhz;lJ. mwpT> fpufpg;G> gpuNahf Mw;wy; 

Mfpatw;iw mstpLtjw;fhf mbg;gil kl;lj;jpy; 10 tpdhf;fisAk;> eLj;ju 
kl;lj;;jpy; 18 tpdhf;fisAk;> cau; kl;lj;jpy; 6 tpdhf;fisAk;> gFg;G> 

njhFg;G> kjpg;gPL Mfpa Mw;wy;fis mstpLk; tpjj;jpy; 6 tpdhf;fisAk; 
nfhz;ljhf tpdhj;jhs; mikAk;. xU tpdhtpw;F 2 Gs;spfs; tPjk; nkhj;jg; 
Gs;spfs; 80 MFk;.

tpdhj;jhs; II  -  Neuk; 03 kzpj;jpahyk;.  

  ,J A, B vDk; ,uz;L gFjpfisf; nfhz;lJ. 

  gFjp A 

  4 fl;likg;G tif tpdhf;fisf; nfhz;lJ. vy;yh tpdhf;fSf;Fk; 

tpdhj;jhspNyNa tpilaspf;f Ntz;Lk;. ,t; ehd;F tpdhf;fSk; fPo; 

Fwpg;gpl;lthW mt;tt; Nju;r;rpfis cs;slf;fpajhfTk; xt;nthU tpdhtpw;Fk; 

cupa Gs;spfspy; Fiwe;jJ 25% MtJ nra;Kiw nraw;ghLfSf;fhf 

toq;fg;gLk; tifapYk; mikf;fg;gl;Ls;sd. 

  tpdh 1  (  tpQ;Qhd nrad;KiwAk; 4 MtJ Nju;r;rpAk;. 

  tpdh 2  (  1 MtJ Nju;r;rp 

  tpdh 3  (  2 MtJ Nju;r;rp 

  tpdh 4  (  3 MtJ Nju;r;rp 

  xU tpdhtpw;F 15 Gs;spfs; tPjk; nkhj;jg; Gs;spfs; 60 MFk;. 

  gFjp B 

  gFjpf; fl;likg;G tif tpdhf;fs; 5 ,y; 3 tpdhf;fSf;F tpilaspj;jy; 

Ntz;Lk;. xU tpdhtpw;F 20 Gs;spfs; tPjk; nkhj;jg; Gs;spfs; 60 MFk;. 

,t; Ie;J tpdhf;fSk; fPo;f; Fwpg;gpl;Ls;sthW Nju;r;rpfis cs;slf;fpajhf 

mikf;fg;gl;Ls;sd.

  tpdh 5  (  1 MtJ Nju;r;rp  

  tpdh 6  (  2 MtJ Nju;r;rp 

  tpdh 7  (  3 MtJ Nju;r;rp 

  tpdh 8  (  1, 3 MtJ Nju;r;rpfs;  

  tpdh 9  (  2, 3 MtJ Nju;r;rpfs; 

  xU tpdhtpw;F 20 Gs;spfs; tPjk; nkhj;jg; Gs;spfs; 60 MFk;. 

,Wjpg; Gs;sp fzpj;jy; ( tpdhj;jhs; I     = 80  
   tpdhj;jhs; II    = 120  
   ,Wjpg; Gs;sp =  200 ÷ 2   =    100

* 	 tpQ;Qhd nra;KiwAld; njhlu;ghd tplaq;fs; kpfr; RUf;fkhf 100-101Mk; gf;fq;fspy; 

cs;slf;fg;gl;Ls;sJ. 
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(34) tpQ;Qhdk;
tpdhj;jhs;; I

ftdpf;f Ntz;bait :

  *  vy;yh tpdhf;fSf;Fk; tpil jUf.

*  rupahd my;yJ kpfg; nghUj;jkhd tpiliaj; njupe;njLf;f. (guPl;irapy; tpil vOJtjw;F   

gy;Nju;T tpilj;jhs; toq;fg;gLk;.)

1. capu;r; rlg;nghUspd; gpujhd capu; %yf;$Wfspy; iejurd; (N) %yfk; mlq;fpa capu; %yf;$Wfshff; 

fUjg;gLgit>   

 (1) fhNghitjNuw;W> Gujk;.   (2) ,ypg;gpl;L> Gujk;.  
 (3) Gujk;> epA+f;fpypf; mkpyq;fs;.  (4) epA+f;fpypf; mkpyq;fs;> fhNghitjNuw;W.

2.  Al
 27

 13  
,d; ,yj;jpud; epiyaikg;G vJ?  

 (1) 2, 8, 3 (2) 2, 8, 4  (3) 2, 8, 17 (4) 2, 8, 8, 9

3. Ftpthbapd; Kd;dhy; itf;fg;gl;l nghUspd; tpk;gk; vg;nghOJk;>      

 (1) jiyfPohdJ.      (2) cUr;rpWj;jJ.    
 (3) cz;ikahdJ.      (4) Mbf;F Kd;dhy; Njhw;Wk;.

4. ,iug;igaow;rp Vw;gLtjw;Ff; fhuzkhf miktJ>   

  (1) cupa Neuj;jpw;F czT cl;nfhs;shik.  (2) kyk; fopg;gijj; jhkjg;gLj;Jjy;. 

 (3) mjpfstpy; ePiu mUe;Jjy;. (4) cztpy; ehu;g; nghUl;fs; Fiwthf ,Uj;jy;. 

5. vNjd;> vjPd;> Gnuhg;Ngd; Mfpatw;wpd; %yf;$w;Wr; #j;jpuq;fis KiwNa fhl;Lk; njupT gpd;tUtdtw;Ws; 

vJ?

 (1) C
2
H

6
,  C

2
H

4
,  C

3
H

8
  (2) C

2
H

6
, 

 
C

3
H

8
,  C

2
H

4
  (3) C

2
H

4 
,  C

2
H

6
, 

 
C

3
H

8
  (4) C

3
H

8
, 

 
C

2
H

6
,  C

2
H

4

6. rkepiytpir njhopw;gLk; re;ju;g;gkhf miktJ gpd;tUtdtw;Ws; vJ?      

    (1) kuj;jpypUe;J fha; fPNo tpOjy;. 

 (2) thfdnkhd;W khwh Ntfj;Jld; gazpj;jy;. 

 (3) fulhd fpil Nkw;gug;gpd; topNa ge;njhd;W cUSjy;.

 (4) xg;gkhd rha;jsj;jpd; topNa fPo;Nehf;fp nghUnshd;W mirjy;.

7. jhtuj;jpd; KidaUk;Gfs; xspia Nehf;fp tsu;tJ>   

 (1) Neu; Gtpj;jpUg;g mirT.  (2) kiw Gtpj;jpUg;g mirT. 

 (3) Neu; xspj;jpUg;g mirT.   (4) kiw xspj;jpUg;g mirT.

8. A, B, C vdg; ngauplg;gl;l %d;W %yfq;fs; gw;wpa jfty;fs; fPNo jug;gl;Ls;sd.

A - jpuhd;rpw;wu;> ,Uthap Mfpatw;iwj; jahupg;gjw;Fg; gad;gLk;.

B - ntg;gNkw;Wk;NghJ ePyepwr; RthiyAld; vupe;J thAnthd;iw ntspNaw;;Wk;. 

C - ntg;gNkw;Wk;NghJ gpufhrkhd xspu;Tld; vupe;J nts;is epwj; J}s; vQ;Rk;.

Nkw;$wpa A, B, C Mfpa %yfq;fSk; KiwNa>  

 (1) rpypf;fd;> fe;jfk;> kf;dPrpak;. (2) Nghud;> Nrhbak;> fe;jfk;. 
 (3) Nrhbak;> Nghud;> kf;dPrpak;. (4) rpypf;fd; kf;dPrpak;> fe;jfk;.

9. jug;gl;Ls;s cUtpy; ePu; epug;gg;gl;Ls;s xspGftpLk; Nfj;jnyhd;W

 fhl;lg;gl;Ls;sJ. ePupDs; Gs;sp A mKf;fj;jpw;Fr; rkkhd  

mKf;fj;ijAila Gs;sp vJ?  

 (1) B    (2) C   
 (3) D    (4) E 

epa+f;fpspf; mkpyq;fs;. epa+f;fpspf; mkpyq;fs;.



- 80 -

f.ngh.j.(rh.ju)g; guPl;ir - 2016 ,Yk; mjd; gpd;dUk; eilngWk; guPl;irf;fhd tpdhj;jhs; fl;likg;Gk; khjpup tpdhf;fSk; - tpQ;Qhdk;

- 3 -

f.ngh.j. (rh.ju)g; guPl;ir - 2016 ,Yk; mjd; gpd;dUk; eilngWk; guPl;irfSf;fhd tpdhj;jhs; fl;likg;Gk; khjpup tpdhf;fSk; - tpQ;Qhdk;

10. gpd;tUk; cUf;fspy; jir ,ioaq;fspd; ,uz;L tiffs; fhl;lg;gl;Ls;sd. 

  
A B 

 

 Nkw;Fwpj;j A, B vd;gd KiwNa 

 (1) kokog;ghd jir> ,jaj;jir.  (2) kokog;ghd jir> td;$l;Lj;jir.     
 (3) ,jaj;jir> kokog;ghd jir.   (4) ,jaj;jir> td;$l;Lj;jir.

11. X vd;Dk; %yfj;jpd; ry;Ngw;W X
2
SO

4
 MFk;. fy;rpak; FNshNuw;wpd; #j;jpuk; Ca(ClO

3
)

2
 MFk;. 

mt;thnwdpd; X ,d; FNshNuw;wpd; #j;jpuk;.   

 (1) XClO
3  
   (2) X

2
ClO

3  
 

 (3) X(ClO
3
)

2
     (4) XClO

12. MlNyhl;l kpd;dpypUe;J xg;gkhf;fpa NeNuhl;l kpd;idg; ngWtjw;F gad;gLj;jg;gLk; Jizr;rhjdk; / 
Jizr;rhjdq;fs; Mtd>         

 (1) rPuhf;Fk; ,Uthap     (2) jilap> nfhs;sstp

 (3) nfhs;sstp> rPuhf;Fk; ,Uthap    (4) jilap> rPuhf;Fk; ,Uthap

13. Rthr topapYs;s Nkyzpapioaq;fs; rPjj;ij Ruj;jy;> Gwj;Jzpf;iffis mfw;Wjy; Nghd;w 

nraw;ghLfs; %yk; ghJfhg;G njhopw;ghl;il Nkw;nfhs;fpd;wd. Gifg;gpbj;jy; fhuzkhf 

Nkyzpapioaj;jpw;F Vw;gLk; Muk;g ghjpg;ghf miktJ>          

 (1) rPjk; Ruj;jy; epWj;jg;gLtjhy; Nkyzpapioak; cyu;tiljy;.

 (2) gprpu;fs; moptiltjhy; Nkyzpapioak; njhw;Wf;Fs;shjy;.  

 (3) jhu; gbtjdhy; Nkyzpapioaj;jpd; nraw;ghLfs; epWj;jg;gly;.

 (4) thjdhspapd; Nkyzpapioaf; fyq;fs; mrhjhuzkhf tsu;r;rpailjy;. 

•  P, Q, R  Mfpa %d;W fiury;fis ghrpr;rhaj;jhs; %yk; Nrhjpj;jNghJ fpilj;j mtjhdpg;Gfs; 

ml;ltizapy; jug;gl;Ls;sd. ,e;jj; jfty;fisg; gad;gLj;jp 14 Mk; 15 Mk; tpdhf;fSf;F 

tpilaspf;Ff.

fiury; nrk; ghrpr;rhaj;jhs; ePyg; ghrpr;rhaj;jhs;

P
Q
R

rptg;G

rptg;G

ePykhf khwpaJ

rptg;ghf khwpaJ

ePyk;

ePyk;

14.  Nkw;$wpa P, Q, R fiury;fSk; KiwNa>

 (1) fhuk;> mkpyk;> eLepiy  (2) fhuk;> eLepiy> mkpyk;.

 (3) mkpyk;> fhuk;> eLepiy    (4) mkpyk;> eLepiy> fhuk;.

15. NkNy ml;ltizapy; Fwpj;j fiury; P njhlu;ghd jtwhd $w;W vJ?

 (1) pH ngWkhdk; 7 I tplf; FiwT.
 (2) fhuq;fSld; jhf;fkile;J cg;igj; Njhw;Wtpf;Fk;. 

 (3) ve;j cNyhfj;JlDk; jhf;fkile;J Ijurid cUthf;Fk;. 

 (4) ve;j fhgNdw;WlDk; jhf;fkile;J fhgdPnuhl;irl;il cUthf;Fk;.
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16. rpy miyfspd; tiffs; fPNo jug;gl;Ls;sd.     

A - nghwpKiw FWf;fiyfs;  

B - nghwpKiw nel;lhq;fiyfs; 

C - kpd;fhe;j miyfs; 

 ,t;tiyfspy; thA Clfj;jpD}lhfg; gazpf;Fk; miyfshtd>

 (1) A, B khj;jpuk;. (2) B, C khj;jpuk;. (3) A, C khj;jpuk;. (4) A, B, C Mfpa vy;yhk;.

17. Nkyzpapioaq;fs; mike;Js;s ,lj;jpw;F Vw;g mtw;wpd; njhopw;ghLfs; NtWgLfpd;wd. tbfl;ly; 

 nraw;ghl;il Nkw;nfhs;Sk; Nkyzpapioak; mike;Js;s ,lk;>           

 (1) Nghkdpd; ciwapd; Rtu;.  

 (2) FUjpkapu;f;Foha;fspd; Rtu;.  
 (3) thjdhspr; Rtupd; cl;Gw Nkw;gug;G.    

 (4) czTf; fhy;tha;r; Rtupd; cl;Gw Nkw;gug;G.

18. Ijhd Clfnkhd;wpypUe;J mlu;e;j Clfnkhd;wpw;Fs; nry;Yk; xspf; fjpnuhd;W Kwptiltij 

rupahff; fhl;Lk; fjpu; tupg;glk; vJ? 

>

>

(1)

Ijhd   

    mlu;e;j

>

>

(3)

Ijhd

  mlu;e;j

(4)

Ijhd

    mlu;e;j

>

>

(2)

Ijhd

  mlu;e;j

>

>

19. gpd;tUk; ml;ltizapy; fynkhd;wpYs;s Gd;dq;fj;ijAk;  mjdhy; Mw;wg;gLk; njhopiyAk; rupahff; 

fhl;Lk; njupT vJ?   

(1)
(2)
(3)
(4)

Gz;dq;fk;  njhopy; 

mff;fyTUr; rpWtiy 

nfhy;fpAly;

fU

,iokzp

capu;r;nraw;ghl;ilf; fl;Lg;gLj;jy; 

ePu;r; rkepiyiag; NgZjy;. 

Gujj; njhFg;G  

rf;jp cw;gj;jp  

20. rpy gjhu;j;jq;fspd; kpd; flj;Jjpwd; njhlu;ghd gupNrhjidj; jfty;fs; cs;slq;fpa ml;ltiz 

fPNo jug;gl;Ls;sJ. 

gjhu;j;jq;fs;
kpd;idf; flj;Jjy;

jpz;k epiy cUfpa epiy

A
B
C

flj;jhJ

flj;jhJ

flj;Jk;

flj;Jk;

flj;jhJ

flj;Jk;

 A, B, C vd;gtw;wpy; mad; Nru;it> Nru;itfs; 

 (1) A khj;jpuk;.  (2)   B khj;jpuk;.  (3)   C khj;jpuk;.  (4)   A, C khj;jpuk;. 

21. cUtpy; jpuhd;rpw;wupd; Rw;Wf;Fupa FwpaPL jug;gl;Ls;sJ. gpd;tUtdtw;Ws; 

Nrfupg;ghDf;Fupa Kbtplj;ijAk;> jpuhd;rpw;wupd; tifiaAk; rupahff; 

fhl;Lk; njupT vJ?           

 (1) Z, pnp      (2)   Y, pnp
 (3) Z , npn            (4)   Y, npn   

>

X  

Y

Z 
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22. kdpj %isapd; njhopw;ghLfs; rpy fPNo jug;gl;Ls;sd. 

A - clw; rkepiyiag; NgZjy;. 

B - ,jaj; Jbg;G tPjj;ijf; fl;Lg;gLj;jy;. 

C - ,Uky;> Jk;ky; Nghd;w nraw;ghLfisf; fl;Lg;gLj;jy;.  

Nkw;Fwpj;jtw;Ws; vj;njhopw;ghLfs; ePs;tisa ikatpioaj;jpdhy; fl;Lg;gLj;jg;gLk;?

 (1) A, B khj;jpuk;. (2) B, C khj;jpuk;. (3) A, C khj;jpuk;. (4) A, B, C Mfpa vy;yhk;.

23. khztu; FOnthd;wpdhy; Nkw;nfhs;sg;gl;l rpy gupNrhjidfs; P, Q, R, S vdj; jug;gl;Ls;sd.

P  - ,Uk;Gj; J}isf; fe;jfj;Jld; ntg;gNkw;Wjy;.  

Q - nghw;whrpak; gukq;fNdw;iw ntg;gNkw;Wjy;.  

R - Rj;jkhd ,Uk;G Mzpia nrg;G ry;Ngw;W fiurypDs; mkpo;j;jp itj;jy;.  

S - fy;rpak; FNshiul;Lf; fiuriy Nrhbak; fhgNdw;W fiurYld; fyj;jy;.

Nkw;Fwpg;gpl;l P, Q, R, S Mfpa gupNrhjidfspy; eilngWk; jhf;f tiffis cs;slf;fpa njupT 

gpd;tUtdtw;Ws; vJ? 

(1)
(2)
(3)
(4)

P Q R S 

Nru;f;if 

xw;iw ,lg;ngau;r;rp

Nru;f;if

Nru;f;if

gpupif

Nru;f;if

Nru;f;if 

gpupif

xw;iw ,lg;ngau;r;rp

gpupif

,ul;il ,lg;ngau;r;rp

,ul;il ,lg;ngau;r;rp 

,ul;il ,lg;ngau;r;rp

,ul;il ,lg;ngau;r;rp

xw;iw ,lg;ngau;r;rp

xw;iw ,lg;ngau;r;rp

24. miy ,af;fnkhd;wpd; fzg;nghOjpw;Fupa tiuG %ykhd vLj;Jf;fhl;L fPNo jug;gl;Ls;sJ.

  

    

 

,lg;ngau;r;rp

J}uk;p  

r  

q  

s  

 ,t;tiyapd; tPr;rk;> miyePsk; vd;gd Fwpj;Jf; fhl;lg;gLtJ KiwNa>  

 (1) p, r  vd;gtw;wpd; %ykhFk;. (2) p, s  vd;gtw;wpd; %ykhFk;. 
 (3) q, r  vd;gtw;wpd; %ykhFk;. (4) q, s  vd;gtw;wpd; %ykhFk;.

25. ghypay; uPjpahff; flj;jg;gLfpd;w Neha;f; fhuzpfs; gw;wpa rupahd $w;whtJ> me; Neha;f; fhuzpfs;   

 (1) vg;nghOJk; ghypay; njhlu;Gfspdhy; khj;jpuk; flj;jg;gLk;.    

 (2) vg;nghOJk; ,ypq;f cWg;Gfspy; khj;jpuk; Neha; mwpFwpfisj; Njhw;Wtpf;Fk;.  

 (3) ghypay; njhlu;Gfspdhy; my;yJ cly; gha;kq;fspdhy; flj;jg;glf;$bad.

 (4) kUe;Jfspdhy; my;yJ epu;g;gPldkhf;fy;; %yk; clypypUe;J mfw;wg;gl Kbahjit.

26. vspa kpd;fynkhd;wpd; mikg;ig fPNoAs;s cU fhl;Lfpd;wJ. ,e;j mikg;Gj; njhlu;ghd rupahd 

$w;W vJ?

   

 (1) nrg;Gj;jfL Neu;Kbtplkhfj; njhopw;gLtJld; mq;F xl;rpNaw;wk; epfo;fpd;wJ. 

(2) nrg;Gj;jfL kiwKbtplkhfj; njhopw;gLtJld; mq;F jho;j;jy; epfo;fpd;wJ.

(3) ehfj;jfL Neu;Kbtplkhfj; njhopw;gLtJld; mq;F jho;j;jy; epfo;fpd;wJ. 

(4) ehfj;jfL kiwKbtplkhfj; njhopw;gLtJld; mq;F xl;rpNaw;wk; epfo;fpd;wJ.

A 

ehfj;jfL nrg;Gj;jfL

Ijhd ry;G+upf;fkpyk;
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27. nghUnshd;wpd; kPJ njhopw;gLk; khWk; tpirAld; khWgLfpd;w cuha;T tpir miof;fg;gLtJ>      

 (1) ,af;f cuha;T tpir vd. 

 (2) epiyapay; cuha;T tpir vd.

 (3) vy;iy cuha;T tpir vd. 

 (4) epiyapay; kw;Wk; ,af;f cuha;T tpir vd. 

28. guk;giuayFj; njhopDl;gj;ij Neubahfg; gad;gLj;Jk; re;ju;g;gk; my;yhjJ  gpd;tUtdtw;Ws; vJ?    

 (1) Fw;wthspfisf; fz;L gpbj;jy;. 

 (2) mjpf Nghrizj;jd;ikAs;s ghy; jUk; gRf;fis ngUf;Fjy;. 

 (3) fdpa vz;nza; ntspNaw;wj;jhy; Vw;gLk; #oy; ghjpg;ig ,optsthf;Fjy;.   

 (4) ,ypq;f ,dg;ngUf;fk; eilngwhj jhtug; Ngjq;fis ngUkstpy; gapu;r; nra;jy;.

29. nghw;whrpak; ngupraNdw;W> gpNdhg;jypd; vd;gd mlq;fpa n[yp Clfj;ijf; nfhz;l ,uz;L 

ngw;upf; fpz;zq;fSs; J}a> xj;j ,Uk;ghzpfs; ,uz;L> cNyhff; fPyq;fs; ,uz;Lld; njhLifapy; 

itf;fg;gl;Ls;sijg;  gpd;tUk; ,uz;L cUf;fspy; fhzyhk;.  

      

kf;dPrpa cNyhff; fPyk;

A

nrk;G cNyhff; fPyk;

B

Nkw;gb mikg;gpypUe;J ngw;Wf;nfhs;sg;gLk; epwkhw;wq;fs; gw;wpa rupahd mtjhdpg;G gpd;tUtdtw;Ws; 

vJ?

A  B  

,Uk;ghzpiar; #o cNyhff; fPyj;ijr; #o ,Uk;ghzpiar; #o cNyhff; fPyj;ijr; #o

(1)
(2)
(3)
(4)

ePyk;

,sQ;rptg;G

,sQ;rptg;G

,sQ;rptg;G

,sQ;rptg;G 

epwkhw;wkpy;iy

epwkhw;wkpy;iy

ePyk;

,sQ;rptg;G

ePyk;

,sQ;rptg;G

epwkhw;wkpy;iy

ePyk;

,sQ;rptg;G

ePyk;

,sQ;rptg;G 

               
40 cm 60 cm 

12 N X 

BA

∆
C

30. 1m ePskhd AB vd;Dk;; ,Nyrhd> rPuhd 

Nfhnyhd;W 12 N, X vd;Dk; ,U tpirfs; %yk; 

fj;jp tpspk;gpd; kPJ rkepiyg;gLj;jg;gl;Ls;sJ. 

,r; re;ju;g;gj;jpy; tpir X ,d; gUkd;  
 

 (1) 6 N.    (2)   8 N.   (3)   10 N.   (4)   12 N.

31. G+f;Fk; jhtuq;fspy; fhzg;gLfpd;w rpy ,ay;Gfs; fPNo jug;gl;Ls;sd.    

A - ehUU Ntu;j;njhFjpiaf; nfhz;bUj;jy;.

B - ,iyfspy; tiyAU euk;gikg;igf; nfhz;bUj;jy;.   

C - jbj;j Gwj;Njhiyf; nfhz;l ,iyfs; fhzg;gLjy;.    

D - fpisfsw;w jz;ilf; nfhz;bUj;jy;.

 jug;gl;;l ,ay;GfSs; xUtpj;jpiy jhtuj;ij ,dq;fhz cjTk; ,ay;Gfshtd>

 (1) A, B khj;jpuk;. 

 (2) A, D khj;jpuk;. 

 (3) C, D khj;jpuk;. 

 (4) B, C khj;jpuk;. 
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32. C
  12

,d; mZj;jpzpT 1.99 × 10 
-23

g ck;> Mg ,d; mZj;jpzpT 4.03 × 10
-23

g ck; MFk;. Mg mZtpd; 

rhu; mZj;jpzpT>

 (1) 
4.03 × 10

-23

1.99 × 10 
-23     (2) 

4.03 × 10
-23

1.99 × 10 
-23

 

 (3) 
4.03 × 10

-23

1.99 × 10 × 12
-23    (4) 

12 × 4.03 × 10
-23

1.99 × 10
-23

33. fPNo jug;gl;Ls;s kpd;Rw;wpy; kpd;fyj;jpdhy; toq;fg;gLk; nkhj;j kpd;Ndhl;lk;.                
  

   

4 Ω

4 Ω

2 Ω

6 V 

 (1) 0.2 A MFk;. (2) 0.6 A MFk;. (3) 1.0 A MFk;. (4) 1.5 A MFk;.

34. gpd;tUk; $w;Wfisf; ftdj;jpw; nfhs;f.
A - guk;giuf; FiwghLfs; nfhz;l gps;isfs; gpwg;gjw;F mjpf tha;g;Gfs; ,Uj;jy;. 

B - gpwf;Fk; rfy Foe;ijfSk; FiwghLs;s Foe;ijfshapUj;jy;.  

C - kdpj guk;giuf; FiwghLfs; vjpu;fhy re;jjpapdUf;F flj;jg;gLk; tha;g;gpUj;jy;.   

 ,f;$w;WfSs;> ,uj;j cwtpdupilNa jpUkzk; nra;tJ nghUj;jkw;wJ vd;Dk; fUj;ij 

 cWjpnra;Ak; $w;Wfs;>

 (1) A, B khj;jpuk;. (2) B, C khj;jpuk;. (3) A, C khj;jpuk;. (4) A, B, C Mfpa vy;yhk;.

35. irf;fps; ildNkhtpd; J}z;ly; kpd;dpaf;f tpir (kp.,.tp.) Neuj;Jld; khw;wkilAk; Kiwiag; 

gpd;tUk; ve;j tiuG fhl;Lfpd;wJ?  

    

 Neuk;

kp.,.tp.(1)

 Neuk;

kp.,.tp.(2)

 Neuk;

kp.,.tp.(3)

 Neuk;

kp.,.tp.(4)

36. #oy; khriljypd; tpisthf #oYf;F Vw;gLk; ghjfkhd tpisTfs; rpy fPNo jug;gl;Ls;sd. 

A - G+Nfhs ntg;gKwy;.  

B - tspapd; CLfhl;Lk; jd;ik Fiwtiljy;.   

C - jhtuq;fspy; czT cw;gj;jpf;Fj; jilNaw;gly;.    

,tw;Ws; xsp ,urhadj; J}kj;jpd; fhuzkhf Vw;gLk; ghjfkhd tpisTfshtd> 

 (1) A, B khj;jpuk;. (2) A , C khj;jpuk;. (3) B, C khj;jpuk;. (4) A, B, C Mfpa vy;yhk;.
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37. RahjPdkhfj; njhq;ftplg;gl;l fk;gpr; rl;lfnkhd;W MspAld; $ba 

kpd; Rw;nwhd;Wld;  njhLf;fg;gl;Ls;s tpjj;ij cUtpy; fhzyhk;. 

rl;lfj;jpd; AB fpilar;Rf;Fr; nrq;Fj;jhf fhe;jg;Gynkhd;W epiyf;Fj;jhf 

Vw;gLj;jg;gl;Ls;sJ. 

 Mspia %baJk; AB mr;R    

 (1) X jpiria Nehf;fp mirAk;.    

 (2) Y jpiria Nehf;fp mirAk;.   

 (3) ,lQ;Ropahfr; Rw;Wk;.   

 (4) tyQ;Ropahfr; Rw;Wk;.

38. fopTg;nghUs; Kfhikj;Jtj;jpw;fhf tPLfspy; gpd;gw;wg;gLk; gpd;tUk; eilKiwfspy; kpfTk; 

nghUj;jkhdnjdf; fUjg;glf; $baJ vJ?     

 (1) tPl;by; NrUk; Fg;ig$oq;fis vupj;J tpLjy;.
 (2) tPl;by; NrUk; fopTg;nghUs;fis tifg;gLj;jp mfw;Wjy;.

 (3) tPl;by; fopTg;nghUs;fs; Njhw;Wtpf;fg;gLk; nraw;ghLfisj; jtpu;j;jy;.
 (4) fz;zhbg; Nghj;jy;fSf;Fg; gjpyhf gpshj;jpf;F Nghj;jy;fisg; gad;gLj;jy;.

39.  %yfq;fs; rpytw;wpd; rhu; mZj;jpzpTfs; fPNo jug;gl;Ls;sJ.

 H = 1                C = 12                O = 16                Mg = 24  

 Nkw;Fwpj;j ngWkhdq;fSf;F mika jtwhfj; jug;gl;Ls;s njhlu;G vJ?

 (1) 12 g fhgdpy; mlq;fpAs;s mZf;fspd; %y; vz;zpf;if =  24 g kf;dPrpaj;jpy; mlq;fpAs;s  

     mZf;fspd; %y; vz;zpf;if

 (2) 24 g kf;dPrpaj;jpy; mlq;fpAs;s mZf;fspd; %y; vz;zpf;if = 18 g ePupy; mlq;fpAs;s   

     %yf;$Wfspd; %y; vz;zpf;if 

 (3) 12 g fhgdpy; mlq;fpAs;s mZf;fspd; vz;zpf;if =  24 g kf;dPrpaj;jpy; mlq;fpAs;s  

     mZf;fspd; vz;zpf;if     

  (4) 24 g kf;dPrpaj;jpy; mlq;fpAs;s mZf;fspd; vz;zpf;if  =  18 g ePupy; mlq;fpAs;s nkhj;j  

     mZf;fspd; vz;zpf;if

40. X, Y Mfpa nghUs;fspd; ,af;fj;Jld; njhlu;ghd ,lg;ngau;r;rp - Neu tiuigf; fPNo fhzyhk;. 

,t;tiugpypUe;J ngw;Wf;nfhs;sf;$ba rupahd jfty;>                                              
 

10

0 6 8 12

20

30

40
Y X 

,lg;ngau;r;rp $m 

Neuk;$s 
4

(1)  MwhtJ nrf;fdpy; ,uz;L nghUs;fspdJk; Ntfk; 

rkdhFk;.

(2)  ehd;fhtJ nrf;fdpd; gpd;du; ,uz;L 

nghUs;fspdJk; ,lg;ngau;r;rp rkdhFk;.  

(3)  MwhtJ nrf;fdpd; gpd;du; nghUs; ,uz;Lk; 

,aq;fpa J}uk; rkdhFk;.    

(4)  nghUs; Y ,d; Ntfk; nghUs; X ,d; Ntfj;ij 

tpl mjpfkhFk;.                      

   * * *  

A 
B  

Y   

X 
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(34) tpQ;Qhdk; 
 tpdhj;jhs; II

ftdpf;f Ntz;bait :

  *  gFjp A apd; vy;yh tpdhf;fSf;Fk; ,t;tpdhj;jhspNyNa tpilaspf;Ff.

  *  gFjp B apYs;s Ie;J tpdhf;fspy; %d;W tpdhf;fSf;F khj;jpuk; tpilaspf;Ff.

gFjp A

1. (A) gpd;tUk; tiuG mgptpUj;jp mile;j ehnlhd;wpy; fhyj;Jld; rf;jp Efug;gl;l msitAk; 

vjpu;fhyj;jpy; Efug;gLk; vdf; fUjg;gLk; msitAk; fhl;Lfpd;wJ.

    

  

 fhyk; (tUlk;)

rf;jp (1015 J)

0

5

1980 1985 1990 1995 2000 2005 2010 2015 2020 2025

10

15

20

25

30

35

40

45

50
ngw;Nwhy; cl;gl fdpa vz;nza;

 epyf;fup

 ,aw;if thA  

 fU tY   
 #upad; $ fhw;Wr; rf;jp   
 ePu; kpd;tY 

(i) Nkw;Fwpj;j tiuGf;F mika ,t; mgptpUj;jpaile;j ehl;by; rf;jpia cw;gj;jp nra;tjpy; 

mjpfstpy; gad;gLj;jg;gLtJ GJg;gpf;fj;jf;f rf;jp%ykh my;yJ GJg;gpf;f Kbahj 

rf;jp%ykh? 

 ..................................................................................        ^01 Gs;sp&

(ii) NkNy tpdh (i) ,y; Fwpg;gpl;l rf;jp %yj;jpd; gad;ghL fhuzkhf Njhd;Wk; Rw;whlw; 

gpur;rpidnahd;iwf; Fwpg;gpLf.

 ....................................................................................................................................................
      ^01 Gs;sp&

(iii) tiuGf;F mika> Fwpj;j ehl;by; vjpu;fhyj;jpy; Efu;T tpiuthf mjpfupf;ff;$ba rf;jp 

%ynkhd;iwf; Fwpg;gpLf.

 .................................................................................................................................................... 
     ^01 Gs;sp&

(iv) (a) ,yq;if Nghd;w ehnlhd;wpy; vjpu;fhyj;jpy; gue;jstpy; gad;gLj;Jtjw;F cfe;jnjd 

ePq;fs; gupe;Jiuf;Fk;> tiugpy; fhl;lg;gl;Ls;s GJg;gpf;fj;jf;f rf;jp %ynkhd;iwf; 

Fwpg;gpLf. 

 ............................................................................................................................................ 
     ^01 Gs;sp&

 (b) ,r;rf;jp %yj;ijg; gad;gLj;Jk;NghJ Vw;gLk; gpur;rpid xd;iwf; Fwpg;gpLf.

 ............................................................................................................................................ 
     ^01 Gs;sp&
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 (B) Fwpj;j tUlnkhd;wpy; ,yq;ifapYs;s tPLfs; kw;Wk; tu;j;jfj; Jiwapdupd; vupnghUs; Efu;tpdhy; 

tspkz;lyj;jpw;F tpLtpf;fg;gl;l fhgdPnuhl;irl;bd; msT fPNo jug;gl;Ls;s ml;ltizapy; 

fhl;;lg;gl;Ls;sJ. 

tu;j;jfj; Jiw fhgdPnuhl;irl;L msT [pfhfpuhkpy; ^Gg&

01
02
03
04
05

kpd; gpwg;ghf;fy;

njhopw;rhiyfs;

Nghf;Ftuj;J

tPL kw;Wk; tu;j;jf epiyaq;fs; 

Rj;jpfupj;jy; eltbf;iffs;

3015.34
842.03
5058.19
1195.70
268.25

(i) fhgdPnuhl;irl;il ntspNaw;Wtjpy; mjpfsT gq;fspg;Gr; nra;j Jiw vJ? 

.................................................................................. (01 Gs;sp)

(ii) fhgd; mbr; Rtl;Lf;fhd Nghf;Ftuj;Jj; Jiw %ykhd gq;fspg;igf; Fiwj;Jf; 

nfhs;tjw;F nraw;gLj;jf;$ba Kiwnahd;iw Kd;nkhopf.   

      ................................................................................................................................................
 (01 Gs;sp)

 (C) capu;f;Nfhsj;jpd; xOq;fikg;G kl;lq;fs; kw;Wk; #ow;nwhFjpapd; Nghriz kl;lq;fs; Mfpait 

xOq;fike;Js;s Kiwia vLj;Jf;fhl;Ltjw;F Kd;itf;fg;gl;Ls;s ,uz;L khjpupAUf;fisf; 

fPNo fhzyhk;. 

  B 

 

A 

X 

Y 

rhfpak;

  (i) cU A apYs;s khjpupAU %yk; vLj;Jf;fhl;lg;gLtJ ahJ?

   ..................................................................................        (01 Gs;sp)

(ii) Nkw;Fwpj;j A, B Mfpa ,uz;L khjpupfSf;FKupa  X, Y vd;gtw;iwg; ngaupLf.

   X ................................. Y .................................               (02 Gs;spfs;)

(D) (i) Fbj;njhifnahd;wpy; capuq;fpfspd; vz;zpf;if fhyj;Jld; Fwpj;j Nfhyj;jpw;F mika 

mjpfupj;J> gpd; khwhg; ngWkhdj;ij milfpd;wJ. 

  Nkw;Fwpj;j $w;Wf;fpzq;f Fbj;njhiff;fhd khjpup tsu;r;rp tisapia tiuf.

   
                                                    (02 Gs;spfs;)
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(ii) kdpjf; Fbj;njhifnahd;wpd; tsu;r;rp tisap fPNo fhl;lg;gl;Ls;sJ. 

           

k
d
pj
u;f
s
pd
; 
v
z
;z
pf
;i
f

fhyk;

   (a)  kdpjf; Fbj;njhifapd; tsu;r;rp tisapapd; tbtk; ,t;thW miktjw;fhd fhuzk;  

     ahJ?  

     ..............................................................................................................................................
        (02 Gs;spfs;)

(b) khjpup tsu;r;rp tisapapypUe;J kdpjdpd; tsu;r;rp tisap NtWgl;Lf; fhzg;gLtjw;fhd 

fhuzk; ahJ?

  .............................................................................................................................................
            (01 Gs;sp)

            (nkhj;jk; 15 Gs;spfs;)

2. (A) ,Uspy; 48 kzpj;jpahyk; itf;fg;gl;l jhtunkhd;iwg; gad;gLj;jp xspj;njhFg;gpw;Fj; Njitahd 

fhuzpfisf; fz;lwptjw;fhf xOq;Fnra;ag;gl;l mikg;nghd;W fPNo jug;gl;Ls;sJ. ,t;tikg;G 

gpd;du; Ie;J kzpj;jpahyk; khj;jpuk; #upa xspapy; itf;fg;gl;L FLitapDs; GFj;jg;gl ,iy 

khg;nghUs; Nrhjidf;Fl;gLj;jg;gl;lJ. 

  

jf;if  

gr;irepw ,iy 

#upa xsp

rhbapy; elg;gl;l

capUs;s Kjpu;  

jhtuk;  

khg;nghUSf;fhf 

Nrhjpf;fg;gl;l ,iy

nghw;whrpak;

Ijnuhl;irl;L

A 

B

C 

  (i) khg;nghUSf;fhd maBd; Nrhjidapy; fUePy epwj;ij ,iyapd; A, B, C Mfpa 

 gFjpfspy; vg;gFjp/ gFjpfs; fhl;Lk;?

 ....................................................................................................................................................  
 (01 Gs;sp)
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(ii) ,q;F xspj;njhFg;gpw;F vf;fhuzp/ fhuzpfs; mj;jpahtrpak; vd;gJ fz;lwpag;gl;lJ?  

   ....................................................................................................................................................
             (02 Gs;spfs;)

  (iii) Nkw;Fwpj;j gupNrhjidapy; gpd;gw;wg;gl;l> fPNo jug;gl;Ls;s nraw;ghLfSf;fhd fhuzk; 

 xt;nthd;iwf; Fwpg;gpLf.

(a) jhtuapiyia ,uz;L ehl;fSf;F khj;jpuk; ,Uspy; itj;jy;.

 ............................................................................................................................................
  (01 Gs;sp)

(b) FLitapy; nghw;whrpak; Ijnuhl;irl;il itj;jy;.

 ............................................................................................................................................
               (01 Gs;sp) 

 (B) khg;nghUs; kPJ mkpNyR nehjpaj;jpd; njhopw;ghl;il Nrhjpg;gjw;fhf khztndhUtdhy; 

nra;ag;gl;l gupNrhjid tUkhW. 

÷ eP&lfj;jpy; khg;nghUs;> mkpNyR vd;gd Nru;f;fg;gl;L fiurnyhd;W jahupf;fg;gl;lJ. gpd;G 

ntt;NtW Neuq;fspy; mjpypUe;J xt;nthU Jsp tPjk; vLf;fg;gl;L maBd; fiurypd; xU 

Jsp Nru;f;fg;gl;L Nrhjpf;fg;gl;lJ. Neuj;Jld; maBd; fiurypd; epwkhw;wj;ij gpd;tUk; 

ml;ltiz fhl;Lfpd;wJ.          

epwk;  
fU 

ePykhf
ePy epwkhf fgpy epwkhf 

kQ;rl; fgpy 

epwkhf 

kQ;rl; fgpy 

epwkhf 

Neuk; / epkplk; t
1

t
2

t
3

t
4

t
5

(i) gpd;tUk; Neuq;fspy; fpilf;Fk; mtjhdpg;Gf;fhd fhuzk; xt;nthd;iwf; Fwpg;gpLf.

 t
1
  ............................................................................................................................................

 t
4 

............................................................................................................................................
 (02 Gs;spfs;)

(ii) t
5
 Neuj;jpw;Fg; gpd; fyitapy; fhzg;glf;$ba gjhu;j;jnkhd;iwg; ngaupLf. 

 ....................................................................................................................................  (01 Gs;sp)

 (C) (i) rpy mq;fpfspd; tupg;glq;fs; fPNo jug;gl;Ls;sd.

     

          

   

A B C 

D E
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 gpd;tUk; xt;nthU ,ay;igAk; nfhz;l mq;fpf;Fupa Mq;fpy vOj;J/ vOj;Jf;fis vjpNu vOJf.

(a) Miur;rkr;rPu;   -  .......................................................

(b) Ks;se;jz;nld;igf; nfhz;lJ   -  .......................................................

(c) Gwtd;$L fhzg;gLjy;   -  ....................................................... 

(d) %l;Lf;fisf; nfhz;l J}f;fq;fs; ,Uj;jy;  -  .......................................................

(e) jirg;gpbg;ghd ghjk; fhzg;gly;  -  .......................................................

(f) Xuplj;jpy; xl;b thoy;   -  .......................................................   

                                        (06 Gs;spfs;)

(ii) Nkw;Fwpj;j mq;fpfs; mlq;Fk; ,uhr;rpaj;ij vOJf.

 ..................................................................................       (01 Gs;sp)
                                  (nkhj;jk; 15 Gs;spfs;)

3. jhf;f tPjj;ij xg;gpl;Lg; ghu;g;gjw;fhf> xt;nthd;wpYk; 1mol dm-3  nrwpTila 50 cm3 

IjNuhFNshupf;fkpyj;jpd; fiury; ,lg;gl;L xOq;fikf;fg;gl;l %d;W cgfuzj; njhFjpfisf; fPNo 

fhzyhk;. 

5.0 g CaCO
3
 Jz;Lfs; 

       
      

ePu;j;jhop

30 °C 
ePu;j;jhop

30 °C 

 5.0 g  CaCO
3
 J}s;

 

ePu;j;jhop

60 °C 

5.0 g CaCO
3
 J}s;

      

      

(i) fPNo jug;gl;Ls;s xt;nthU Nrhb mikg;Gfs; %yKk; Nkw;Fwpj;j jhf;fj;jpd; jhf;f tPjj;jpd; 

kPJ nry;thf;Fr; nrYj;Jk; vf; fhuzp fz;lwpag;gLfpd;wJ?

(a) X, Y    ...............................      (b)   Y, Z      ...............................                   (02 Gs;spfs;)

(ii) Y ,dJk; Z ,dJk; jhf;f tPjq;fis xg;gpLtjw;F ePq;fs; ve;j mtjhdpg;igg; 

gad;gLj;JtPu;fs;?

   ..............................................................................................................  (01 Gs;sp)

(iii) NkNy (i) (a), (b) ,y; Fwpg;gpl;l ,uz;L fhuzpfs; jtpu;e;j> ,j;jhf;fj;jpd; kPJ nry;thf;Fr; 

nrYj;Jk; NtW fhuzpnahd;iwf; Fwpg;gpLf. 

   ..................................................................................   (01 Gs;sp)

(iv) tpdh (iii) ,y; Fwpg;gpl;l fhuzpapd; nry;thf;ifr; Nrhjpg;gjw;F Y, Z Mfpa mikg;Gfisg; 

gad;gLj;Jtjhapd; Nkw;nfhs;s Ntz;ba khw;wq;fs; ,uz;ilf; Fwpg;gpLf.

   .....................................................................            ..................................................................  
                        (02 Gs;spfs;)

(v) ,r;nraw;ghl;bd;NghJ tpisnghUshf fhgdPnuhl;irl;L thA ntspNaw;wg;gLk;. ,t;thA 

%yf;$w;wpd; Y}ap]; fl;likg;gpid tiue;J fhl;Lf.

    
 

                 (02 Gs;spfs;)
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 (vi) FLitapDs; eilngWk; ,urhadj; jhf;fj;jpw;fhd rkg;gLj;jpa rkd;ghl;il vOJf.

   ................................................................................................................................................... 
   (01 Gs;sp) 

(vii) X mikg;gpy; gad;gLj;jpa fy;rpak; fhgNdw;W KOtJk; jhf;fj;jpy; <Lgl;lJ vdf; 

fUjpdhy;> ,q;F cUthd fhgdPnuhl;irl;bd; %y; vz;zpf;if vt;tsT? 

 ( Ca = 40 , C = 12 ,  O = 16 )

 ...................................................................................................................................................

 ................................................................................................................................................... 
  (02 Gs;spfs;)

(viii) fy;rpak; fhgNdw;W> IjNuhFNshupf;fkpyk; vd;gtw;Wf;fpilapy; eilngWk; jhf;fj;jpd; 

rf;jp khw;wk; (H) - 61 kJ mol-1 MFk;. 

(a) ,j;jhf;fk; Gwntg;gj; jhf;fkh? mfntg;gj; jhf;fkh?

 ..................................................................................        (01 Gs;sp)
(b)  ckJ tpilf;fhd fhuzq;fisf; Fwpg;gpLf.

 ...............................................................................................................................................

                   (01 Gs;sp)
(c) fy;rpak; fhgNdw;W> IjNuhf;FNshupf;fkpyk; vd;gtw;Wf;fpilapy; eilngWk; 

jhf;fj;jpw;fhd fPOs;s rf;jp kl;l tiuig G+uzg;gLj;jpf; fhl;Lf.

         

rf;jp $ kJ mol-1 

   (02 Gs;spfs;)

      (nkhj;jk; 15 Gs;spfs;)

4. khbf; fl;llnkhd;wpypUe;J nrq;fw;fis mfw;Wtjw;F rha;jsnkhd;W gad;gLj;jg;gl;lJ. mt;thW 

mfw;wg;gl;l nrq;fy;nyhd;wpd; %d;W mikTfs; A, B, C vd cUtpy; fhl;lg;gl;Ls;sd.  

 A   - nrq;fy; khbapy; Xa;thfTs;sJ. 
B -  nrq;fy; xg;gkhf;fg;gl;l gPypapd; topNa 

  fPo;Nehf;fp mirfpd;wJ.

C  -  nrq;fy; epyj;jpy; Xa;thfTs;sJ.

(i)     gpd;tUk; xt;nthU re;ju;g;gj;JlDk;; njhlu;Ggl;l epA+w;wdpd; tpjpia vOJf. 
 (a) mikT A ,y; nrq;fy;ypd; kPJ njhopw;gLk; tpirfs; gw;wp tpsf;Ftjw;F  

 ..................................................................................  (01 Gs;sp)
 (b)  mikT B ,y; rha;jsj;jpd; topNa mjw;Fr; rkhe;jukhf nrq;fy;ypd; ,af;fj;ij  

 tpsf;Ftjw;F  

 ..................................................................................  (01 Gs;sp)

A

5 m

B

C
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(ii) mikT C ,y; jhf;fk;> kWjhf;fk; vd;gtw;iw fPNo jug;gl;Ls;s tupg;glj;jpy; Fwpj;Jf; fhl;Lf.

nrq;fy;

gyif
                            (02 Gs;spfs;)

(iii) xg;gkhd gPypapd; topNa nrq;fy;ypd; ,af;fj;jpw;fhd ,lg;ngau;r;rp - Neu tiuig tiuf.  

(nrq;fy; Xa;T epiyapypUe;J ,aq;f Muk;gpj;jJ vdf; fUJf.)           

                 (02 Gs;spfs;) 

(iv) Nkw;Fwpj;j Kiwapy; gPypapd; topahf fPo;Nehf;fp nrq;fy;iy mDg;Gtjhy; fpilf;Fk;  

 ed;ik ahJ?

.................................................................................................................................................... 

  (01 Gs;sp) 

(v) fulhd gPyp> xg;gkhf;fg;gl;l gPyp Mfpatw;wpy; Nkw;gb Ntiyf;F kpfg; nghUj;jkhd gPyp vJ? 

ckJ tpilf;fhd fhuzk; ahJ?

nghUj;jkhd gPyp ( ................................................

fhuzk;    ( ...................................................................................................................... 

          (02 Gs;spfs;)

(vi) nrq;fy;ypd; jpzpT 2 kg vdpd;> mikT A ,y; nrq;fy;ypd; mOj;j rf;jpiaf; fzpf;Ff. 

 ^g = 10 ms-2&

....................................................................................................................................................

....................................................................................................................................................

.................................................................................................................................................... 
 (02 Gs;spfs;)

(vii) nrq;fy; xg;gkhd rha;jsk; topahf fPo;Nehf;fp mirAk;NghJ Vw;gLk; rf;jp khw;wj;ijf; 

Fwpg;gpLf.

.................................................................................................................................................... 
  (01 Gs;sp) 

(viii) rha;jsj;jpd; fPo; me;jj;jpy; nrq;fy;ypd; Ntfj;ijf; fzpf;Ff.  

....................................................................................................................................................

....................................................................................................................................................

.................................................................................................................................................... 
 (02 Gs;spfs;)

(ix) NkNy tpdh (viii) ,y;> fzpj;jypd;NghJ ePq;fs; Nkw;nfhz;l vLNfhisf; Fwpg;gpLf.

.................................................................................................................................................... 
(01 Gs;sp)

(nkhj;jk; 15 Gs;spfs;)

* *
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gFjp B

05. (A) ,yFthf ehw;wpidg; ngw;Wf; nfhs;tjw;fhf ky;ypifj; jhtuj;jpd; nfhb jahu;g;gLj;jg;gl;Ls;s 
tpjj;ij fPNo cUtpy; fhzyhk;. 

    

fpis kz;zpDs; Gijf;fg;gl;l ,lk;

 

(i) Nkw;Fwpg;gpl;l jhtu ,dg;ngUf;f Kiw vt;thW miof;fg;gLk;?       (01 Gs;sp)
(ii) ntw;wpfukhf ehw;wpidg; ngw;Wf;nfhs;tjw;fhf ky;ypifapd; fpisia kz;zpy; Gijg;gjw;F 

Kd;du; nra;aNtz;ba nraw;ghnlhd;iwf; Fwpg;gpLf. (02 Gs;spfs;)

(iii) NtWgl;l Kiwfspy; guk;gyilAk; goq;fs; kw;Wk; tpj;Jfspd; %d;W tiffspd; tupg;glq;fs; 

fPNo jug;gl;Ls;sd.

 

 A B C

 ,g; goq;fSk; tpj;JfSk; guk;gyilAk; Kiwia cupa Mq;fpy vOj;Jld; Fwpg;gpLf. 
 (03 Gs;spfs;) 

 (B) ,ypq;f Kjpu;r;rpaile;j ngz;zpd; ,dg;ngUf;fj; njhFjpapy; ,lk;ngWfpd;w khjtplha;r; rf;fu 

nraw;ghl;bid vLj;Jf;fhl;Lk; glj;ijf; fPNo fhzyhk;.

         

A B C
Gilg;G mtj;ij ,ypA+w;wpay; mtj;ij

(i) fUf;fl;ly; eilngwhtpbd; NkNy jug;gl;Ls;s cUtpy;  C mtj;ijapd; gpd; kPz;Lk; 

Njhd;Wk;  mtj;ij vJ?      (01 Gs;sp) 

(ii) NkNyAs;s cUtpd;gb fUf;fl;lyhdJ ve;j ,uz;L vOj;Jf;fSf;fpilg;gl;l fhyg;gFjpapy; 

epfoyhk;?     (01 Gs;sp)

(iii) re;ju;g;gk; B ,d;NghJ #yfj;jpy; Vw;gLfpd;w tpNrl epfo;T ahJ?       (01 Gs;sp)
(iv) re;ju;g;gk; A ,ypUe;J re;ju;g;gk; C tiu ,lk;ngWfpd;w xU khjtplha;r; rf;fuk; epfo;tjw;F 

vLf;Fk; fhyk; vt;tsT?      (01 Gs;sp)
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w'fmd'i'^id'fm<& úNd.h - 2016 iy bkamiqj meje;afjk úNd. i|yd uQ,dlD;s m%Yak - úoHdj  

B fldgi

05. (A) myiqfjka me<hla ,nd .ekSu i|yd iukamsÉp je,la ilia lr we;s wdldrh my; rEmfha 

±lafõ' 

   

    w;a; mig hg l< ia:dkh   

(i) by; Ydl m%pdrK l%uh y∫kajkafka l=uk kulska o @ ^,l=Kq 01hs&

(ii) idr®:l j me<hla ,nd .ekSu i|yd iukamsÉp w;a; mig hg ls¯ug fmr w;af;ys is≥ l< 

hq;= fjkialula i|yka lrkak' ^,l=Kq 02hs&

(iii) úúO l%u Tiafia jHdma; jk M, yd îc jr®. ;=kl rEm igyka my; oelafõ'
 

            A B C

 by; M, yd îc jr®. jHdma; jk l%uh" w∞< wCIrh iu`. i|yka lrkak' ^,l=Kq 03hs& 

 (B) ,sx.sl jYfhka m˙K; jQ ia;%S m%ckl moaO;shla wdY%s; j is≥ jk wdr®;j pl%fha ksrEmKhla 

my; oelafõ'

         

A B C

iHqksld wjêh Æhqáh,a wjêh 

(i) ixfiapkhla is≥ fkdjqK fyd;a by; igyfka C wjia:dfjka miq j kej; t<fUkafka 

l=uk wjia:dj o@ ^,l=Kq 01hs& 

(ii) ixfiapkhla is≥ úh yelafla by; rEmhg wkqj lskï wlaIr fol w;r;=r ld,fha o@ 

 ^,l=Kq 01hs&

(iii) B wjia:dfõ äïnfldaIh ;=< is≥ jk iqúfYaI is≥ ùu l=ula o@ ^,l=Kq 01hs&

(iv) A wjia:dfõ isg C wjia:dj olajd is≥ jk tla wdr®;j pl%hlg .; jk ld,h 

 fldmuK o@ ^,l=Kq 01hs&
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 (C) mq;fpfspy; eilngWk; Gzupahf;fj;jpd; Fwpj;j re;ju;g;gnkhd;iw cUtpy; 

  fhzyhk;.                       

(i) ,t;thW eilngWk; gpupT Kiwapd; Kf;fpaj;Jtnkhd;iwf;  

 Fwpg;gpLf.                                              (02 Gs;spfs;)

(ii)  kdpjdpd; clw; fynkhd;wpYs;s epw%u;j;jr; Nrhbfspd; vz;zpf;if 22 + xx my;yJ  
22 + xy vdf; Fwpg;gplg;gLk;. ,q;F 22 kw;Wk; xx , xy Mfpatw;wpdhy; Fwpg;gplg;gLgit 

ahit?  (02 Gs;spfs;)

 (D) kdpjdpd; ,jaj;jpypUe;J  gk;gg;gLk; FUjpahdJ njhFjpr; Rw;Nwhl;lk;> Rthrg;igr; Rw;Nwhl;lk; 
Mfpa ,uz;L topfspy; nfhz;L nry;yg;gLfpd;wJ. 

(i) njhFjpr; Rw;Nwhl;lk;> Rthrg;igr; Rw;Nwhl;lk; vd;gtw;Wf;F ,ilapyhd ,uz;L NtWghLfisf; 

Fwpg;gpLf. (02 Gs;spfs;) 

(ii) rpyrkaq;fspy; FUjp xUq;nfhl;Ljy; fhuzkhf %isapd; FUjpf;fyd;fspy; Vw;gLk; 

milg;gpdhy; euk;Gf; fyq;fs; moptilfpd;wd. ,jdhy; Vw;gLk; Fiwghl;L epiyiknahd;iwf; 

Fwpg;gpLf.  (02 Gs;spfs;)

(iii) cly; cau tsu;r;rp jilg;gl;l gps;isf;F XNkhd; gpupj;njLg;G toq;fg;gl;lNghJ cauk; 

cupa epiyia mile;jJ. ,e;j XNkhidAk;> RfNjfp xUtupy; ,e;j XNkhidr; Ruf;Fk; 

Rug;gpiaAk; vOJf. (02 Gs;spfs;)

(nkhj;jk; 20 Gs;spfs;)

06.  (A) fyitapYs;s $Wfis Ntwhf;Ftjw;F gad;gLj;jg;gLk; gy;NtW Kiwfisf; fhl;Lfpd;w 

tupg;glq;fs; fPNo jug;gl;Ls;sd.

 

 
 

 

maBd;

fiue;Js;s

ePu; 

fhgd;

ehw;FNshiul;L 

 
 

kPjp

tbfl;bj; 

jhs;  

 

cg;Gf; 

fiury;

P Q R S

A 

B 

X 

,ypgPf;fpd; 

xLf;fp

(i) P, Q, R, S vd;gd %yk; fhl;lg;gl;Ls;s fyitapypUe;J $Wfis gpupj;njLf;fg; gad;gLk; 

Kiwfisg; ngaupLf. (04 Gs;spfs;)

(ii) P gad;gLj;jg;gLk; re;ju;g;gnkhd;iwf; Fwpg;gpLf.     (01 Gs;sp)

(iii)  P Kiwiag; gad;gLj;jp $Wfis NtWgLj;Jk;NghJ FLit X ,y; Nrfupf;fg;gLk; jputq;fs; 

,uz;L gilfshff; fhzg;gl;ld. ,t;thW epfo;tjw;fhd fhuzj;ijf; Fwpg;gpLf.

  (02 Gs;spfs;)

(iv)   Kiw P ,y;> ,ypgPf;fpd; xLf;fpapd; A, B Jthuq;fspy; vj;Jthuj;jpD}lhf ePu;  
nrYj;jg;gLfpd;wJ? mjw;fhd fhuzj;ijf; Fwpg;gpLf. (02 Gs;spfs;)

(B) (i)  NkNy Kiw Q ,y; gad;gLj;jg;gLk; fhgd; ehw;FNshiul;L KidT jd;ikAs;s fiug;ghd;> 

KidTj; jd;ikaw;w fiug;ghd; vd;gtw;Ws; vjDs; mlq;Fk;?     (01 Gs;sp) 

(ii)   maBd; fiuaj;ij fUJk;NghJ fhgd; ehw;FNshiul;il fiug;ghdhf gad;gLj;Jtjd; 

ed;;ik ahJ?  

                (01 Gs;sp)

2 n 

n n 
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(C) cg;gsq;fs; mikf;fg;gLfpd;w ,lnkhd;wpy; fhzg;glNtz;bajhff; fUjg;gLk; ,uz;L epiyikfs; 

fPNo jug;gl;Ls;sd.  

(a) fsp nfhz;l kz;

(b) tUlk; KOtJk; fhw;Nwhl;lk; cs;s cyu; fhyepiy. 

(i)  NkNy Fwpg;gplg;gl;l a, b Mfpa epiyikfs; fhzg;gl Ntz;bajw;fhd fhuzj;ijf; 

Fwpg;gpLf. (02 Gs;spfs;)

(ii) Kiw R %yk; cg;Gg; gspq;Ffisg; ngw;Wf;nfhs;s KbAk;. cg;gsq;fspy; cg;Gg; gspq;Ffs; 

ngw;wf;nfhs;sg;gLk; Kiw>  Kiw R ,y; ,Ue;J vt;thW NtWgLfpd;wJ?     (01 Gs;sp)

(iii) 1.0 %y; Nrhbak; FNshiul;L 900.0 g ePupy; fiuf;fg;gl;L R ,y; gad;gLj;jg;gl;l fiury; 

jahupf;fg;gl;lJ. ,f; fiurypy; Nrhbak; FNshiul;bd; %y; gpd;dj;ijf; fzpf;Ff.

 (H = 1, O = 16)  (02 Gs;spfs;)

 (D) czTg; nghUnshd;wpd; gpupj;njLg;gpy; A, B, C Mfpa epwg;nghUl;fs; mlq;fpAs;sdth vdr; 

Nrhjpj;J mwpe;Jnfhs;s gad;gLj;jg;gl;l Kiwnahd;iwg; fPNoAs;s cUtpy; fhzyhk;. 

    

   

czTg; gpupj;njLg;G

ABC epwg;nghUl;fs;fs; 

fiug;ghd;

(i) ,k;Kiw vt;thW miof;fg;gLk;?    (01 Gs;sp)

(ii) ,q;F fpilf;Fk; Kbtpw;Nfw;g A, B, C Mfpa epwg;nghUl;fspy; czTg; gpupj;njLg;gpy; 

fhzg;glf;$ba epwg;nghUs;/ epwg;nghUl;fs; vJ/ vit? (02 Gs;spfs;)

(iii) cztpYs;s epwg;nghUl;fis Nrhjpg;gijj; jtpu;e;j> Nkw;gb Kiw gad;gLj;jg;gLk; NtW 

re;ju;g;gnkhd;iwf; Fwpg;gpLf.       (01 Gs;sp)

(nkhj;jk; 20 Gs;spfs;)

07. (A) khztndhUtdhy; jpl;lkplg;gl;l gupNrhjid mikg;nghd;iw cUtpy; fhzyhk;. ,jd; %yk;> 

jilapnahd;wpd; (R) Clhfg; ghAk; kpd;Ndhl;lk; (I), kpd;dOj;j NtWghl;Lld; (V) cld; khWgLk; 

Kiwia mwpe;Jnfhs;s vjpu;ghu;f;fg;gLfpd;wJ.         

                 

(i) X, Y Mfpa rhjdq;fisg; ngaupLf.             

Y 

X 

R

S
(  )

Z 

                                               
                                            (02 Gs;spfs;)                                                                   

(ii) Z %yk; Mw;wg;gLk; njhopw;ghL ahJ? 
                                                   (01 Gs;sp)

(iii) thrpg;igg; ngWk; xt;nthU re;ju;g;gj;jpd; gpd;dUk; S Msp jpwf;fg;gLk;. ,jd; %yk; 

vjpu;ghu;f;fg;gLtJ ahJ?       (01 Gs;sp)
(iv) X, Y vd;gtw;wpd; %yk; ngwg;gl;l thrpg;GfSf;fpilapyhd njhlu;nghd;iwf; fhl;Ltjw;F 

tiunghd;iw tiuf. (02 Gs;spfs;)

(v) ',g; gupNrhjidia Nkw;nfhs;Sk;NghJ rpy ngsjpf epiyikfs; khwpypahff; fhzg;gLk;" 

vdf; fUjg;gLfpd;wJ. mt;thwhd ngsjpf epiyiknahd;iwf; Fwpg;gpLf.     (01 Gs;sp)
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 (B) tpy;iynahd;wpd; Kd;dhy; itf;fg;gl;l nghUnshd;W ntt;NtW nghUl; J}uq;fspy; ̂u& cUthf;Fk; 

tpk;gq;fspd; ,ay;Gfisg; gpd;tUk; ml;ltiz fhl;Lfpd;wJ.  
  

re;ju;g;gk;
nghUspd; J}uk;

^u& cm 
tpk;gj;jpd; ,ay;Gfs; 

A 15 khakhdJ> nghUistplg; ngupaJ> epkpu;e;jJ.

B 50 cz;ikahdJ> nghUistplg; ngupaJ> jiyfPohdJ.

C 70 cz;ikahdJ> nghUspd; gUkDf;Fr; rkdhdJ. 

D 90 cz;ikahdJ> nghUis tplr; rpwpaJ.
 

(i) ,t;tpy;iyapd; Ftpaj;J}uk; ahJ?    (02 Gs;spfs;)

(ii) re;ju;g;gk; B ,w;F fjpu; tupg;glnkhd;iw tiuf.   (03 Gs;spfs;)

(iii) re;ju;g;gk; A gad;gLj;jg;gLk; xspapay; cgfuzj;ijg; ngaupLf.       (01 Gs;sp)

(iv) NkNy ml;ltizapy; jug;gl;Ls;s tpk;gq;fspd; ,ay;GfSf;F xj;j tpk;gq;fisg; 

 ngWtjw;F gad;gLj;jg;gLk; Mbiag; ngaupLf.             (01 Gs;sp)

(C) fz;zhbf; Fohnahd;wpy; ,uz;L Jisfisapl;L> mtw;wpDs; ,uz;L ntg;gkhdpfs; nghUj;jg;gl;l 

Kiwia tupg;glj;jpy; fhzyhk;. ,q;F FohapDs; ePu; ,lg;gl;Ls;sJ. JisfspypUe;J ePu; 

frpahjthW mikf;fg;gl;Ls;sJ. ntg;gkhdpfs; A, B ,w;F ,ilg;gl;l gFjpapy; Fohapd; 

fPo;g;Gwkhf Rthiy itf;fg;gl;L ePu; ntg;gkhf;fg;gl;lJ. 

    
  

   

ntg;gkhdp A 

  ntg;gkhdp B

 ePu; 

(i) ,q;F fpilf;fg;ngWk; mtjhdpg;GfSf;F Vw;g B ,y; ntg;gepiy Fwpg;gplj;jf;f msT 

mjpfupj;jJ. vdpDk;> A ,y; ntg;gepiy rpwpjsNt mjpfupj;jpUe;jJ. ,t; mtjhdpg;GfSf;fhd 

fhuzj;ij tpsf;Ff.       (02 Gs;spfs;)

(ii) ntg;gkhdp B ,d; thrpg;G gbg;gbahf mjpfupj;J> Fwpj;j re;ju;g;gj;jpd; gpd;du; NkYk; 

ntg;gk; toq;fg;gl;lNghJk; khw;wkilahJ epiyahff; fhzg;gl;lJ. mr;re;ju;g;gj;jpy; ePupDs; 

eilngw;wpUf;ff;$ba khw;wj;ijf; Fwpg;gpLf.         

                    (01 Gs;sp)

(iii) Kfitnahd;wpy; 0.2 kg  ePu; fhzg;gl;lJ. mjd; ntg;gepiy 30 °C ,ypUe;J 45 °C tiu 
cau;j;jg;gl;lJ. ,jw;nfd RluLg;gpdhy; toq;fg;gl;l ntg;gj;jpd; msitf; fz;lwpf. 

(#oYf;F ntg;gk; ,of;fg;gltpy;iy vdf; nfhs;f.) 

 ( ePupd; jd;ntg;gf; nfhs;ssT 4200 J kg-1 °C-1, Kfitapd; ntg;gf; nfhs;ssT 120 J °C-1& 

             (03 Gs;spfs;)

              (nkhj;jk; 20 Gs;spfs;)
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08. (A) kdpjdpd; cl;Rthr> ntspr;Rthr nrad;Kiwfspd;NghJ gpupnkd;wfl;Lj; jirfs; RUq;fpj; 

jsu;tij mwpe;jpUg;gPu;fs;.

(i) gpupnkd;wfl;Lj; jirfs; RUq;Ftjd; tpisthf neQ;riwf; FopapDs; Vw;gLk; khw;wq;fs; 

,uz;ilf; Fwpg;gpLf.    (02 Gs;spfs;)

(ii) fhw;Wr; Rthrj;jpd;NghJ rf;jpapd; xU gFjp ntg;gkhf tpLtpf;fg;gLk;. kpFjp ,urhadr; 

rf;jpahfr; Nrkpf;fg;gLk;.

(a) capu; mq;fpapDs; ,urhadr; rf;jp vr;Nru;it tbtpy; Nrkpf;fg;gLfpd;wJ?

      (01 Gs;sp)

(b) fhw;Wr; Rthrj;jpw;fhd rkg;gLj;jg;gl;l ,urhadr; rkd;ghl;il vOJf. (02 Gs;spfs;)

(B) mDNrgr; nrad;Kiwfspd;NghJ cUthFk; Njitaw;w nghUs;fs; clypypUe;J 

ntspNaw;wg;gLjy; foptfw;wy; vdg;gLk;. rpWePufk; foptfw;Wk; mq;fkhFk;. mjd; %yk; rpWePu; 

cw;gj;jpahf;fg;gLfpd;wJ. 

(i) rpWePupy; cs;s fopTg;nghUnshd;iwf; Fwpg;gpLf.       (01 Gs;sp)

(ii) rpWePu; tbfl;lypd;NghJ Kw;whf kPs mfj;JwpQ;rg;gl Ntz;ba $W ahJ?     (01 Gs;sp)           

(iii) rpWePufj;jpy; my;yJ rpWePuftopapy; fy;rpak; xl;rNyw;W Nghd;w cg;Gfs; gspq;fhtjhy; 

Vw;gLk; tpisT ahJ?       (01 Gs;sp)

(iv) ,e;epiyikia ,optsthf;Ftjw;F vLf;ff;$ba eltbf;iffs; ,uz;ilf; Fwpg;gpLf. 

    (02 Gs;spfs;)  

(C) xOq;fw;w jpz;kg; nghUnshd;wpd; jpzpitAk; fdtsitAk; mwpe;Jnfhs;sr; nra;ag;gl;l 

nraw;ghnlhd;wpd; epiyfisf; fPNo fhzyhk;. 

 (ePupd; mlu;j;jp = 1000 kg m-3 > Njq;fhnaz;nzapd; mlu;j;jp = 900kg m-3 > g = 10 m s-2 MFk;.) 

  

  

Njq;fhnaz;nzapy;

nghUis 

mkpo;j;Jtjw;F Kd;

 

epiy I 

nghUs; 

Njq;fhnaz;nzapy;

mkpo;j;jg;gl;;l

gpd; 

epiy II 

ePupDs; nghUis

mkpo;j;Jtjw;F

Kd; 

epiy III 

ePupDs; nghUis 

mkpo;j;jpa

gpd;

epiy IV 

25 cm3 23 cm3

(i) (a)    Nkw; jug;gl;Ls;s jfty;fSf;F Vw;g> nghUspd; fdtsitAk; jpzpitAk; jPu;khdpf;ff; 

$ba epiyfis xOq;FKiwapy; Fwpg;gpLf.     (02 Gs;spfs;)

(b) xOq;fw;w nghUspd; mlu;j;jpiaf; fzpf;Ff.   (02 Gs;spfs;)

(ii) II, IV Mfpa epiyfspy; nghUspd; miktplk; NtWgl;bUg;gjw;fhd fhuzk; ahJ?  

  (02 Gs;spfs;)
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(D) ehd;F ,irf;fUtpfs; ,irf;fg;gLk;NghJ Njhd;Wk; miyfspd; tbtq;fs; fPNo jug;gl;Ls;sd.    

   

Neuk;         miy A  

Neuk;         miy B  

Neuk;         miy C  

Neuk;         miy D  

,lg;ngau;r;rp

,lg;ngau;r;rp

,lg;ngau;r;rp

,lg;ngau;r;rp

(i) A, B Mfpa miy tbtq;fis xg;G Nehf;Fk;NghJ fpilf;Fk; xypapd; rpwg;gpay;G ahJ?  

                  (01 Gs;sp)
(ii) Gy;yhq;Foypy; 'r" ];tuj;ij ,irf;Fk;NghJ cUthFk; miyapd; Nfhyk; A tbtpy; 

jug;gLk;. NtW ,iof;fUtpapy; mNj ];tuj;ij ,irf;Fk;NghJ fpilf;Fnkd vjpu;ghu;f;fg;gLk; 

miyf; Nfhyk; ahJ?  

             (01 Gs;sp)
(iii) mjp$ba cug;Gila xypaiy vJ? mjid ,dq;fhz;gjw;F cjtpa ngsjpff; fzpak; 

vJ?

                (02 Gs;spfs;)
           (nkhj;jk; 20 Gs;spfs;)

09. (A) nrg;Gry;Ngw;W cg;gpd; ePu;f;fiuriy kpd;gFg;Gr; nra;tjw;fhf jahu;nra;ag;gl;l mikg;igf; fPNo 

cUtpy; fhzyhk;.

 

+ -

         X  kpd;tha; Y  kpd;tha; 

 
CuSO

4

 

ePu;f; fiury; 
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(i) X,Y vd;git xNu gjhu;j;jj;jpdhy; nra;ag;gl;l jhf;Fjpwdw;w ,uz;L kpd;tha;fshFk;. 

,k;kpd;tha;fshfg; gad;gLj;Jtjw;Fg; nghUj;jkhd gjhu;j;jnkhd;iwf; Fwpg;gpLf.  

                   (01 Gs;sp) 

(ii) nrg;Gry;Ngw;W ePu;f;fiurypy; cs;s mad; tiffspd; #j;jpuq;fis vOJf. 

     (02 Gs;spfs;)

(iii) Y kpd;thapw;F mUfpy; eilngWk; miuj;jhf;fj;jpw;fhd rkg;gLj;jg;gl;l ,urhadr; 

rkd;ghl;il vOjp> mj;jhf;fk; xl;rpNaw;wkh? jho;j;jyh? vdf; Fwpg;gpLf.

        (02 Gs;spfs;) 

(iv) Nkw;Fwpj;j mikg;gpy; mNdhl;ilf; Fwpg;gpLf.       (01 Gs;sp) 

(v) ,k;kpd;gFg;Gr; nrad;Kiwapd;NghJ ngwg;gLk; ,uz;L mtjhdpg;Gfis vOJf.

     (02 Gs;spfs;)

(vi) kpd;gFg;Gr; nrad;Kiw ifj;njhopy; uPjpapy; gad;gLj;jg;gLk; ,uz;L re;ju;g;gq;fisf; 

Fwpg;gpLf.

     (02 Gs;spfs;) 

 

 (B) XLk; eP&w;Wf;Ff; FWf;fhf ePu;j;jhq;fpnahd;W mikf;fg;gl;L ePu; Njf;fp itf;fg;gl;Ls;sJ. 

me;ePiuf; nfhz;L ePu;r;Roypiar; Royr; nra;J kpd;Dw;gj;jp nra;tjw;Fj; jpl;lkplg;gl;Ls;sJ. 

Kw;whf ePupdhy; epug;gg;gl;l jhq;fpapYs;s ePupd; jpzpT 6000 kg MFk;. jhq;fpahdJ ePu;r;Royp 

mike;Js;s kl;lj;jpypUe;J 10 m cauj;jpy; cs;sJ. (g = 10 ms-2)

(i) jhq;fpapy; Nrkpf;fg;gl;Ls;s ePupd; <u;g;G mOj;jr; rf;jp vt;tsT? (02 Gs;spfs;)

(ii) kpd;idg; gpwg;gpf;Fk;NghJ jhq;fp Kw;whf ntWikahf 10 epkplq;fs; vLj;jJ. ePupypUe;J 

ePu;r;Roypf;F rf;jp toq;fg;gLk; tPjj;ij epak myFfisg; gad;gLj;jpf; fzpf;Ff. 

 (ePu; tbe;NjhLk;NghJ rf;jpapog;G eilngwtpy;iy vdf; fUJf.)   

    (02 Gs;spfs;)

(iii) ,q;F kpd;gpwg;ghf;fpapypUe;J fpilf;Fk; Nthy;w;wsT 240 V MFk;. ,t;Nthy;w;wsT 

epiykhw;wpiaf; nfhz;L 12 V tiu Fiwf;fg;gl;L ,io kpd;Fkpo;fis xspur;nra;tjw;Fg; 

gad;gLj;jg;gl;lJ.

(a) ,jw;Fg; gad;gLj;jg;gl;l epiykhw;wpapd; tif ahJ?    (01 Gs;sp)

(b) ,io kpd;Fkpopy; 12 V , 2 A vdf; Fwpg;gplg;gl;Ls;sJ. ,t;tpio kpd;Fkpopd; tY 

vt;tsT?  (02 Gs;spfs;)

(iv) ,t;thwhd 5 kpd;Fkpo;fs; ehnshd;wpw;F 5 kzpj;jpahyk; tPjk; xspu;e;jd vdpd;> 10 ehl;fspy; 
nrythFk; kpd;dyfpd; ngWkhdj;ijf; fzpf;Ff. 

 (kpd;dynfhd;W xU fpNyhthw;W kzpj;jpahyk; MFk;.)  

     (03 Gs;spfs;)

          (nkhj;jk; 20 Gs;spfs;)

* * *
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 tpQ;Qhd nrad;KiwAld; njhlu;ghd tpdhf;fisj; jahupj;jy;. 

÷ juk; 6-11 tiuapyhd fiyj; jpl;lj;ijj; jahupf;Fk;NghJ tpQ;Qhd nrad;Kiwj; (Science Process) 

jpwd;fs; ntspg;gLk; tifapy; nraw;ghLfisj; jpl;lkpLtJ gpujhd tplaq;fspy; xd;whff; fUjg;gl;lJ. 

,jd; %yk; jpwd;fis tsu;j;Jf; nfhs;Sk; khztu;fs; jhk; ,dq;fz;l gpur;rpidfisj; jPu;g;gjw;F 

tpQ;Qhd Kiwiag; (Scientific method) gad;gLj;jg; gof;FtJ ,jd; Nehf;fkhFk;.

÷ guPl;irapd;NghJ Nkw;nfhs;sg;gLk; kjpg;gPl;Lr; nrad;Kiwapy; khztu;fs; tpQ;Qhd nrad;Kiw 

njhlu;ghf vt;tsT J}uk; Nju;r;rpaile;Js;sdu; vd;gij fz;lwptjw;F ,q;F KjyhtJ tpdh 

fl;likg;G tpdhthf toq;fg;gl;Ls;sJ.

÷ tpQ;Qhd nrad;KiwAld; njhlu;ghd tplaq;fs; ,q;F kpfr; RUf;fkhfj; jug;gl;Ls;sd.

^1& ghFgLj;jy; (Classifying) - ,q;F jug;gl;Ls;s jfty;fs;> epfo;Tfs;> gjhu;j;jq;fs; 

kw;Wk; nghUs;fis ahNjDk; xU xOq;F 

Kiwg;gb xOq;FgLj;jy; my;yJ $l;lkhf;Fjy; 

vjpu;ghu;f;fg;gLfpd;wJ.

^2& khjpupfis cUthf;Fjy;

(Creating models)

- jfty;fs;> juTfs; vd;gtw;iwAk; mtw;wpdhy;  

ntspg;gLj;jg;gLgtdtw;iwAk; ntspf;fhl;Ltjw;fhf 

cUtg;glq;fisg; gad;gLj;JtJ vjpu;ghu;f;fg;gLfpd;wJ.

c-k; : tiuG> Kg;gupkhz mikg;Gfs;> ml;ilg;glq;fs; 

ml;ltizfs; (Chart and tables) 

^3& nghJikg;gLj;jy; (Generalising) - fw;w rpwg;ghd tplaq;fs; rpytw;iw xd;W Nru;j;J 

RUf;fkhf fUj;ij ntspg;gLj;Jjy;.

^4& khwpfis ,dq;fhZjy; 

(Identifying variables)

- vitNaDk; gjhu;j;jq;fs;> fhuzpfSld; njhlu;ghd 

nrad;Kiwd;NghJ ntt;NtW epyikfspd; fPo; 

khwhky; fhzg;gLk; my;yJ khw;wkilahJ fhzg;gLk; 

,ay;Gfis (Characteristic,) ,dq;fhzy;.

^5& mDkhdpj;jy; / jPu;khdq;fis 

vLj;jy; (Inferring)

- mtjhdpg;Gfs; njhlu;ghd fhuzq;fis tpsq;fp> 

jPu;khdnkhd;iw vLg;gjw;fhd Mw;wy;. 

^6& juTfis tpsf;Fjy; 

(Interpreting data) 

- juTfs;> jfty;fis gFg;gha;T nra;jy;> 

mtw;Wf;fpilapyhd njhlu;Gfs; ntspg;gLk; tifapy; 

xOq;fikf;ff; $ba Mw;wy;. 

^7& jPu;khdk; vLj;jy; 

(Making Decision)

- fhuzq;fis mbg;gilahff; nfhz;L khw;W 

re;ju;g;gq;fs; njhlu;ghfj; jPu;khdpj;jy;.

^8& gjhu;j;jq;fisf; ifahSjy; 

(Manipulating Materials)

- gad;jU jd;ikAld; jpwd; kpf;f Kiwapy; 

gjhu;j;jq;fisAk; cgfuzq;fisAk; cupa Kiwapy; 

ifahSjy;.  
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^9& mstply; (measuring) - epak kl;lj;jpw;F Vw;g mz;kpj;j msitfisg; 

ngw;Wf; nfhs;Sk; Mw;wy;. 

^10& mtjhdpj;jy; (Observing) - ahNjDk; nghUs; my;yJ epfo;tpd; gz;G uPjpahd 

khw;wq;fis ,dq;fhz;gjw;fhd Mw;wy;. 

^11& vjpu;T $Wjy;  (Predicting) - jw;nghOJ epyikfisf;  fUj;jpw; nfhz;L 

vjpu;fhyj;jpy; eilngwTs;sij vjpu;T $Wjy;. 

^12& juTfisg; gjpT nra;jy; 

(Recording data)

- ahNjDk; gjhu;j;jk; my;yJ epfo;T njhlu;ghd 

juTfisr; Nrfupf;Fk; Mw;wy;. 

^13& kPs; cUthf;fk;/ gpujpahf;fk; 

(Replicating) 

- fw;w nrad;Kiwfs;> xOq;FKiwfis kPz;Lk; 

gad;gLj;Jk; Mw;wy;. 

^14& fzpjr; nra;ifiag; gad;gLj;jy; 

(Using Numbers)

 

- fzpjr; #j;jpuk; my;yJ epakq;fisg; gad;gLj;jp 

mbg;gil mstPLfisf; fzpf;fr; nra;jy;. 

^15& fUJNfhs;fis cUthf;Fjy; 

(Formulating Hypotheses)

- ahNjDk; epfo;T njhlu;ghf fhuzq;fis 

Kd;dpiyg;gLj;jp Gupe;J nfhs;sf;$ba kl;lj;jpw;F 

$w;Wfis Kd;itj;jy;. 

   

 ghlj;jpl;lk; KOtJk; Nkw;gb nrad;Kiwr; re;ju;g;gq;fs; cs;slf;fg;gl;bUg;gJld; ve;jnthU 

myfpYk; mtw;iw kjpg;gPL nra;Jnfhs;s KbAk;. guPl;irfspy; 4 MtJ myfpD}lhf ,e;j kjpg;gPL 

Kd;nkhopag;gl;Ls;sJld; NtW re;ju;g;gq;fspYk; ,tw;iwg; gad;gLj;j KbAk;.
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(34) Science

Structure of question papers 

 

Paper I   -  Time 01 hour.

  This consists of 40 multiple choice questions. The paper is set to comprise 10 
  basic level questions to measure the ability of recall, comprehension and application, 

18 middle level questions, 6 higher order questions and 6 questions to measure the 
  ability of analysis, synthesis and evaluation. Each question carries 02 marks and 

the total marks for the paper is 80.   

Paper II   -  Time 03 hours. 
  This consists of two parts A and B. 

 Part A  
  This consists of 4 structured essay questions and the candidates have to  answer all 

the questions in the question paper itself. These four questions cover the respective 
competencies as stated below and the questions are prepared so that at least 25% of 
the marks allocated for each question is related to practical activities.   
Question 01  :   * Process of science and competency 4 
Question 02  :  Competency 1 
Question 03  : Competency 2 
Question 04  :  Competency 3
Each question is worth of 15 marks adding up to a total of 60.  

Part B 
This comprises 5 semi-structured questions of which 3 should be answered. Each 
question carries 20 marks, so the total marks allocated is 60. The five questions cover 
the competencies as elaborated below.  
Question 05  :  Competency 1
Question 06  :  Competency 2
Question 07  :  Competency 3
Question 08  :  Competencies 1 and 3  
Question 09  :  Competencies 2 and 3  
Each question is worth of 20 marks adding up to a total of 60.  

Calculation of the final mark : Paper I      =   80  
  Paper II      = 120  
  Final mark =  200 ÷ 2   =  100

* Facts related to the process in science are presented in gist in pages 123

Structure of the question paper
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(34) Science 
Paper I 

Please note (

* Answer all the questions. 

*  Select the correct or the most suitable answer. (A multiple choice answer sheet will be provided to 
mark the answers at the examination.)

1.   Of the main biomolecules in living matter" those which are considered to contain the element nitrogen (N) 
are" 

 (1) carbohydrates and proteins. (2)   lipids and proteins.  
 (3) proteins and nucleic acids.  (4) nucleic acids and carbohydrates.

2. What is the electronic configuration of  
13  
27

Al ?  

 (1) 2, 8, 3 (2) 2, 8, 4  (3) 2, 8, 17 (4) 2, 8, 8" 9 

3. The image of an object placed in front of a convex mirror is always     

 (1) inverted.     (2) reduced.     
 (3) real.      (4) formed in front of the mirror. 

4. A cause for gastritis would be    

 (1) not taking meals on time.    (2) deterring the need of defecation.   
 (3) drinking water excessively. (4) low fibre content in the food. 

5. Which of the following gives the molecular formulae of ethane, ethene and propane respectively? 

 (1) C
2
H

6
,  C

2
H

4
,  C

3
H

8
  (2) C

2
H

6
, 

 
C

3
H

8
,  C

2
H

4
  (3) C

2
H

4 
,  C

2
H

6
, 

 
C

3
H

8
  (4) C

3
H

8
, 

 
C

2
H

6
,  C

2
H

4

6. In which of the following instances the forces are in equilibrium ?       

 (1) fall of a fruit from a tree  (2) a vehicle running with a constant velocity  
 (3) a ball rolling on a rough horizontal plane   (4) an object moving down a smooth inclined plane

7. The growth of a plant shoot curving towards the light is a,     

 (1) positive geotropic movement. (2) negative geotropic movement. 
 (3) positive phototropic movement.  (4) negative phototropic movement.

8. Information relating to three elements named A, B and C are given below. 

A - used to make transistors and diodes 
B - when heated burns with a blue flame issuing a gas 
C - when heated burns with a bright flame leaving a white powder 
The elements A, B and C respectively are,  

 (1) silicon, sulphur and magnesium.  (2) boron, sodium and sulphur.  
 (3) sodium, boron and magnesium.  (4) silicon, magnesium and sulphur. 

9. The figure shows a transparent kettle filed with water.  At which inside water         
 point the pressure is equal to that at point A ?  

 (1) B    (2) C   
 (3) D    (4) E 
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10. The following diagram shows two types of tissues in muscle.  

  A B 
   A and B respectively are,  

 (1) smooth muscles and cardiac muscles.      
 (2) smooth muscles and a striated muscles. 
 (3) cardiac muscles and a smooth muscles.  
 (4) cardiac muscles and a striated muscles. 

11. The sulphate of the element X is X
2
SO

4
. The formula of calcium chlorate is Ca(ClO

3
)

2
. The formula of the 

chlorate of X is,  

 (1) XClO
3  

 (2) X
2
ClO

3  
 (3) X(ClO

3
)

2
   (4) XClO

12. The device(s) that can be used to obtain a smoothened direct current from an alternate current is/are,         

 (1) a raectifier diode.      (2) a resistor and a capacitor.         
 (3) a capacitor and a rectifier diode.     (4) a resistor and rectifier diode.

13. The epithelium of the respiratory tract performs the protective function by acts like secretion of 
 mucus and removal of foreign particles. The first damage caused to this epithelium due to smoking is, 

 (1) drying of the epithelium due to cease of mucus secretion.
 (2) infection of the epithelium due to destruction of cilia.
 (3) cease of the epithelial activity due to deposition of tar.
 (4) abnormal growth of the cells in the epithelium of the trachea.

•  The following table indicates the observations on testing three solutions P, Q and R with litmus. 
 Answer questions 14 and 15 using the information given. 

Solution  Red litmus Blue litmus 

P
Q
R

Red 
Red

Turns blue 

Turns red
Blue
Blue

14. The solutions P, Q and R respectively are, 

 (1) basic, acidic and neutral.  (2) basic, neutral and acidic.  
 (3) acidic, basic and neutral.   (4) acidic, neutral and basic.  

15. Which of the following is the false statement about the solution P? 

 (1) pH value is less than 7  
 (2) reacts with bases producing a salt  
 (3) reacts with any metal liberating hydrogen    
 (4) reacts with any carbonate to produce carbon dioxide

16. Given below are several types of waves.     
A - mechanical transverse waves    B - mechanical longitudinal waves   C - electromagnetic waves  
Of the above, the waves which can travel through a gaseous medium are, 

 (1) only A and B.  (2) only B  and C.  (3) only A  and C.  (4) all  A, B and C. 
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17. The functions of the epithelial tissues differ according to the place of their occurrence. A place in which 
the epithelial tissues carry out the function of filtration is 

 (1) wall of the Bowman's capsule. (2) wall of the blood capillaries.
 (3) inner lining of the wall of the trachea.    (4) inner lining of the wall of the alimentary canal.

18. Which diagram correctly shows the refraction of a ray entering a denser medium from a rarer 
 medium ? 

>

>

(1)

rarer     rarer     rarer     
rarer     

denser

>

>

(3)

denser

(4)

denser

>

>

(2)

denser

>

>

19. Which option in the following table correctly gives an organelle of a cell and its function ?   

(1)
(2)
(3)
(4)

Organelle  Function 

endoplasmic reticulum 
Golgi body
nucleus
mitochondrion 

controlling life functions 
maintaining water balance
protein synthesis
production of energy 

20. Given below is a table containing experimental information about the electrical conductivity of some 
 substances.

Substance
Conduction of electricity

Solid state Fused state

A No Yes

B No No

C Yes Yes

 Of  A, B and C the ionic compound(s) is/ are, 
 (1) only A.  (2) only B.   (3) only C.  (4) only  A and C. 

21. The diagram indicates the circuit symbol of a transistor. Which of the following          

>

X  

Y

Z 

 correctly indicates the collector terminal and the transistor type?                                                                         

 (1) Z and pnp    (2) Y and pnp 
 (3) Z and npn    (4) Y and npn

22. Given below are some functions of the human brain. 
A - maintaining balance of the body  
B - controlling the rate of the heart beat  
C - controlling responses such as cough and sneezing   
Of these, the functions controlled by the brain stem (medulla oblongata) are,  

 (1) only A and B.    (2) only B and C.  
 (3) only A and C   (4) all A, B and C.  
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23. Four experiments named P, Q, R and S conducted by a group of students are as follows. 
P - heating iron powder with sulphur  
Q - heating potassium permanganate   
R - keeping a clean iron nail immersed in a solution of copper sulphate    
S - mixing a calcium chloride solution with a sodium carbonate solution    
Which of the following answers indicates the types of reactions happening in experiments P, Q, R 
and S ?  

       

     

P Q R S

(1)
(2)
(3)
(4)

combination
single displacement
combination
combination

decomposition
combination
combination
decomposition

single displacement
decomposition
double displacement
double displacement

double displacement
double displacement
single displacement
single displacement

24. Given below is a graphical illustration of a wave motion at a certain moment.   
   

   

Displacement   

Distance

 

p  

r  

q  

s  

 In this wave, the amplitude and wave length are represented respectively by,   

 (1) p  and r.  (2) p and s.  (3) q and r.  (4) q and s.

25. The correct statement  about the sexually transmitted diseases is that the causative agents of them    

 (1) are transmitted only by a sexual relationship.    
 (2) produce symptoms only on sex organs.    
 (3) are transmitted by a sexual relationship or through body fluids. 
 (4) cannot be removed from the body by medicines or immunisation.

26. The following diagram shows a set up of a simple cell. 

  A 

Zinc plate  Copper plate   

Dilute sulphuric acid   

 Which of the following is the true statement about this set up ?  

 (1) Copper plate is the positive terminal and oxidation occurs at it. 
(2) Copper plate is the negative terminal and reduction occurs at it. 

 (3) Zinc plate is the positive terminal and reduction occurs at it. 
(4) Zinc plate is the negative terminal and oxidation occurs at it. 
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27. The frictional force that changes with the variable force acted on a body is called,    

 (1) dynamic frictional force.     
 (2) static frictional force.
 (3) limiting frictional force.  
 (4) static and dynamic frictional force. 

28. Which of the following is not an instance which utilizes gene technology directly ?   

 (1) detection of criminals     
 (2) breeding cattle producing milk with high nutritious value  
 (3) minimizing environmental pollution caused by spillage of mineral oil
 (4) cultivating on a large scale the plant types which do not reproduce sexually 

29. Given below is a set up where  two clean, identical iron nails are kept in contact with two metal strips and 
dipped in a medium of jelly containing potassium ferricyanide and phenolphthalein. 

        

Magnesium metal strip 

A

Copper metal strip  

B

Which of the following is the correct observation about the colours that can be obtained from the above 
settings?  

A  B  

around the iron nail  around the metal strip around the iron nail 
around the metal  

strip

(1)
(2)
(3)
(4)

blue
pink
pink
pink 

pink
no colour change 
no colour change
blue

pink
blue
pink
no colour change

blue
pink
blue
pink 

30. A light, uniform rod AB of length 1m is kept in balance on a       40 cm 60 cm 

12 N X 

BA

Δ
C

      
 knife edge by two forces 12 N and X. The magnitude of the 

force X at this instance is,    

 (1) 6 N.   (2) 8 N.  
 (3) 10 N.   (4) 12 N. 

31. The following are some characteristics belonging to flowering plants.     
A - presence of a fibrous root system    
B - reticulate venation in leaves  
C - presence of a thick cuticle in leaves    
D - unbranched stem 

Of the above, the characteristics that help identify monocotyledonous plants are, 

 (1) only A  and B.    
 (2) only B and C.  
 (3) only C and D.  
 (4) only A and D.  
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32. The mass of a 
12

C  atom is 1.99 × 10 
-23

g and the mass of a Mg atom is 4.03 × 10
-23

g. The relative
 atomic mass of a Mg atom is,  

 (1) 
4.03 × 10

-23

1.99 × 10 
-23     (2) 

4.03 × 10
-23

1.99 × 10 
-23

 

 (3) 
4.03 × 10

-23

1.99 × 10 × 12
-23    (4) 

12 × 4.03 × 10
-23

1.99 × 10
-23

33. In the following circuit, the total current provided by the cells is, 

   

4 Ω

4 Ω

2 Ω

6 V       

 (1) 0.2 A.  (2) 0.6 A.   (3) 1.0 A.  (4) 1.5 A .

34. Consider the following statements.   
A - creating a greater tendency  to give birth to children with genetic disorders
B - all children born having hereditary disorders   
C - possibility of transmitting human genetic disorders to future generations    
Of these, the correct statements that confirm the fact that the marriages among blood relatives is not 
suitable are 

 (1) only A and B.  (2) only B and C.  (3) only A and C.  (4) all  A, B and C.   

35. Which graph indicates the variation of the induced electromotive force of a bicycle dynamo with 
 time ?     

      

time

e.m.f   (1)

time

e.m.f   (2)

time

e.m.f   (3)

time

e.m.f   (4)

36. Some unfavourable effects on the environment resulted by environmantal pollution are given below.  
A - global warming   
B - decrease in visibility in air    
C - hindering production of food in plants     

Of these the unfavourable effects brought about by the photochemical smog are, 

 (1) only A  and B.   (2) only A and C. 
 (3) only B and C.    (4) all A, B and C. 
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37. The diagram shows how a freely suspended wire frame is connected to an electrical circuit with a switch. 
Perpendicular to the horizontal arm AB of the frame, a magnetic field is imposed vertically. When the 
switch is closed the arm AB will,         

A 
B  

Y   

X 

     

 (1)   move to X direction.    
 (2) move to Y direction.   
 (3) rotate anticlockwise.     
 (4) rotate clockwise. 

38. Which of the following measures could be considered the best to be adopted at home for waste 
 management ?          

 (1) burning wastes collected at home    
 (2) classifying domestic wastes and disposing 
 (3) refraining from waste producing acts at home  
 (4) using plastic bottles in place of glass bottles 

39. Given below are the relative atomic masses of some elements. 
H = 1 C = 12 O = 16  Mg = 24

 According to the above values which of the following relationships is false ? 

 (1) amount of moles of atoms in 12 g of carbon =  amount of moles of atoms in 24g of magnesium 
   (2) amount of moles of atoms in 24 g of magnesium =  amount of moles of molecules in 18g of water   
 (3) number of atoms in 12g of carbon  =  number of atoms in 24g of magnesium     
 (4) number of atoms in 24 g of magnesium   =  total number of atoms in 18g of water 

40. The diagram shows displacement-time graphs relating to the motion of two objects X and Y. The 
 correct information that can be drawn from these graphs is that,      

 (1) the velocities of the two objects are equal at the          

10

20

30

40 Y X 

Displacement/m 

Time/ s0
6 8 124

  sixth second.    
 (2) the displacements of the two objects are equal after 
  four seconds.
 (3) the distance travelled by the two objects is equal after 
  six seconds.  
 (4) the velocity of the object Y is greater than the velocity of 
  the object X. 

 * * * 
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(34) Science 

Paper II

Please Note :

* Answer all the questions in Part A in this paper itself.

* Answer only Three questions from five questions in Part B. 

Part A

1. (A) The following graph indicates the amounts of energy consumed and supporsed to be consumed in the 
future by a developed country against time.      

               

Energy (1015 J)

0

5

1980 1985 1990 1995 2000 2005 2010 2015 2020 2025

10

15

20

25

30

35

40

45

50
Petrol and mineral oil

Coal 

Natural gas 

Nuclear power     
Solar/ Wind    
Hydropower 

Time (year)

(i) Of the renewable and non renewable energy sources, which type of sources does this developed 
country use more to produce energy ?

 ..................................................................................  (01 mark)

(ii) State one environmental problem caused by the consumption of energy produced by a method 
such as the one you stated in (i) above. 

 .................................................................................................................................................... 
 (01 mark)

(iii) According to the graph, name one source for energy whose consumption would increase rapidly 
in the future.

 ....................................................................................................................................................
   (01 mark)

(v) (a) Name one renewable source of energy given in the above graph which you suggest to use 
on a wider basis in the future in a country like Sri Lanka. 

  ...........................................................................  (01 mark)
 (b) State one problem that would arise when using that source. 

  .............................................................................................................................................
  (01 mark)
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 (B) The following table indicates the amount of carbon dioxide released to the atmosphere due to the 
consumption of fuel by the domestic and commercial fields in Sri Lanka within an year.  

Field Amount of carbon dioxide in Gigagrams (Gg)

01

02

03

04

05

Generation of electricity   

Industries 

Transport  

Domestic and commercial sites    

related 

Cleaning purposes  

3015.34

842.03

5058.19

1195.70

268.25

(i) Which field has contributed most to release carbon dioxide ? 

 .................................................................................. (01 mark)
(ii) Suggest a method that can be implemented to reduce the contribution of the transport for the 

carbon foot print.     

 ....................................................................................................................................................
  (01 mark)

 (C) Figures A and B indicate two models proposed to illustrate how organisational levels in the 
  biosphere and the trophic levels in an eco-system are organised. 

               B 

 

A 

X 

Y 

Community  

(i) What is depicted by the model shown in figure A ?  

   ..................................................................................   (01 mark)

(ii) Name X and Y belonging to the A and B models.  

   X ................................. Y .................................   (02 marks)

(D) (i)  ''The number of a organisms in a population increases with time according to some 
   pattern and becomes a constant.'' Draw the typical growth curve that can be seen in 
   relation to a population. 

      
                          (02 mark)
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 (ii) The growth curve of a human population is indicated below.  

             
N

um
be

r 
of

 p
eo

pl
e 
  

Time   

(a)  What is the reason for the above shape of the human population growth 
 curve ?  

 .............................................................................................................................
  (02 marks)

(b) How does the typical growth curve differ from the human population growth 
curve ? 

 ..............................................................................................................(01 mark)
(Total marks 15)

2. (A) Given below is an experimental set up arranged to investigate the factors essential for 
  photosynthesis using a potted plant kept in the dark for 48 hours. Later, this set up was 

exposed to sunlight for about 5 hours and the leaf in the flask was tested for starch.     

                   

Green leaf  

Potted plant 

leaf subject to 
starch test  

Potassium 
hydroxide 

A 

B

C 

cork

sunlight

(i) Of parts A, B and C, which part/ parts stain(s) blue-black when subject to the iodine test for 
starch ?  

 .....................................................................................................................................................
            (01 mark)

(ii) What factor/ factors essentials for photosynthesis was/ were studied here ?   

   ....................................................................................................................................................

            (01 mark)
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(iii) State a reason for each of the following practices followed in the above experiment. 
(a) keeping the leaf for about two days in the dark 

 ............................................................................................................................................
            (01 mark)

(b) placing potassium hydroxide in the flask

 .............................................................................................................................................
            (01 mark)

 (B) An experiment conducted by a student to examine the action of amylase enzyme on starch is as 
  follows. 

÷ A solution was prepared by adding starch dud amylase to an aqueous medium. Then after the 
times indicated in the table below. A drop of the solution was taken out and examined after add-
ing a drop of iodine solution. The following table gives how the colour of the iodine solution 
changed with time.   

          

Colour  Blue-black Bluish Brownish 
Yellowish 

brown 
Yellowish 

brown 

Time/ min. t
1

t
2

t
3

t
4

t
5

(i) State a reason for each of the above observations made at respective times. 

t
1
  .............................................................................................................................................

t
4 

.............................................................................................................................................
            (02 marks)

(ii) Name a substance that may be present in the mixture after time t
5
.

 ....................................................................................................................................................
  (01 mark)

 (C) (i) Diagrams of some organisms are indicated below.  

  

A B C 

D E
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Write the letter/ letters corresponding to the organism(s) having the following characteristics 
against each. 

(a) Radial symmetry  - .......................................................

(b) Having a vertebral column  -  .......................................................

(c) Presence of an exoskeleton  - ....................................................... 

(d) Presence of jointed appendages  -  .......................................................

(e) Presence of a muscular foot -  .......................................................

(f) Leading a sedentary life  -  .......................................................  (06 marks)

(ii) Name the kingdom to which the above organisms belong. 

 .....................................................................................................................................(01 mark)
(Total marks 15)

3.  Three set ups of apparatus arranged for comparing reaction rates with 50 cm3 of hydrochloric acid 
solutions of concentration 1mol dm-3  in each are given below.  

        
CaCO

3
 chips 5.0 g CaCO

3
 powder 5.0 g 

       
      

       

      

Water bath 
30 °C 

Water bath 
30 °C 

Water bath 
60 °C 

CaCO
3
 powder 5.0 g 

(i) What factor affecting the rate of the above reaction was studied by.  

 (a) the pair X and Y ?    ..................................................... 

(b) the pair Y and Z ?     ..................................................... (02 marks)

(ii) What observation will you use to compare the reaction rates in Y and Z ? 

   ..................................................................................   (01 mark)

(iii) In addition to the two factors stated in (i) (a) and (b) above, write another factor that affects the 
rate of this reaction.   

   ...................................................................................   (01 mark)

(iv) If the set up Z along with Y is used to investigate the effect of the factor stated in (iii) above, 
write two changes that should be made. 

   .....................................................................            ..................................................................   

            (02 marks) 

 (v) During this activity carbon dioxide gas is evolved as a product. Draw the Lewis structure of a 
molecule of that gas.   

 

        (02 marks)
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 (vi) Write the balanced chemical equation for the reaction taking place inside the flask. 

   .................................................................................................................................................... 
            (01 mark)

(vii) If all the calcium carbonate used in set up X was used up for the reaction, what is the amount of 
moles of carbon dioxide produced during the reaction ? 

 (Ca = 40, C = 12, O = 16) 

 ....................................................................................................................................................

  .................................................................................................................................................... 
 (02 marks)

(viii) The energy change (H) of the reaction taking place between calcium carbonate and 
 hydrochloric acid is -61 kJ mol-1.

(a) Is this reaction exothermic or endothermic ? 

 ............................................................................................................................................. 
 (01 mark)

(b)  Give reasons for your answer. 

 ............................................................................................................................................

 ............................................................................................................................................ 
 (01 mark)

(ix) Complete the following energy diagram with regard to the reaction taking place between 
 calcium carbonate and hydrochloric acid.  

         

Energy/ kJ mol-1 

   (02 marks)
(Total marks 15)

4. An inclined plane is used to remove bricks from a storeyed building. A, B and C show three situations of 
a brick so removed.                                      A

5 m

B

C

A  -  The brick at rest on the upper storey 
B -  The brick moving down along the smooth gutter
C  -  The brick at rest on the ground 

(i)  Name the Newton's laws that can be related to each of the following situations. 

(a) To explain about the forces acting on the brick at position A.  

 .................................................................................. (01 mark)

(b) To explain the motion of the brick at position B parallel to the inclined plane.   

 .................................................................................. (01 mark)
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(ii) In the following diagram mark the action and reaction acting on the brick at position C. 

    

   

brick  

board  
                   (02 marks)

(iii) Sketch the displacement-time graph relevant to the movement of the brick along the smooth 
gutter. (Assume that the brick started to move from the state of rest.)  

        (02 marks)

(iv) What is the advantage of sending the bricks down a gutter as is done above ? 

.................................................................................................................................................... 

  (01 mark) 

(v) Of a rough gutter and a smooth gutter, which is more suitable for this task ? What is the reason 
for your answer ? 

Suitable gutter  :  ....................................................

Reason  :  ......................................................................................................................
   (02 marks)

(vi) If the mass of a brick is  2 kg, calculate the potential energy of the brick at position A.
 (g = 10 ms-2)

....................................................................................................................................................

....................................................................................................................................................

....................................................................................................................................................
   (02 marks)
(vii) Write the conversion of energy taking place when the brick moves down the smooth inclined 

plane. 

....................................................................................................................................(01 mark) 
(viii) Calculate the velocity of the brick at the bottom of the inclined plane.  

....................................................................................................................................................

....................................................................................................................................................

....................................................................................................................................................
  (02 marks)
(ix) State the assumption you made for your calculation in part (viii) above. 

....................................................................................................................................(01 mark)
(Total marks 15)

* *
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Part A
05. (A) Given below is a diagram of a jasmin (samanpichcha) plant treated to obtain another plant from  it 

easily. 

  

             
section of the branch buried in soil   

 

  (i) What is the name of the above method of propagating plants ?     (01 mark)

(ii) In order to get a plant successfully, state a change that should be made in the branch of jasmin 
before burying it under soil.  (02 marks)

(iii) Diagrams of three kinds of fruits and seeds that are dispersed by different methods are given 
below. 

 

      A B C

 State with the relevant letter, the method by which each of those fruits or seeds disperse. 

  (03 marks) 

 (B) Given below is an illustration of the menstrual cycle occurring in the reproductive system of a 
  sexually mature female.  

         

A B C
Follicular phase Luteal phase 

(i) In the above figure, which phase comes next to C if no fertilization occurs ?  (01 mark) 

(ii) According to the above figure, during the period between which two letters can a fertilization 
occur ? (01 mark)

(iii) What special event occurs in the ovary in the occasion of B ?  (01 mark)

(iv) What time is spent for a single menstrual cycle taking place from A to C ?  (01 mark)
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w'fmd'i'^id'fm<& úNd.h - 2016 iy bkamiqj meje;afjk úNd. i|yd uQ,dlD;s m%Yak - úoHdj  

B fldgi

05. (A) myiqfjka me<hla ,nd .ekSu i|yd iukamsÉp je,la ilia lr we;s wdldrh my; rEmfha 

±lafõ' 

   

    w;a; mig hg l< ia:dkh   

(i) by; Ydl m%pdrK l%uh y∫kajkafka l=uk kulska o @ ^,l=Kq 01hs&

(ii) idr®:l j me<hla ,nd .ekSu i|yd iukamsÉp w;a; mig hg ls¯ug fmr w;af;ys is≥ l< 

hq;= fjkialula i|yka lrkak' ^,l=Kq 02hs&

(iii) úúO l%u Tiafia jHdma; jk M, yd îc jr®. ;=kl rEm igyka my; oelafõ'
 

            A B C

 by; M, yd îc jr®. jHdma; jk l%uh" w∞< wCIrh iu`. i|yka lrkak' ^,l=Kq 03hs& 

 (B) ,sx.sl jYfhka m˙K; jQ ia;%S m%ckl moaO;shla wdY%s; j is≥ jk wdr®;j pl%fha ksrEmKhla 

my; oelafõ'

         

A B C

iHqksld wjêh Æhqáh,a wjêh 

(i) ixfiapkhla is≥ fkdjqK fyd;a by; igyfka C wjia:dfjka miq j kej; t<fUkafka 

l=uk wjia:dj o@ ^,l=Kq 01hs& 

(ii) ixfiapkhla is≥ úh yelafla by; rEmhg wkqj lskï wlaIr fol w;r;=r ld,fha o@ 

 ^,l=Kq 01hs&

(iii) B wjia:dfõ äïnfldaIh ;=< is≥ jk iqúfYaI is≥ ùu l=ula o@ ^,l=Kq 01hs&

(iv) A wjia:dfõ isg C wjia:dj olajd is≥ jk tla wdr®;j pl%hlg .; jk ld,h 

 fldmuK o@ ^,l=Kq 01hs&
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 (C) The diagram presents a certain event in the gametogenesis of organisms.    
2 n 

n n 

(i) State an importance of this type of a division.  (02 marks)

(ii)  The number of pairs of chromosomes in a somatic cell of a human is indicated as 22 + xx  or  
22 + xy. Of them what are meant by 22 and xx, xy ?     (02 marks)

 (D) The blood pumped from the human heart circulates in two routes, systemic and pulmonary.  

(i) State two differences between the systemic circulation and the pulmonary circulation. 
           (02 marks) 

(ii) Sometimes a blood clot may block a blood vessel in the brain leading to destruction of nerve 
cells. State a complaint resulted by this'         (02 marks)

(iii) When a hormone extract was administered to a child with suppressed height, the height became 
normal. Name this hormone and the gland of a healthy person which produces it.  (02 marks)

(Total marks 20)

06.  (A) The diagram below illustrates several methods used to separate components in mixtures. 

       

carbon 
tetrachloride

salt 
solution  

 
 

  
 

 

P Q R S

A 

B 

X 

Liebig condenser  

water 
containing 
dissolved 

iodine  

filter 
paper   

residue 

(i) Name the methods indicated by P, Q, R and S used to separate components in mixtures.   
 (04 marks)

(ii) State one use of P.  (01 mark)

(iii)  When separating components by method P, the liquids collected in the vessel X separate into 
two layers. State a reason for this separation.  (02 marks)

(iv)   In the method P, from which opening does the water enter the Liebig condenser ? 
 State the reason for it.  (02 marks)

(B) (i)  Of polar and non polar solvents, to which category does the carbon tetrachloride solvent used 
in method Q belong ?  (01 mark) 

(ii)   As regards the solute iodine, what is the advantage of using carbon tetrachloride as the solvent 
in Q ?  (01 mark)

 (C) Two conditions considered essential for an area to locate a saltern are as follows.   
(a) clayey soil 
(b) dry and windy weather throughout the year  

(i)  State for what reason are the above conditions (a) and (b) essential ? (02 marks)

(ii) Salt crystals can aso be obtained by the method R. How does the salt producing method in a 
saltern differ from the method R ?  (01 mark)  
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(iii) The solution used in R was prepared by dissolving 1.0 mol of sodium chloride in 162.0 g of 
water. Calculate the mole fraction of sodium chloride in this solution. (H = 1, O = 16)   
 (03 marks)

 (D) The following diagram illustrates a method used to examine whether the dyes A, B and C are present 
in a food extract.   

   

           food extract  

Solvent 

ABC dyes 

(i) What is the name of this method ? (01 mark)

(ii) According to this result, what dyes of A, B and C could be present in the food sample ? 
  (02 marks)
(iii) Except the identification of dyes in food stuffs, state another use of  the above method.
  (01 mark)

(Total marks 20)

07. (A) The diagram shows a set up of an experiment planned by     

Y 

X 

R

S
(  )

Z 

   
  students. It aims to study how an electric current (I) 
  flowing through a resistor (R) varies with the potential 
  difference (V).
  (i) Name the devices X and Y.  (02 marks)      

  (ii) What is the function of Z ?  (01 mark) 

(iii) After every time a reading is taken, the switch S is opened. What is expected from it ? 

   (01 mark)

(iv) Sketch a graph that indicates the relationship between the readings taken by X and Y.   

 (02 mark)

(v) While the experiment is conducted it is assumed that some physical conditions remain 
 constant. State such a physical condition.  (01 mark)

 (B) The following table indicates the characteristics of the image formed against the object distance 'u' of 
an object placed in front of a lens.   

Situation Object distance (u)/ cm Characteristics of the image 

A 15 virtual, larger than the object, erect 

B 50 real, larger than the object, inverted 

C 70 real, equal to the object in size 

D 90 real, smaller than the object in size 
 

(i) What is the focal length of this lens ?           (02 marks)

(ii) Draw the ray diagram relevant to situation B above.      (03 marks)

(iii) Name an optical instrument that uses situation A.       (01 mark)

(iv) Name the type of the mirror that can be used to obtain the very same characteristics of the 
 images given in the table above.           (01 mark)
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(C) The following diagram shows a piece of equipment made by fixing two thermometers into two holes 
of a glass tube containing water. Leakage of water through the holes is prevented. The water is heated 
by a flame placed under the tube between the two thermometers A and B.   

            

thermometers A 

thermometers B  

water  

(i) According to the observations made, the temperature of B increases considerably. But the 
 increase in the temperature in A is slight. Explain the reason for this observation.  

               (03 marks)

(ii) The temperature in the thermometer  B gradually increases and at a certain moment stays 
steady even though the heat is supplied. State a change that can occur in water on that 

 occasion.             (01 mark)

(iii) A beaker contains 0.2 kg of water. The temperature of it was increased from  30 °C to 
 145 °C. Find the quantity of heat supplied for this from the burner. (Assume no heat is lost to the 
 surroundings). (specific heat capacity of water is 4200 J kg-1 °C-1, thermal capacity of the beaker 
 is 120 J °C-1)             (03 marks)

(Total marks 20)

08. (A) During the process of inhalation and exhalation of humans we know that the muscles in the 
 diaphragm contract and relax. 

(i) Indicate two changes that occur in the thoracic cavity as a result of the contraction of muscles 
in the diaphragm.      (02 marks)

(ii) In aerobic respiration a part of energy is released as heat. The rest is stored as chemical 
 energy.  

(a) As what chemical compound is the chemical energy stored in the bodies of organisms ?
      (01 mark)
(b) Write the balance chemical equation for the aerobic respiration.  (02 marks)

(B) The removal of unwanted products produced during metabolic activities from the body is called 
 excretion. Kidney is an excretory organ and it produces urine.  

(i) Name an excretory product found in urine.    (01 mark)

(ii) What component should be completely reabsorbed during the filtration of urine ? (01 mark)           

(iii) What is the result of crystallisation of salts like calcium oxalate in the kidneys or the urinary 
bladder ?     (01 mark)

(iv) State two measures that can be taken to minimize that situation.  (02
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(C) Four stages of an activity conducted to find the mass and the volume of an irregular solid 
 object are indicated below. (Density of water = 1000 kg m-3, density of coconut oil =  900 kg m-3, 
 g = 10 m s-2 ) 
   

  

    

before immersing the 
object in coconut oil

Stage I  

after immersing the 
object in coconut oil 

Stage II 

before immersing 
the object in water 

Stage III

after immersing the 
object in water 

Stage IV 

25 cm3 23 cm3

(i) (a)    According to the information above, Indicate respectively the stages by which the volume and 
mass of the object can be determinded.   (02 marks)

 (b) calculate the density of the irregular object.    (02 marks)

(ii) What is the reason for the change in position of the object in stage II and stage IV ?  (02 marks)

 (D) The wave types produced during the playing of four musical instruments are given below.    

                

Displacement    

Displacement    

Displacement    

Displacement    

Time      Wave   A    

Time      Wave   B    

Time      Wave   C    

Time      Wave   D    

(i) What characteristic of sound is evident when the wave types A and B are compared ?   
            (01 mark)

(ii) A gives the wave pattern produced when the note 'Sa' (doh) is played by a flute. What wave 
pattern is expected to be produced if the same note is played by another string instrument ? 

     (01 mark)

(iii) What is the wave of highest loudness ? What is the physical quantity that helped identify it ? 
    (02 marks)

(Total marks 20)
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09. (A) The following diagram indicates an arrangement set up to electrolyse an aqueous solution of the salt 
copper sulphate.  

          

X  electrode  Y  electrode  

Aqueous 

solution of 

CuSO
4
 

+ -

(i) X and Y are two inert electrodes made of the same material. Name a material that is suitable to 
be used as those electrodes.   (02 marks) 

(ii) Write the formulae of the ions present in the aqueous solution of copper sulphate. (02 marks)

(iii) Write the balanced chemical equation for the half reaction taking place at Y electrode and
 indicate whether it is an oxidation or reduction.    (02 marks) 

(iv) Name the anode of the above apparatus.     (01 mark) 

(v) Write two observations you can make during this process of electrolysis.  (02 marks)

(vi) State two occasions in which electrolysis is applied industrially. (02 marks)

 (B) Water is stored in a tank made by damming a stream. It has been planned to rotate a turbine with that 
water and produce electricity. The mass of water in the fully filed tank is 6000 kg. The tank is situated 
10 m above the level of he turbine. (g = 10 ms-2)

(i) What is the gravitational potential energy of the water stored in the tank ?  (02 marks)

(ii) During the generation of electricity 10 minutes elapsed to empty the tank completely. Calculate 
in standard units the rate of supply of energy from water to the turbine. (Assume no loss of 

 energy took place during the flow of water.)   (02 marks)

(iii) The voltage produced by that electricity generator is 240 V. It is reduced to 12 V by a
 transformer and used to light filament bulbs.     

(a) What type of a transformer is used for this ?     (01 mark)

(b) It has been marked 12 A, 2 V on a filament bulb. What is the power of that filament 
 bulb ?    (02 marks)

(iv) If 5 such bulbs were lighted 5 hours per day, calculate the number of units of electricity spent 
for 10 days. (A unit of electricity is one kilowatt hour.)   (03 marks)

(Total marks 20)

 

* * *
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Preparing Questions in relation to the process of Science
÷ One of the highlights in designing the grades 6-11 Science curriculum was to plan the activities 

 giving prominence to the skills that are related to the process of science. Thereby it is expected to 

 accustom the students who develop skills to apply the Scientific method to solve problems. 

÷ As regards the evaluation carried out through a written test, the first structured question is designed to 

inquire into how far the students have mastered the process of Science. 

÷ The components circumscribed within the ambit of the science process can be very briefly indicated as 

follows. 

^1& Classifying -  Sequencing or grouping of given information, event, items, 

   materials or objects according to an order 

^2& Creating models  -  Representing pictorially the data and information using graphs, 

charts, tables, three dimensional models etc. 

^3& Generalising  -  Combining several specific facts learnt and presenting them in a 

summarized form. 

^4& Identifying variables  -  Identifying characteristics that remain unchanged (constant) 

   under various conditions in an activity related to substances or 

factors. 

^5& Inferring  -  Arriving at decisions explaining reasons for observations.  

^6& Interpreting data  -  Analysing data and information and organizing them to 

   highlight the relationships among them  

^7& Decision Making  -  Selection of the best out of several alternatives based on 

   reasoning

^8& Manipulating Materials  -  Handling materials and equipment effectively and skillfully 

^9& measuring  -  Taking quantitative measurements in accordance with a 

   standard.  

^10& Observing  -  Identifying qualitative differences associated with a given 

   object or an event.  

^11& Predicting  -  Forecasting about the future having taken the prevailing 

   conditions into consideration 

^12& Recording data  -  Collecting data related to an entity or an event.

^13&  Replicating  -  Reusing or reproducing the process or the sequence once 

learned. 

^14& Mathematical Operation  -  Making calculations using basic quantities applying 

   mathematical formulae and laws.  

^15& Formulating Hypotheses -  Making a statement that can be studied about an event based on 

reason.  

 The stages of the above process are spread throughout the syllabus and they can be tested by any unit. In 

spite of the fact that this evaluation is suggested under unit 4 for the examination, it can be used in any other 

occasion also.  
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